_SERVICE MANUAL

- Isolette®

| Infant Incubator
From Hill-Rom Air-Shields

Product No. C2000

For Parts or Technical Assistance
USA (800) 445-3720 Canada (800) 267-2337
International: Contact your distributor.

man223rf






Isolette® Infant Incubator
Service Manual

Revisions

Revision Letter Pages Affected Date

| Original Issue March, 1998
A 1 November, 1998

B vii, 1-4,2-7, 2-8A, 2-8D, | February, 1999
2-12, 2-19, 4-4, 4-5, 4-8 and
4-12

C 2-2,2-8,2-8B, 2-8C, 5-1, | May, 1999
5-2, 6-30 through 6-34,
6-36, 6-38, 6-40 through
6-42, 6-44 through 6-46,
6-70, 6-71, 6-74 through
6-77, 6-97A, 6-97B, 7-3

4-6,4-7, 6-2, 6-51 November, 1999

E Cover, Warranty, A, B, ii March, 2000
through vi, viii through x,
1-3, 2-9, 2-11, 3-2, 3-5, 3-7
through 3-9, 3-13, 3-14,
3-16, 3-30, 4-3, 5-4 through
5-18, 6-1, 6-4 through 6-6,
6-52 through 6-55, 6-55A
through 6-55D, 6-56, 6-57,
6-57A through 6-57F, 6-58,
6-59, 7-4 through 7-24

F All May, 2001

v

man223rf

Isoiette_@ Infant Incubator Service Manual (man223rf) _ Page i



Revisions

© 2001 by Hill-Rom Services, Inc. ALL RIGHTS RESERVED.

No part of this text shall be reproduced or transmitted in any form or by any
means, electronic or mechanical, including photocopying, recording, or by any
information or retrieval system without written permission from

Hill-Rom Services, Inc. (Hill-Rom).

Seventh Edition

First Printing 1998

Printed in the USA

Air-Shields® is a registered trademark of Hill-Rom Services, Inc.
Critter Covers® is a registered trademark of Hill-Rom Services, Inc.
Hill-Rom Air-Shields™ is a trademark of Hill-Rom Services, Inc.
Hill-Rom® is a registered trademark of Hill-Rom Services, Inc.
Iéolette@ is a registered trademark of Hill-Rom Services, Inc.
Kleenaseptic® is a registered trademark of Metrex Research Corporation.
Loctite® is a registered trademark of Loctite Corporation.
Motorola® is a registered trademark of Motorola, Inc.

Oilite® is a registered trademark of Beemer Precision, Incorporated.

Teflon® is a registered trademark of E. I. du Pont and de Nemours and
Company.

Velcro® is a registered trademark of Velero Industries, BV (a Dutch
“corporation),

The information contained in this manual is subject to change without notice.
Hill-Rom makes no commitment to update or keep current, the information
contained in this manual.

The only product warranty intended by Hill-Rom is the express, writien
warranty accompanying the bill of sale to the original purchaser. Hill-Rom
makes no other warranty, express or implied, and in particular, makes no
warranty of merchantability or fitness for a particular purpose.

Page ii ' Isolette® Infant Incubator Service Manual (man223rf)



Revisions

Additional copies of this manual can be obtained from Hill-Rom.

To order additional copies of this manual, call (800) 445-3720, and place a
parts order for part number man223rf,

Isoletie® Infant Incubator Setvice Manual (man223tf) ' - Pageiii



Revisions

NOTES:

Page iv _ ' Isolette® Infant Incubator Service Manual (man223rf)



Table of Contents

Chapter 1: Intreduction

Purpose . .. 1-3
AUIENCE . . .. e e 1-3
Orgamization . . . ...t e e 1-3
Chapter 1: Introduction. . . .. ... vttt 1-3
Chapter 2: Troubleshooting Procedures . . ........................ ... 1-3
Chapter 3: Theory of Operation . .. ........... .0t 1-3
Chapter 4: Removal, Replacement, and Adjustment Procedures. .......... 1-3
Chapter S: Parts List. . ... . . . i i 1-4
Chapter 6: General Procedures. ... ... ... ittt 1-4
Chapter 7: ACCESSOMES . . ..ottt ettt i et e e et 1-4
Typographical Conventions .. ......... ... .. i, 1-5
Technical Definitions .. ....................... e e, 1-6
Introduction. . . ... ... . e e 1-8
VIV EW. . L e 1-8
Operating Precautions. . ........ ...ttt . 1-8
Features.................. U 1-8
Oval Access DOOTS . . ..ot i 1-8
Mattress Tilt Mechanism . ............ ... i, 1-8
Pedestal Stand Assembly ................ P 1-8
Oxygen Control System (Optional) ................ .. ..ovuuon... 1-8
Humidity System (Optional). . . ...t 1-8
Weighing Platform (Optional) ............... .. .ccoiiiinnnnn... 1-9
Specifications .. .. ... .. e 1-10
Physical Description. .. ...t 1-10
Electrical Description . . ...... .. o i 1-11
Oxygen Control Description. .. ...ttt i, 1-12

Isolette® infant Incubator Service Manual (man223rf) Page v



Table of Contents

Regulations, Standards,and Codes. . .......................... P 1-12
Model Identification and Series Changes............. ... iiiiiina.n, 1-13
Safety Tips .. oo e 1-15
Warning and Caution Labels ... .. e e e e e e 1-20
Chapter 2: Troubleshooting Procedures
Getting Started . ... ... ... .. e IO 2-3
Imitial ACHONS . . ..ottt e 2-3
Function Checks . . .. ..o e 2-4
Final Actions. .. ... i 2-14
AlAImS. .. e 2-15
High and Low Air and Skin Temperature Alarms .. ................... 2-15
Alarm MesSages . . ..ottt e e 2-16
System Failure Messages . .........couiuitii i 2-24
DHagnostic MENUS . . ..ottt it e e e e 2-25
Entering the DiagnosticMenus. . . . ............... ..., 2-25
Diagnostic InformationMenu. ......... ... ..o i 2-27
SystemTestMenu .......... ... ittt 2-28
Key Check Display . . ..... oot e e 2-31
DataSummary Menu .. ... ... .. e 2-32
Variable Height Adjustable Pedestal/Stand Will Not Move Up or Down . . .. .. 2-34
Low Set Temperature Alarm Activated ............ ... .. ... ... ....... 2-36
Oxygen Concentrationis Low . ...... ... ... ... 2-38
Oxygen Concentrationis High .. ..... ... ... .. .. ... .. .. ... ..... 2-41
Chapter 3: Theory of Operation |
Controller Assembly. . ... i 3-3
Variable Height Adjustable Pedestal/Stand Assembly. ..................... 3-7
Hood/Shell Assembly ...... ... ... i i 3-8
Theoryof Operation . ... ... .. i i it 3-12
Electrical System . .. ... ... i e 3-12
SensorModule ... ... 3-12
Controller ... ... i e 3-16

Page vi Isolette® Infant Incubator Service Manual (man223rf}



Table of Contenis

Impeller Movement Detector IMD)P.C.Board ................... 3-17

Fan MOtOT . . . ... 3-18

Heater Power. .. ... oo 3-18
Humidity Heater Power . ......... ... ...ttt 3-18

AL SYSIEIM .t 3-22
Overall Functional Description. . . ........................c..... 3-22
AirMode. .. ... 3-24
SkinMode. .. ... e 3-24
OxygenControl. . ... ... o 3-25
Humidity Control Valve ... ...... .. . ... ... .. 3-25
Hardware. . . ... 3-25
WeighingMode ........ .. i 3-25
TrendDisplays . ... .. i 3-26
Interface Connections . ... ... ..ottt 3-26
RS-232 Serial Port Protocol . . ..., 3-27

Chapter 4: Removal, Replacement, and Adjustment Procedures

ComtIOller . .\ e 4-3
Removal ... ... o 4-3
Replacement . ....... ... i i e 4-4
SensorModule .. ... i 4-5
Removal . ... 4-5
Replacement . ... ... .. i 4-5
Oxygen Sensor Cell . ... ..ttt e e 4-6
e 4-6
Replacement .. ... ... e 4-7
Air Intake Microfilter . . ... .. .. oo 4-8
Removal ... 4-8
Replacé'inen't' ................................................... 4-8
Check Valve Assembly. . ... e 4-9
Removal ... ... 4-9
Replacement . .. .. ... it i e 4-10

Isoletie® Infant Incubator Service Manual (man223rf) Page vii



Table of Contents

Motor Assembly . . ... ... e 4-11
Removal . ... ... e e 4-11
‘Replacement .. ....... ... ... . i i 4-11
AccessPanel. . ... ... 4-13
Removal .. ... . e 4-13
Replacement . .. ...t i e e 4-13
IisEntry Port Sleeve . .. ... .. . e 4-15
Removal .. ... . 4-15
Replacement . ... ... ... it i e e 4-15
AccessDoorLatch . ..., ... 4-16
Removal . ... o 4-16
Replacement . . ... ... ... . . i 4-16
- Access Door and Access Door PivotHinge ... ...........oovunueo ... 4-17
Removal ... .. e 4-17
Replacement . ... ... i i i e 4-17
| Chapter 5: Parts List
Warmanty . . ... 5-3
Service Parts Ordering . ...... ..o i i i e 5-5
Exchange Policy . .......ooo i 5-7
In-Warranty Exchanges .......... ... .. i, 5-7
Out-of-Warranty Exchanges. . ........... ... .. .. ..o ... 5-7
Recommended Spare Parts . . ..., ... oo i e 5-8
Incubator Hood and Shell Assembly ....... .. .. . 5-10
High Dual Access Hood Assembly with Two Iris Ports ................... 5-14
High Front Access Hood Assembly with Two Access Doors and Two Iris Ports
(“00” Sertes Model Only). .. ..o v e e 5-18
High Front Access Hood Assembly with Two Access Doors and Two Iris Ports
(“01” Series Model Only). .. ..o oot e 5-22
High Dual Access Hood Assembly with One Access Door and One Iris Port (“00” Series
Model Only) . ..ot e e 5-26
High Dual Access Hood Assembly with One Access Door and One Iris Port (“01” Series
Model Only) . ... 5-30

Page viii Isolette® Infant Incubator Service Manual (man223rf)



Table

High Dual Access Hood Assembly with Two Access Doors (“00” Series

of Contenis

Model Only) . ..ot 5-34

High Dual Access Hood Assembly with Two Access Doors (“01” Series

Model Only) . ... ..o 5-38
High Front Access Hood Assembly with Four Access Doors (“00” Series
Model Only) ... ..o e 5-42
High Front Access Hood Assembly with Four Access Doors (“01” Series
ModelOnly) . ... e e 5-46
Access Panel Front Assembly (“00” Series Model Only) .................. 5-50
Access Panel Front Assembly (“01” Series Model Only) ............... . ..5-52
Access Panel Rear Assembly (“00” Series Model Only)................... 5-54
Access Panel Rear Assembly (“01” Series Model Only) . .................. 5-56
Shell Assembly (“00”, “01”, and “02” Series Models Only)................ 5-58
Shell Assembly (“03” Series Model Only).............coirnnennen... 5-62
Top Shell Assembly (“03” Series Model Only) . ..........oiviineenn.... 5-64
Controller Assembly (Model C2C-20nly) .......cooiiiniieiennnnnn.. 5-68
Enclosure Assembly (Model C2C-20nly). .. ......cooviiiinoneannn.. 5-70
Front Panel Assembly (Model C2C-20nly) . .. ..oovveeeneereenennn. .. 5-72
Interface/Power Supply Assembly (Model C2C-20nly)................... 5-74
Sensor Module Assembly . ... ... ... . 5-76
Pedestal Stand Assembly (“00” Series Model Only) . ..................... 5-178
Pedestal Stand Assembly (“01” Series and Higher Models Only)............ 5-82
Variable Height Adjustable Pedestal Stand Assembly............ [ 5-86
Hood/Shell and Pedestal Stand Assembly Attachment . ................... 5-90
Foot Switch Assembly, Front. ... ... ... ... i i, 5-92
Foot Switch Assembly, Rear ........... ..., 5-93
Check Valve Assembly. .. ... . o i 5-94
Scale Assembly. .. ... e 5-96
Sensor Module P.C. Board Assembly—P/N8300570.................... 5-98
Scale P.C. Board Assembly—P/N 8360070.............cvvrnnennnn. 5-102
Impeller Movement Detector P.C. Board Assembly—P/N 83 10370........ 5-106
IV Pole Assembly (Accessory). ......ovvvuiiinninnnnnn.. e 5-108
Isolette® Infant Incubator Service Manual (man223rf) Page ix



Table of Contents

High Monitor Shelf Assembly (Accessory) .........oovviiineninnnn... 5-110
Swivel Drawer Assembly (Accessory)........ovvit .. 5-112
Humidity System (ACCESSOIY) .+ vt vttt it eie e iie e iie e, 5-114
Humidity System (Accessory) (“02” Series ModelOnly) ... .............. 5-118
Evaporator Reservoir Assembly (“02” Series Model Only). . .............. 5-122
Oxygen System (ACCESSOIY ). -« oot e ettt ee e e i e e ee e e iee e e 5-124
Ventilator Tube Support (Accessory). . ...t iiin .. 5-127
Oxygen Tank Bracket (Accessory). .. ... 5-128
Chapter 6: General Procedures

Cleaning .. ..ottt e 6-3
General Cleaning ... ....... ... iunitiinr i 6-3
Steam Cleaning. . ......... ... it i e e 6-4
Cleaning Hard to Clean Spots. . .. ... ovtiin i, 6-4
Disinfecting. . ..o oo 6-4
Using Cleaning AZents. ... .vvuuueiit et iie e e e, 6-4
Skin Temperature Probe . . .. ... . .. 6-4
Access Door Gaskets and Tubing AccessPorts..................... 6-4
Humidity Tray Reservoir .......................... e 6-5
Controller, Shell, and Pedestal Stand . ... ...............cvun.... 6-5

Hood, Sensor Module, and Inner Walls . ... ....oot e oo, 6-5

Heater Radiator and Fan Impeller. .. .............. ... ... ....... 6-7
Mattress Tray, Main Deck, Heater/Impeller Cover, and Mattress Tilt Bars 6 - 7
AirIntake Microfilter . ...... ... ... . . . . . 6-7
Disassembly ....... .. i e 6-7
Assembly ... 6-13
Component Handling ........... ... ... .. ... ciiiiiiioi... e 6-15
P.C.Board. ... ... ... e 6-15
Lubrication Requirements. .............. F 6-16
Preventive Maintenance . . ... ...oviienn i 6-17
Preventive Maintenance Schedule ................................. 6-18
Preventive Maintenance Checklist . ............. ... ... ... ... .... 6-19

Page x ' ~ Isolette® Infant Incubator Service Manual (man223rf)



Table of Contents

Installationand Set-up . ... o e 6 - 20
Unpacking. . . ... 6-20
Assembling . ... ... . 6-20
Setting Up . ..o 6-22

Oxygen Sensor Calibration. .. ...... ...ttt eeeieee s 6-24
Room Air—21% OXygen .. ... oot e 6-24
I00% OXygem . . o vttt e e 6-25

Oxygen Concentration TeSt ... ... ..ottt e, 6-27

Weighing Scale Calibration ............ ... .. ... ..., 6-28

Current Leakage Test ... ... ... . i, 6-29
Set-UD. oo 6-29
Procedure . ... ... it e 6-29

Tool and Supply Requirements. . . ... .....uuununuinn e, 6-30

Chapter 7: Accessories

ACCESSOTIES . . o oottt ettt e e e 7-3

Weighing Scale. . ... 7-4
Installation ........ ... .. i ittt 7-4
Removal ... . 7-5

OXYEED SYSIBIM. . o .ttt 7-6
Installation ........ oo i 7-6
100% Calibration Fixture Installation. .. .............. .. ... ......... 7-9
Rembval ..................................................... 7-10

Humidity System (“00” and “01” Series Models Only). . .................. 7-11
Installation ... ........ .. oiiiiiei i 7-11
Removal ... ... 7-14

Humidity System (“02” Series Model Only) ..................ccc..un... 7-15
Installation ... ... i 7-15
Removal ... ... i 7-18

Isolette® Infant Incubator Service Manual (man223rf) Page xi



Table of Contents

NOTES:

Page xii Isolette® Infant Incubator Service Manual (man223rf)



Chapter 1
Introduction

Chapter Contents
Purpose . . .o e 1-3
Audience. .. ... i-3
Organmization . ... ... o 1-3
Chapter 1: Introduction. . . ...t 1-3
Chapter 2: Troubleshooting Procedures . . ... ..........ovveinnnnnnn.. 1-3
Chapter 3: Theory of Operation .. .............0 e, 1-3
Chapter 4: Removal, Replacement, and Adjustment Procedures. .......... 1-3
Chapter S: Parts LISt . . ... .ot 1-4
Chapter 6: General Procedures. ........... ... .. ... ... ..o, 1-4
Chapter 7: ACCESSOTIES . . ... cutvtt ettt 1-4
Typographical Conventions .. ...............iiir e, 1-5
Technical Definitions .. ... ...t 1-6
INtroduction. ... ... 1-8
OV VIEW. L i e 1-8
Operating Precautions. . . ... ... ...ttt i 1-8
Features. . .. ... i-8
Oval Access DOOTS . ..o i e 1-8
Mattress Tilt Mechanism . ................ ... ..iiuiiiennnn.... 1-8
Pedestal Stand Assembly ........ ... ... .. ... .. 1-8
Oxygen Control System (Optioﬁal) .............................. 1-8
Humidity System (Optional). . . ...ttt 1-8
Weighing Platform (Optional) .................................. i-9
SPecifiCations . . ... ... i e 1-10

Isolette® Infant Incubator Service Manual (man223rf) : Page 1-1



Chapter 1: Infroduction

Physical Description. ........... .. .. i i 1-10
Electrical Description . . ... 1-11
Oxygen Control Description. . ...........ouiiiiiiiiiiieiaaan. 1-12
Regulations, Standards,and Codes. . ............... ... iviurrnn... 1-12
Model Identification and Series Changes. . ...................cvn.. .. 1-13
Safety TIPS . ..ottt ... 1-15
Wamning and CautionLabels ....... ... ... ... ... ... ... ... 1-20

Page 1-2 ' Isolette® Infant Incubator Service Manual (man223rf)



Purpose
Chapter 1: Introduction

Purpose

This manual provides requirements for the Isolette® Infant Incubator normal
operation and maintenance. It also includes parts lists (in chapter 5) for
ordering replacement components.

Audience

This manual is intended for use by only facility-authorized personnel. Failure
to observe this restriction can result in severe injury to people and serious
damage to equipment.

Organization

This manual contains seven chapters.

Chapter 1: Introduction

In addition to a brief description of this service manual, chapter 1 also provides
a product overview.

Chapter 2: Troubleshooting Procedures

Repair analysis procedures are contained in this chapter. Use these procedures
to gather information, identify the maintenance need, and verify the
effectiveness of the repair.

Chapter 3: Theory of Operation

This chapter describes the application of the mechanical, electrical, and
hydraulic systems employed in this product.

Chapter 4: Removal, Replacement, and Adjustment
Procedures

Chapter 4 contains the detailed maintenance procedures determined necessary
in chapter 2.

Isoletie® Infant Incubator Service Manual (man223rf) : - Page 1-3




Organization

Chapter 1: introduction

Chapter 5: Parts List

This chapter contains the warranty, part-ordering procedure, and illustrated
parts lists.

Chapter 6: General Procedures

Cleaning, preventive maintenance, and other general procedures are described
in this chapter.

‘Chapter 7: Accessories
A list of additional products, that can be used in conjunction with the Isolette®

Infant Incubator, is available in chapter 7. Installation procedures for these
accessories are also included. '

Page 1-4 : Isolette® Infant Incubator Service Manual (man223rf)



Typographical Conventions
Chapter 1: Introduction

m
Typographical Conventions

This manual contains different typefaces and icons designed to improve
readability and increase understanding of its content. Note the folowing
examples:

 Standard text—used for regular information.
* Boldface text—emphasizes a word or phrase.

* NOTE:—sets apart special information or important instruction
clarification.

* The symbol below highlights a WARNING or CAUTION:

Figure 1-1. Warning and Caution

A

—~ A WARNING identifies situations or actions that may affect
patient or user safety. Disregarding a warning could result in
patient or user injury.

~ A CAUTION points out special procedures or precautions that
personnel must follow to avoid equipment damage.

* The symbol below highlights an ELECTRICAL SHOCK HAZARD
WARNING:

Figure 1-2. Electrical Shock Hazard Warning

/A

Isolette® Infant Incubator Service Manual (man223rf) : Page 1-5



Technical Definitions

Chapter 1: Introduction

m
Technical Definitions

This manual contains different technical terms. Note the following definitions:

Incubator temperature—The air temperature at a point 4" (10 cm) above
and centered over the mattress surface.

Conirol temperature—The temperature controller’s set point selected by
the user.

Average incubator temperature—The average of the maximum and
minimum incubator temperatures achieved during temperature
equilibrium. _

Incubator temperature equilibrium—The conditiofi feached when the
average incubator temperature does not vary more than 1°C over a period

of one hour. These measurements are taken at the control temperatures of
90°F (32°C) and 97°F (36°C).

Temperature uniformity—The amount by which the average temperature
of each of four points 4" (10 cm) above the mattress surface differs from
the average incubator temperature at incubator temperature equilibrium.

Temperature rise time—The time required for the incubator temperature-
to rise 20°F (11°C), when the air control temperature is at least 22°F
(12°C) above the ambient termperature.

Temperature overshoot—The amount by which incubator temperature
exceeds average incubator temperature at incubator temperature
equilibrium as a result of an increase in control temperature. Additionally,
the incubator temperature equilibrium shall be restored within 15 min as a
result of an increase in control temperature value.

Temperature correlation: Incubator temperature versus control
temperature—The amount the air temperature indicator at incubator
temperature equilibrinm differs from the control temperature,

Temperature correlation: Temperature indicator versus control
temperature—The amount the air temperature indicator in air mode at
incubator temperature equilibrium differs from the control temperature.

Measurement points—Measurements are taken at five points in a plane
parallel to and 4" (10 cm) above the mattress surface (see figure 1-5 on
page 1-7). One point is 4" (10 cm) above the center of the mattress; the
remaining four points are the centers of four areas formed by lines that
divide both the width and length into two parts.

Page 1-6

Isolette® Infant Incubator Service Manual (man223rf)



Technical Definitions
Chapter 1: Introduction

Figure 1-3. Measurement Points

m223f117

Isolette® Infant Incubator Service Manual (man223rf) Page 1-7



Introduction
Chapter 1: Introduction

m
Introduction

Overview

On the Isolette® Infant Incubator, skin or air temperature control is selected by
a front panel key. Instrumentation includes digital displays for air and skin
temperature, a Trend display of two skin temperatures, air temperature, and
heater power with user-selectable intervals of 2, 4, 8, 12, and 24 hours.
Optional Trend displays of oxygen concentration, weight, and humidity are
also available. A comprehensive visual and audible alarm system is provided.

Operating Precautions

For additional operating precautions for the Isolette® Infant Incubator and its
accessories, refer to the Isolette® Infant Incubator User Manual.

Features
Oval Access Doors
Dual access doors are provided with a quiet latch.

Mattress Tilt Mechanism

A mattress tilt mechanism is provided, and is continuously variable from 0° to
12° from either end.

Pedestal Stand Assembly

The pedestal stand assembly is available in two models: fixed height and
variable height adjustable. .

Oxygen Control System (Optional)

The oxygen control system monitors and controls the oxygen concentration
level within the incubator hood environment.

Humidity System (Optional)

The humidity system monitors and controls the humidity level within the
incubator hood environment.

Page 1-8 Isolette® Infant Incubator Service Manual (man223rf)



Introduction
Chapter 1: Introduction

Weighing Platform (Optional)

A weighing platform located under the mattress measures the weight of the
infant.

Isolette® Infant Incubator Service Manual (man223rf) _ Page 1-9



Specifications
Chapter 1: Introduction

L .~ "~ " ]
Specifications

Physical Description

For Isolette® Infant Incubator physical specifications, see table 1-1 on page 1-

10.
Table 1-1. Physical Specifications
Feature Dimension

Height from floor (fixed pedestal stand 56" £+ 15" (142 cm % 12.7 mm)

model)

Height from floor (variable height 5215" £ 12" to 60" £ 14"

adjustable model) (133.35cm =+ 12.7 mm to
152 cm # 12.7 mm)

Mattress to floor (fixed pedestal stand 3934" £ 15" (100.97 cm +

model) 12,7 mm)

Mattress to floor (variable height 35%" £ 14" 10 431" = 15"

adjustable model) (90.17 cm % 12.7 mm to
110.49 cm = 12.7 mm)

Depth < 23%2" (59.69 cm)

Overall width with tilt knobs <41" (104 cm)

Weight (fixed pedestal stand model . | 1951b (89 kg)

without options or accessories)

Weight (variable height adjustable model | 200 1b (91 kg)
without options or accessories)

IV pole maximum static load 101b (5 kg)

Monitor shelf maximum static load 251b (11 kg)

Mattress tray width 31" (79 cm)

Mattress tray depth 16" (41 cm)

Mattress Trendelenburg/Reverse Continuously variable to 12° +
Trendelenburg tilt 1°

Environmental temperature operating 68°F to 86°F (20°C 1o 30°C)
range

Storage temperature -22°F to 140°F (-6°C to 60°C)

Humidity display accuracy (10% to 90% @ | + 6% RH
68°F to 104°F (20°C to 40°C))

Page 1-10 Isolette® Infant Incubator Service Manual (man223rf)



Specifications

Electrical Description

Chapter 1: Introduction

For Isolette® Infant Incubator electrical specifications, see table 1-2 on page 1-

11.

Table 1-2. Electrical Specifications

Feature

Dimension

Power requirements (100V fixed pedestal
stand model)

100V % 10%, 50/60 Hz, 990 W
maximum

Power requirements (120V fixed pedestal
stand model)

120V £10%, 60 Hz, 1188 W
maximum

Power requirements (220V and 240V fixed
pedestal stand model)

220V or 240V x 10%, 50/60
Hz, 2376 W maximum

Power requirements (100V variable height
adjustable pedestal stand model)

100V % 10%, 50/60 Hz, 990 W
maximuom

Power requirements (120V variable height
adjustable pedestal stand model)

120V = 10%, 60 Hz, 1188 W
maximum

Power requirements (220V and 240V
variable height adjustable pedestal stand
model)

220V or 240V £ 10%, 50/60
Hz, 2376 W maximum

Convenience outlets (100V model)

100V, 100 W maximum

Convenience outlets (120V model)

120V, 300 W maximum

Convenience outlets (220V and 240V

220V or 240V, 500 W

model)

models) maximum
Chassis current leakage (110V and 120V | 300 uA or less
model)

Chassis current leakage (220V and 240V | 500 uA or less

Isolette® Infant Incubator Service Manual (man223rf)

Page 1- 11




Specifications
Chapter 1: infroduction

Oxygen Control Description

For isolette® Infant Incubator oxygen control specifications, see table 1-3 on

page 1-12.
Table 1-3. Oxygen Control Specifications
Feature Dimension
Oxygen display range 18% to 100%
Oxygen display resolution 1% oxygen
Oxygen display accuracy (100% +3%
calibration)
Oxygen display accuracy (21% calibration)| = 5%
Oxygen set resolution 1%

Regulations, Standards, and Codes

- With respect to the International Electrotechnical Commission (IEC) 601-1,
the incubator is Class 1, Type BE.

The mode of operation is continuous operation with short-time loading
(variable height adjustable model only).

Page 1-12 Isolette® Infant Incubator Service Manual (man223rf)



Model Identification and Series Changes
Chapter 1: infroduction

L
Model Identification and Series Changes

For Isolette® Infant Incubator model identification, see table 1-4 on page 1-13.

Table 1-4. Model ldentification

Model/Series Number : Description
C2000 Isolette® Infant Incubator

For Isolette® Infant Incubator hood/shell assembly series identification, see
table 1-5 on page 1-13.

Table 1-5. Series Identification for the Hood/Shell Assembly

Model/Series Number Description

C2HS-1, C2ZHS1-400 Isolette® Infant Incubator hood/shell assembly
with panel slide latches

C2HS01, C2HS-1, Isolette® Infant Incubator hood/shell assembly

C2ZHS-1400 with pawl latches

C2HS-02 Isolette® Infant Incubator hood/shell assembly
with hood lock

C2HS-03 Isolette® Infant Incubator hood/shell assembly
with modification 170

For Isolette® Infant Incubator controller series identification, see table 1-6 on

page 1-13.
Table 1-6. Series Identification for the Controlier
Model/Series Number Description
C2C-2-00 Isolette® Infant Incubator controller

Isolette® Infant Incubator Service Manual (man223rf) " Page 1-13



Model Identification and Series Changes

Chapter 1. Infroduction

For Isolette® Infant Incubator fixed pedestal stand assembly series
identification, see table 1-7 on page 1-14.

Table 1-7. Series Identification for the Fixed Pedestal Stand Assembly

Model/Series Number Description

C2STD1-00 Isolette® Infant Incubator fixed pedestal stand
assembly with upper and lower column extrusion

C2STD1-01 Isolette® Infant Incubator fixed pedestal stand
assembly with upper and lower column weldment

C25TD2-00 Isolette® Infant Incubator fixed pedestal stand

assembly

For Isolette® Infant Incubator variable height adjustable pedestal stand
assembly series identification, see table 1-8 on page 1-14.

Table 1-8. Series ldentification for the
Variable Height Adjustable Stand Assembly

Model/Series Number

Description

C2VHA-1-00

Isolette® Infant Incubator variable height
adjustable pedestal stand assembly

For Isolette® Infant Incubator humidity system serics identification, see table

1-9 on page 1-14.

Table 1-9. Series ldentification for the Humidity System

Model/Series Number Description

C2RH-1-00 Isolette® Infant Incubator humidity system
C2RH-1-01 Isolette® Infant Incubator humidity system
C2RH-2-00 Isolette® Infant Incubator humidity system with

manifold assembly

Page 1- 14.

Isolette® Infant incubator Service Manual (man223rf)



Safety Tips

Chapter 1: Introduction

Safety Tips

A

A

WARNING:

Only facility-authorized personnel should troubleshoot the Isolette®
Infant Incubator. Troubleshooting by unauthorized personnel could
result in personal injury or equipment damage.

WARNING:

To prevent injury or damage to the variable height adjustable pedestal
stand when transporting, employ a person of sufficient strength to
adequately control the incubator.

WARNING:

Do not use the incubator if it fails to function properly. Refer service to
qualified personnel. Failure to do so could result in personal injury or
equipment damage. '

WARNING:

A dirty air intake microfilter may affect oxygen concentrations and/or
cause carbon dioxide build-up. Check the filter on a routine basis and
change at least every 3 months.

WARNING:

The heater radiator can be sufficiently hot to cause burns. Permit the
heater radiator to cool for at least 20 min before attempting this
procedure. '

WARNING:

If the Heater Failed message does not appear and the alarm does not
sound within 5 min, turn off the power switch, and replace the airflow
probe. Failure to do so can result in damage to the incubator.

WARNING:
Follow the product manufacturer’s instructions. Failure to do so could
result in personal injury or equipment damage.

Isolette® Infant Incubator Service Manual {man223rf} ' Page 1-15




Safety Tips

Chapter 1: Infroduction

A WARNING:

A

Make sure that the oxygen supply to the incubator is turned off and that
the incubator is disconnected from the oxygen supply when performing
cleaning procedures. A fire and explosion hazard exists when cleaning
in an oxygen-enriched environment.

WARNING:

A dirty inlet filter may affect oxygen concentration and/or cause carbon
dioxide build-up. Be sure the filter is checked on a routine basis
commensurate with local conditions. Particularly, if the incubator is
used in an unusually dusty environment, more frequent replacements
may be necessary.

WARNING:

The heater can be sufficiently hot to cause burns. Avoid removing or
touching the heater until the unit has been switched off for at least 45
minutes.

WARNING:

Only facility-authorized personnel should perform preventive
maintenance on the Isclette® Infant Incubator. Preventive maintenance
performed by unauthorized personnel could result in personal injury or
equipment damage.

WARNING:
The administration of oxygen may increase the noise level for the baby
within the incubator.

WARNING:

Make sure that the oxygen supply to the incubator is turned off and that
the incubator is disconnected from the oxygen supply when performing
maintenance procedures. A fire and explosion hazard exists when
performing maintenance procedures in an oxygen-enriched
environment.

Page 1-16

Isolette® Infant Incubator Service Manual (man223rf)



Safety Tips
Chapter 1: Introduction

A WARNING:

The incubator must be attached to the pedestal stand using the bolts
provided. Failure to do so could result in the incubator separating from
the pedestal stand if sufficiently tilted, particularly with the hood open.

A WARNING:
To keep the incubator from sliding when parked on an incline, the
pedestal/stand front locking casters must be facing down the incline
and locked.

A WARNING:
Oxygen flow rates cannot be used as an accurate indication of oxygen
concentration in an incubator. Oxygen concentrations must be
continuously monitored with a calibrated oxygen analyzer. Failure to do
so could result in personal injury or equipment damage.

A SHOCK HAZARD:
Make sure that the building power source is compatible with the
electrical specifications shown on the right side of the incubator and the
variable height adjustable pedestal stand. For proper grounding
reliability, connect the power cord only o a properly marked three-wire
hospital-grade or hospital-use receptacle. Do not use extension cords.

A SHOCK HAZARD:
Unplug the unit from its power source. Failure to do so could result in
personal injury or equipment damage.

A SHOCK HAZARD:
Do not expose the unit to excessive moisture. Personal injury or
equipment damage could occur.

A CAUTION:

When using the variable height adjustable pedestal stand, always lower
the incubator to its lowest position prior to transport for optimum
stability.

Isolette® Infant Incubator Service Manual (man223rf) T Page 1-17



Safety Tips

Chapter 1: Introduction

A

A

CAUTION:
When reconnecting the rear panel connectors, make sure the sensor

‘module cable connector is connected to the sensor module connector,

and not the RS-232 connector.

CAUTION:
Replace both oxygen sensor cells at the same time. Fallure to do so
could resuit in equipment damage.

CAUTION:
Do not use harsh cleaners, solvents, or detergents. Equipment damage
could occur.

CAUTION:

Some chemical cleaning agents may be conductive and/or leave a
residue that may permit a build-up of dust or dirt, which may be
conductive. Do not permit cleaning agents to contact electrical
components. Do not spray cleaning solutions onto any of these
surfaces.

CAUTION:

When cleaning the interior of the incubator shell, care must be taken to
prevent liquids from entering the motor shaft opening. Equipment
damage could occur,

CAUTION:
Alcohol can cause crazing of the clear acrylic hood. Do not use alcohol
for cleaning.

CAUTION:

Do not expose the hood assembly to direct radiation from germicidal
lamps. Ultraviolet radiation from these sources can cause cracking of
gaskets, fading of paint, and crazing of the clear acrylic hood.

Page 1-.18

Isolette® Infant Incubator Service Manual (man223if)



Safety Tips
Chapter 1: Introduction

A CAUTION:

Failure to clean the heater radiator and fan impeller could result in
sufficient lint build-up to reduce airflow, which will affect temperature
control and cause high oxygen concentrations.

>

CAUTION:

Before lifting the incubator hood for cleaning, ensure that all mounted
accessories have been removed to prevent possible interference with
the raised hood.

CAUTION:
To prevent component damage, ensure that your hands are clean, and
only handle the P.C. board by its edges.

CAUTION: :
When handling electronic components, wear an antistatic strap. Failure

to do so could result in component damage.

CAUTION:
For shipping and storage, place the removed P.C. board in an antistatic
protective bag. Equipment damage can occur.

> > > B>

CAUTION:
Do not use silicone-based lubricants. Equipment damage could occur.

Isolette® Infant Incubator Service Manual (man223rf) ' Page 1-19



Warning and Caution Labels
Chapter 1: Introduction

Warning and Caution Labels

Figure 1-4. Warning and Caution Labels
. ™

.
OXYGEN CONCENTRATION GUIDE
OXYGEN SUPPLY APPROX. OXYGEN %
3LPM 045
& LPAF 1050
9 LA 4575
12 LPM 5085 IMPORTANT:
15 LPM 5080 INSPECT AIR FILTER
DURING CLEANING
ALLOW OXVGEN CONCENTRATIONS TO STABILIZE REPLACE IF NECESSARY
WARNING:
OXYGEN FLOW RATES CAN NOT BE USED AS AN ACCURATE INDICATION OF &
OXYGEN CONCENTRATIONS 1N AN INGUBATOR. OXYGEN CONCENTRATIONS
MUST BE CONTINUOUSLY MONITORED WITH A GALIBRATED OXYGEN ANALYZER

[N]i-ET 1 %

é WARNING: IMPORTANT:
+ IMPROPER USE OF SUPPLEMENTAL OXYGEN MAY BE ASSOCIATED WITH SERIOUS
SIDE EFFECTS. OXYGEN SHOULD ONLY BE ADMINISTERED BY FROPERLY TRAINED DO NOT APPLY OXYGEN
PERSONNEL UNDER THE DIRECTION OF A QUALIFIED ATTENDING PHYSICIAN. TO INLET t AND INLET 2
» THE OXYGEN CONGENTRATION INSPIRED BY AN INFANT DOES NOT AGCURATELY SIMULTANEQUSLY.

DETERMINE THE PARTIAL PRESSURE OF OXYGEN (p02) 1N THE BLOGD. THE pOZ
SHOULD BE MEASURED BY AN ACCEFTED CLINICAL TECHNIQUE WHEN ADVISED BY
THE ATTENDING PHYSIGIAN.

= FIRE HAZARD - KEEF MATCHES AND OTHER SOURCES OF IGNIRON OUT OF RODI
IN WHICH OXYGEN 15 IN USE. COMBUSTIBLE MATERIALS ARE EASILY IGNITED AND OXJSE;E‘E‘S:SOUEJ f;?,l;;TEH
BUAN WITH GREAT INTENSITY IN OXYGEN ENRICHED AIR. -

=+ USE OF ANESTHETIC AGENTS CAN INTERFERE WITH OXYGEN ANALYZER ACGURACY. Mf‘ﬁ:’ﬁg?ﬂm

DANGER:EXPLOSION HAZARD DO HOT LUSE N
THE PRESENCE OF FLAMMABLE ANESTHETICS

% mriErz
- CAUTION -
MAXIMUM 2 LBS }\ }\

WEIGHT (91 Kg) y

Py - CAUTION - h A 11 ths 11 Ibs
MAXIMUM 5 LBS A (5.0 kg) (5.0 kg)

WEIGHT (2.2 Kg)

J
& ~CAUTION - h T A
MAXIMUM 10 LBS J -

Ve

N

WEIGHT (4.5 Kg) - J

m223f091

Page 1-20 Isolette® Infant Incubator Service Manual (man223rf)




Chapter 2
Troubleshooting Procedures

Chapter Contents

Getting Started . .. .. ... ... e e 2-3
INitial ACHONS . . ottt it et e e e e e 2-3
FunctionChecks . .. ... . . i i 2-4
Final Actions. ... .. .. i i i i e e e 2-14
AlAIIMS. L o e e 2-15
High and Low Air and Skin Temperature Alarms ... .................. 2-15
Alarm Messages . ... .. e e e 2-16
System Failure Messages .. ..... ... ittt 2-24
Diagnostic Memus. ... ...t i e 2-25
Entering the DiagnosticMenus. . ............ ... ... 2-25
Diagnostic Information Menu. ........... ... ... ... ... ... ... 2-27
System Test MenU . .. .ovvtn ittt e it 2-28
Key Check Display. . ...ooviiii ittt 2-31
Data Summary Menu .. ... ... e 2-32
Variable Height Adjustable Pedestal/Stand Will Not Move Upor Down .. .. .. 2-34
Low Set Temperature Alarm Activated . ............ ... ... . covvun.... 2-36
Oxygen Concentration iIs Low . ... .. ... it 2-38
Oxygen Concentrationis High . .. ........ ... ... ... ... . . i ... 2-41

Isolette® Infant Incubator Service Manual (man223rf) Page2-1



Chapter 2: Troubleshoofing Procedures

NOTES:

Page?2-2 Isolette® Infant Incubator Service Manual (man223rf)



Getting Started
Chapter 2: Troubleshooting Procedures

Getting Started

A WARNING:
Only facility-authorized personnel should troubleshoot the Isolette®
Infant Incubator. Troubleshooting by unauthorized personnel could
result in personal injury or equipment damage.

Begin each procedure in this chapter with step 1. Follow the sequence outlined
(each step assumes the previous step has been completed). In each step, the
normal operation of the product can be confirmed by answering Yes or No to
the statement. Your response will lead to another step in the procedure, a repair
analysis procedure (RAP), or a component replacement. If more than one
component is listed, replace them in the given order.

To begin gathering information about the problem, start with Initial Actions.

To isolate or identify a problem and to verify the repair after completing each
_corrective action (replacing or adjusting a part, seating a connector, etc.),
perform the Function Checks.

To verify the repair, perform the Final Actions after the Function Checks.

If troubleshooting procedures do not isolate the problem, call Hill-Rom
Technical Support at (800) 445-3720 for assistance.

m
Initial Actions

To gather information from operators concerning problems with the Isolette®
Infant Incubator, use Initial Actions. Note symptoms or other information
concerning the problem that the operator describes. This information helps
identify the probable cause.

1. Someone who can explain the problem is available.

Yes No
d — Go to “Function Checks” on page 2-4.

2. Ask that person to demonstrate or explain the problem. The problem can be
duplicated.

Yes No
2 — Go to “Function Checks” on page 2-4.

3. The problem is a result of improper operator action.

Isolette® Infant Incubator Service Manual (man223rf) Page 2 -3



Function Checks

Chapter 2: Troubleshooling Procedures

Yes No
d — Go to “Function Checks” on page 2-4.

4. Instruct the operator to refer to the procedures in the Isolette® Infant
Incubator User Manual. To ensure proper operation of the Isolette® Infant
Incubator, perform the “Function Checks” on page 2-4.

Function Checks

A

Before the incubator is first placed into service, and after any disassembly for
cleaning or maintenance, perform Function Checks.

WARNING:
Do not use the incubator if it fails to function as described. Refer service
to qualified personnel.

' SHOCK HAZARD:

Make sure that the building power source is compatible with the
electrical specifications shown on the right side of the incubator and the
variable height adjustable pedestal stand. For proper grounding
reliability, connect the power cord only to a properly marked, three-wire,
hospital-grade or hospital-use receptacle. Do not use extension cords.

WARNING:

To prevent injury or damage to the variable height adjustable pedestal
stand when transporting, employ a person of sufficient strength to
adequately control the incubator.

CAUTION: _
When using the variable height adjustable pedestal stand, always lower
the incubator to its lowest position prior to transport for optimum

- stability.

1. Initial Actions have been performed.

Yes No
{ = Go to “Initial Actions” on page 2-3.

2. Connect the pedestal stand AC power cord, and apply power:

a. Connect the pedestal stand power cord to an AC source.

Page2-4

Isolette® Infant Incubator Service Manual (man223rf)



Function Checks
Chapter 2: Troubleshooting Frocedures

b. Press the Power switch on the pedestal stand.

¢. Press the Power switch on the incubator. When initially turned on, the
unit performs a self-test indicated by the flashing hourglass.

All indicator lamps light, and the audible alarm is pulsed.
Yes No
$ —> If the unit fails the self-test, the alarm sounds, and one or more
of the following messages appear in place of the Trend display
on Display #1: Controller Fail, EEPROM Fail, or Sensor
Module Failure. Refer the unit to service.

3. Check the Power Failure alarm by unplugging the pedestal stand power
cord from its power source. The Power Failure alarm sounds, and the
Power Fail indicator on the controller lights.

Yes No
d — There is no power, and the Power Failure alarm is not activated.
The Power switch is not on. Press the Power switch.

4. Perform the following:

a. Connect the power cord. Make sure the power cord is fully plugged
into the wall stand and incubator receptacles.

b. After the self-test, Display #1 appears. Set the air set temperature to
95°F (35°C). Allow the unit to operate while checking the hood/shell.
5. Check the variable height adjustable pedestal/stand if so equipped.
Turn on the main power switch.

b. Use your foot to press the Up arrow of the variable height adjustable
pedestal stand, front, up/down switch (X) to raise the stand to the
maximum height (see figure 2-1 on page 2-6).

Isolette® Infant Incubator Service Manual (man223rf) Page2-5



* Function Checks
Chapter 2: Troubleshooling Procedures

Figure 2-1. Variable Height Adjustable Pedestal/Stand Up/Down Switch

m223f072

c. -Press and hold the Down arrow of the variable height adjustable
pedestal stand up/down switch (X) to lower the stand to the minimum
height.

d. Repeat using the rear up/down switch (X).

The stand operates smoothly and adjusts to the desired height.
Yes No

! — GowoRAP22.
6. Check the hood (A) operation (see figure 2-2 on page 2-7).
a. Disconnect the weighing scale cable (B) from the sensor module (C).
b. Slowly tilt the hood (A) back until the hood (A) comes to rest.
¢. Close the hood (A).
d. Connect the cables on the sensor module (C).
e. Connect the weighing scale cable (B) on the sensor module (C).

The hood operates correctly.

Yes No
J —> Replace the hood.

Page2-6 . Isolette® Infant Incubator Service Manual (man223rf)



Function Checks
Chapter 2: Troubleshooting Procedures

Figure 2-2. Hood/Shell Assembly Operation

m223f038

Isolette® Infant Incubator Service Manual (man223rf) ' Page2-7 '



Function Checks

Chapter 2: Troubleshooting Procedures

7. For hoods (A) equipped with a self-locking mechanism, perform the
following:

a. Disconnect the weighing scale cable (B) from the sensor module (C).

d.

Slowly tilt the hood (A) back until the hood (A) locks in place.

Release the hood (A) by pulling on and holding the knob (D) located on
the right rear hinge (E) while closing the hood (A).

Connect the weighing scale cable (B) on the sensor module (C).

The self-locking mechanism and knob (D) operate correctly.

Yes

\!

No
— Replace the self-locking mechanism and knob (D).

8. Check the access panel (F).

a.

d.

c.

On a “00” Series hood, slide the blue slide latches, and open the access
panel (F).

On all hoods other than “00” Series, rotate the pawl latches (G), and
open the access panel (F).

Pivot the access panel (F) to the full-open position (hanging straight
down).

Check the rear access panel (F), if so equipped.
Close the access panel (F).

The latches (G) are properly secured to avoid accidental opening of the
panel(s) (F).

Yes

\A

No
— Replace the access panel (F) (refer to procedure 4.7).

9. Check the iris entry ports (H) by rotating the outer ring of the iris port (H).

The iris (H) opens and closes as rotation is continued through 360°.

Yes

2

No
— Replace the iris entry port (H) sleeve (refer to procedure 4.8).

10. Check the access door (1) latches and gaskets.

a.

Yes

\!

b.

Press the door release (J) of each access door (I). The access door (I)
swings open.
No
— Replace the door release (J).

Close the doors (I), and check for proper latching and quietness. The
access door (I) gaskets are placed properly on the inner and outer walls.

.Page 2-8

Isolette® Infant Incubator Service Manual (man223rf)



Function Checks
Chapter 2: Troubleshooting Procedures

Yes No
d — Replace the access door (I) gasket.

11. Check that the inner walls are properly latched. Open the access panel(s)
(F). The front and rear inner walls are properly latched.

Yes No
{ -> Replace the inner wall.

12. Check the mattress (L) elevators. Rotate the right mattress tilt mechanism
knob (K) counterclockwise until it stops. The right end of the mattress (1)
is at a 12° angle.

Yes No
d —> Replace the mattress elevator.

13. Rotate the right mattress tilt mechanism knob (K) clockwise until it stops.
The mattress (L) is level.

Yes No
d — Replace the mattress elevator.

14, Turn the left mattress tilt mechanism knob (K) clockwise. The left end of
the mattress (L) is at a 12° angle.

Yes No
s —> Replace the mattress elevator.

15. Turn the left mattress tilt mechanism knob (K) counterclockwise. The
mattress (L) is level.

Yes No
J — Replace the matiress elevator.
16. Check the mattress tray (M) operation.
Slide out the mattress tray (M) to the fully-extended position.

b. Carefully lean on the mattress tray (M) to make sure it is properly
supported to provide a firm infant platform.

¢. Return the mattress (L), and close the access panel (F).

The mattress tray (M) is a firm platform for an infant.

Yes No
d — Replace the mattress tray (M).

1'7. Check the air intake microfilter (N) (see figure 2-3 on page 2-10).

Isolette® Infant Incubator Service Manual (man223if) Page2-9



Function Checks

Chapter 2: Troubleshooting Procedures

m2238039

A WARNING:
A dirty air intake microfilter may affect oxygen concentrations and/or
cause carbon dioxide build-up. Check the fiiter routinely, and change it
at least every 3 months.

a. Loosen the two thumbscrews (O) on the air intake filter cover (P), and
remove the cover (P).

b, Inspect the microfilter (N).

The microfilter (N) has no visible dirt.
Yes No

{ — Replace the microfilter (N) (refer to procedure 4.4).
18. Check the air/oxygen system.

a. Introduce a carefully measured 9 Ipm of oxygen into the oxygen input
connector (Q).

b. Using a calibrated oxygen analyzer, monitor the levels within the hood
(A).

Page 2 - 10 . Isolette® Infant Incubator Service Manual (man223rf)



Function Checks
Chapter 2: Troubleshooting Procedures

The levels reach the predicted level as indicated on the rear panel (F) of the
mcubator (9 Ipm in equals 50% to 70%) (see figure 2-2 on page 2-7).

Yes No
4 — Goto RAP 2.4.

19. Check the x-ray tray (R). Open the access panel (F), and withdraw the x-
ray tray (R). The x-ray tray (R) operates correctly.

Yes No
d — Replace the x-ray tray (R).

20. If installed, check the sensor module lock (8S).
a. Pull the sensor module lock (S) down.
b. Check that the sensor module (C) slides in and out of the hood (A).
c. Push the sensor module lock (S) up.

When the sensor module lock (S) is in the up position, the sensor module

(C) is locked securely.
Yes No
d —> Replace the sensor module lock (S).

21. Check Air Mode. With all access openings closed, allow the incubator to
warm up to the air set temperature of 95°F (35°C). It takes less than ! hour.

Yes No
l — GotoRAP 2.1.

22. When the Air Temperature display has stabilized, the digital display
remains within 0.5°C of the set temperature for 15 min.

Yes No
! = GotwRAP2.1.
23. Check the air Set Temperature alarm.
a. Open the access panel (F).

b. In approximately 5 min, the alarm indicators activates, the Low Air
Temperature message appears on the Trend display, and an alarm
sounds.

Yes No
d — GotoRAP2.1.

¢. Close the access panel (F).

24, Check Skin Mode.

a. Connect the skin probe to skin connector #1 on the sensor module (C).

Isoletie® Infant Incubator Service Manual (man223rf) : Page 2- 11



Function Checks

Chapter 2: Troubleshooting Procedures

b. Place the skin probe 4" (10 cm) above the center of the mattress.
¢. Set the skin set temperature to 95°F (35°C).
d. When the temperature stabilizes, open the access panel (F).

In approximately 5 min, the alarm indicators activate, the Low Skin
Temperature message appears in place of the Trend display, and the alarm
sounds.

Yes No
d — Goto RAP2.1.

NOTE:

The sensor module is equipped to accept two skin probes. However, when the
second skin probe is connected to the sensor module in Skin Mode, an alarm
sounds, and the message Remove Skin 2 Probe appears. In order to connect
the second skin probe, first select Air Mode, and then the controller displays
the two temperatures.

25.

26.

Check the Connect Skin 1 Probe alarm.
Remove the skin probe #2 from the sensor module (C).
b. Select Skin Mode.

¢. Disconnect the skin probe #1 from the sensor module (C). The alarm
sounds, and the Skin Temperature display goes blank.

d. The message Connect Skin 1 Probe appears.
e. Press the Silence/Reset key. The alarm goes silent for 5 min.

Connect a skin probe. The incubator returns to normal operation.
Yes No

! = GotoRAP2.1.
Check the maximum air temperature.

a. Connect a skin probe to the sensor module (C), and select Skin Mode
and a temperature of greater than 99°F (37°C).

b. Place the skin probe sensor outside the incubator.
c. Allow the incubator to heat.
d. If the Skin Temperature alarm sounds, press the Silence/Reset key.

The incubator’s temperature stays below 103.8°F (39.9°C) as indicated by
the Air Temperature display.

Yes No
d — GotoRAP2.1.

Page 2 - 12

Isolette® Infant Incubator Service Manual (man223rf)



Funetion Checks
Chapter 2: Troubleshooting Procedures

27. Check the weighing system accessory (if applicable).

a. Ensure that the mattress (L) is level, i.e., not in Trendelenburg or
Reverse Trendelenburg (see figure 2-2 on page 2-7).

b. If you desire a pounds/ounces display, refer to “Installation and Set-up”
on page 6-20.

¢. Ifnecessary, remove any objects from the mattress (L) before pressing
the Zero softkey.

d. Select Display 2, and press the Weigh softkey.

e. Press the Zero softkey twice in succession.

The Weight display reads zero, and the Weight Sample bar is searching.

Yes No
$ — GotoRAP2.1.

28. Place a weight of known value (less than 15 1b (7 kg)) on the mattress. The
weight is displayed. When the Weight Sample bar stops searching (bar
filled), a beep sounds and the weight is locked into the Weight display.

Yes No ’
4 — Goto RAP 2.1,

29. Press the Home key to return to Display 2. Press the Weigh softkey. The
display again displays the value of the weight on the mattress (L).

Yes No
d — GotoRAP2.1.

30. Remove the weight from the mattress (L), press the Home softkey, and
check the oxygen system accessory (if applicable).

a. Place a calibrated oxygen analyzer inside the hood (A) at the center of
the mattress (L).

b. On Display 1, press the Oxygen softkey.
¢. Turn on Okygen control.
d. Setthe oxygen setpoint to 45%,

Within 5 minutes, the oxygen analyzer and the Oxygen display reads 45%
+5%.

Yes No
J — The oxygen concentration level is too low. Go to RAP 2.4.

31. Within 5 minutes, the oxygen analyzer and the Oxygen display reads 45%
+5%.

Isolette® Infant Incubator Service Manual (man223rf) Page 2- 13



Final Actions
Chapier 2: Troubleshooting Procedures

Yes No
d —> The oxygen concentration level is too high. Go to RAP 2.5.
32. Check the humidity system accessory (if applicable).

a. Fill the reservoir, and place the probe of a calibrated hygrometer inside
the hood (A) at the center mattress (L).

b. Pre-warm the incubator to 95°F (35°C).
On Display 1, press the Humidity softkey.
~d. Turn on the humidity. Set the humidity setpoint to 50%.

e. Within 30 min to 60 min, the hygrometer and Humidity display reads
50% = 6%. '

Yes No
i3 — GotoRAP2.1.

33. Go to “Final Actions” on page 2-14.

m
Final Actions

1. Complete the required preventive maintenance procedures. See
“Preventive Maintenance Checklist” on page 6-8.

2. Complete all required administrative tasks.

Page 2 - 14 ' Isolette® Infant Incubator Service Manual {man223rf)



Alarms

Chapter 2: Troubleshooting Procedures

e ]

Alarms

High and Low Air and Skin Temperature Alarms

The high and low air or skin temperature alarms are actuated if the skin or air
temperature fluctuates from the set temperature as follows:

» Skin temperature—= 1.0°C
+ Air temperature-—+1.5°C, -2.5°C

NOTE:
The skin temperature limits may also be set to +0.5°C. Refer to “Installation
and Set-up” on page 6-20.

A temperature below the air or skin set temperature is indicated by Low Air
Temperature or Low Skin Temperature in the message center, an audible
alarm, flashing indicators, and a low temperature reading. A temperature above
the air or skin set temperature is indicated by High Air Temperature or High
Skin Temperature in the message center, an audible tone, flashing indicators,
and a high temperature reading,

The high and low air or skin temperature alarms are self-resetting; that is, if the
alarm condition is corrected, the alarm is automatically silenced and the visual
alarm indicators are turned off. The audible portion of the high and low air or
skin temperature alarms can be silenced by pressing the Silence/Reset key; the
activation of other audible and visual alarms are not affected by use of the
15-min audible alarm silence. When the alarm is silenced, the alarm indicators
remain on until the alarm condition is corrected. If the alarm condition is not
corrected within 15 min, the andible alarm is activated.

In addition, if it is desired to change the air or skin set temperature (either high
or low) after the incubator is in operation, the high temperature and low
temperature alarms are automatically silenced for a specific amount of time
after the operator raises or lowers the air or skin set temperature from the
current temperature.

As a general rule, the greater the change from the current incubator
temperature, the longer the alarm remains silent. If the incubator fails to reach
the new set temperature after the specified time, the alarm sounds.

Alternately, before changing the current air or skin set temperature, the
operator may press the Silence/Reset key to place the unit in Procedural
Silence Mode. In Procedural Silence Mode, the low temperature alarm is

Isolette® Infant Incubator Service Manual (man223rf) o Page 2-15




Alarms

Chapter 2: Troubleshooting Procedures

silenced for up to 15 min. Procedural Silence Mode is terminated if a High
Temperature, Airflow, or Probe alarm occurs.

Alarm Messages

The alarm and system prompt messages that replace the Trend Display or the
oxygen and humidity displays during an alarm condition or procedure are

presented in table 2-]1 on page 2-16, table 2-2 on page 2-18, table 2-3 on page
2-20, table 2-4 on page 2-21, table 2-5 on page 2-21, and table 2-6 on page 2-

22

In the event that two or more alarms occur simultaneously, or one after the
other, the messages that describe the alarms will be presented in sequence. A
total of five messages can be posted.

For an explanation of system alarms, refer to table 2-1 on page 2-16.

Table 2-1. System Alarms

Alarm

Description

Power Failure

A flashing alarm indicator appears with a
continuous audible alarm to indicate that primary
power to the incubator fails, or the power cord is
unplugged from its power source. To silence this
alarm for 15 min, press the Silence/Reset key.
Plug the power cord into an appropriate power
source.

Motor Failed

A flashing alarm indicator appears with a
continuous audible alarm to indicate a motor
malfunction. Turn the incubator off, and remove it
from service (refer to procedure 4.6).

EEPROM failed

A flashing alarm indicator appears with a
continuous audible alarm to indicate an internal
malfunction. Turn the incubator off, and remove it
from service.

Heater failure 1 and 2

A flashing alarm indicator appears with a
continuous audible alarm to indicate a heater
malfunction. Turn the incubator off, and remove it
from service.

Controller failure 1
through 14

A flashing alarm indicator appears with a
continuous audible alarm to indicate an internal
malfunction. Turn the incubator off, and remove it
from service (refer to procedure 4.1).

Page 2 - 16

Isolette® Infant Incubator Service Manual (man223rf)



Alarms

Chapter 2: Troubleshooting Procedures

Alarm Description
Key stuck An audible alarm and flashing alarm indicators
appear to indicate a controller key malfunction
(refer to procedure 4.1).
Alr probe failed Air probe malfunction.
Low airflow A flashing alarm indicator appears with a

continuous audible alarm to indicate a lack of air
circulation within the incubator. The fan motor has
failed. Replace the fan motor (refer to procedure
4.6).

Sensor module failure

‘An audible alarm and flashing alarm indicators

appear to indicate that the sensor module
malfunctions or is not connected to the incubator
(refer to procedure 4.2).

Sensor out of position

The sensor module is not in the correct position to
perform calibration or continue operation (refer to
procedure 4.2).

Alarm indicator

A flashing alarm indicator appears with an audible |
alarm to indicate that the incubator has
experienced as alarm condition.

Sensor disconnected

An audible alarm and flashing alarm indicators
appear to indicate that the sensor module has
experienced an communications failure. Turn the
incubator off, and remove it from service (refer to
procedure 4.2).

Isolette® Infant Incubator Service Manual (man223rf) Page2-17




Alarms

Chapter 2: Troubleshooting Procedures

For an explanation of temperature alarms, refer to table 2-2 on page 2-18.

Table 2-2. Temperature Alarms

Alarm

Description

Low air temperature

This message appears with an audible alarm and
flashing alarm indicators to indicate that the
incubator air temperature is 2.5°C below the air set
temperature. To silence this alarm for 15 min,
press the Silence/Reset key. Go to RAP 2.3,

High air temperature

This message appears with an audible alarm and
flashing alarm indicators to indicate that the
incubator air temperature is 1.5°C above the air set
temperature. Additionally, the heater is turned off.
To silence this alarm for 15 min, press the
Silence/Reset key.

-Skin mode disabled

This message appears with an audible alarm and
flashing alarm indicators to indicate that Skin
Mode has been disabled. Activate Skin Mode.

Low skin temperature

This message appears with an audible alarm and
flashing alarm indicators to indicate that the baby’s
skin temperature being monitored by skin
temperature probe #1 is 1°C (or 0.5°C) below the
skin set temperature. To silence this alarm for 15
min, press the Silence/Reset key. Go to RAP 2.3.

High skin temperature
High skin 1 temperature

This message appears with an audible alarm and
flashing alarm indicators to indicate that the baby’s
skin temperature being monitored by skin
ternperature probe #1 is 1°C (or 0.5°C) above the
skin set temperature. To silence this alarm for 15
min, press the Silence/Reset key.

High temperature cut
out

This message appears with an audible alarm and
flashing alarm indicators to indicate that incubator
air temperature has reached approximately
103.1°F (39.5°C) (American and Canadian incuba-
tors only). All other incubators will alarm at
99.5°F (37.5°C) for set temperatures < 99°F
(37°C) and 103.1°F (39.5°C) for set temperatures
> 99°F (37°C).

Page 2 - 18

Isolette® Infant Incubator Service Manual (man223rf)



Alarms
Chapier 2: Troubleshooting Procedures

Alarm Description

Remove skin 2 probe This message appears with an audible alarm and
flashing alarm indicators to indicate that a second
skin probe is connected to the sensor module when
operating in Skin Mode. To connect a second skin
probe, select Air Mode first. To silence this alarm,
remove the skin probe.

This alarm also appears with an audible alarm and
flashing alarm indicators to indicate that a second
skin probe is connected to the sensor module when
in Air Mode and an attempt has been made to enter
Skin Mode. To enter Skin Mode, must remove
Skin Probe #2, and press the Silence/Reset key.

Skin 1 probe fail This message appears with an audible alarm and
flashing alarm indicators to indicate that skin
temperature probe 1 has malfunctioned. To silence
this alarm for 5 min, press the Silence/Reset key.

Skin probe disconnect | This message appears with an audible alarm and
flashing alarm indicators to indicate that skin
temperature probe 1 has been disconnected from .
the sensor module when in Air Mode and an
attempt has been made to enter Skin Mode.

Connect skin 1 probe This message appears with an audible alarm and
flashing alarm indicators to indicate that skin
temperature probe 1 is disconnected from the
sensor module while sw Skin Mode.

Skin Mode disabled This message appears with an audible alarm and
flashing alarm indicators to indicate that Skin
Mode has been disabled. Enable Skin Mode.

Isolette® Infant Incubator Service Manual (man223rf) Page2-19



' Alarms

Chapter 2: Troubleshooting Procedures

For an explanation of oxygen alarms, refer to table 2-3 on page 2-20.

Table 2-3. Oxygen Alarms

Alarm

Description

Low oxygen %

'| This message is displayed along with an audible

alarm and flashing alarm indicators to indicate that
the oxygen concentration within the hood environ-
ment has fallen below the oxygen set point. This
alarm may be silenced for 4 min by pressing the
Silence/Reset key. Go to RAP 2.4.

High oxygen %

This message is displayed along with an audible
alarm and flashing alarm indicators to indicate that
the oxygen concentration within the hood environ-
ment has risen above the oxygen set point. This
alarm may be silenced for 4 min by pressing the
Silence/Reset key. Go to RAP 2.5.

| Oxygen calibration
required

This message is displayed along with an audible
alarm and flashing alarm indicators to indicate that
the oxygen control system requires calibration.
This alarm may be silenced for 5 min by pressing
the Silence/Reset key. Calibrate the oxygen control
system (refer to procedure 6.2).

Oxygen cell different

This message is displayed along with an audible
alarm and flashing alarm indicators to indicate that
the oxygen cell readings differ by greater than 3%.
This condition can often be fixed by calibrating the
OXygen control system (refer to procedure 6.2).

Oxygen solenoid fail

This message informs the user that the oxygen
solenoid has failed.

Page 2 - 20

Isolette® Infant Incubator Service Manual (man223rf)



Alarms
Chapter 2: Troubleshooting Procedures

For an explanation of humidity alarms, refer to table 2-4 on page 2-21.

Table 2-4. Humidity Alarms

Alarm Description

Low humidity This message appears with an audible alarm and
flashing alarm indicator to indicate that the
humidity tray is empty. Silence this alarm for

5 min by pressing the Silence/Reset key. Refill the
TESETVOIr.

Humidity heater failure | This message informs the user that the humidity
system has malfunctioned.

For an explanation of weighing scale alarms, refer to table 2-5 on page 2-21.

Table 2-5. Weighing Scale Alarms

Alarm Description

Too much weight This message appears with an audible alarm and
flashing alarm indicators to indicate that the
weight on the mattress is in excess of 15 1b (7 kg).
When zeroing, this message appears if a weight in
excess of 2 1b (1 kg) or, with software version 2.5
or higher, 7.7 1b (3.5 kg), is on the matiress.
Silence this alarm for 5 min by pressing the
Silence/Reset key. Remove the excess weight,

Scale disconnected This message appears if the cable between the
scale and the sensor module is disconnected.
Connect the cabie between the scale and the sensor
module.

Clear mattress This message appears if extraneous objects are on
the mattress. Remove any extraneous objects from
the mattress.

Isolette® Infant Incubator Service Manual (man223rf) ' Page 2 - 21




Alarms

Chapter 2: Troubleshooting Procedures

For an explanation of system prompt messages, refer to table 2-6 on page 2-22.

Table 2-6. System Prompt Messages

Prompt Message

Description

Power-On Testin

This message indicates that the controller is

Progress performing the power-up test.
21% Cal This message indicates that the oxygen control
' system is performing the 21% calibration
procedure.

100% Cal This message indicates that the oxygen control
system is performing the 100% calibration
procedure.

Cal Pass This message indicates that the oxygen control
system is successfully calibrated.

Cal Fail This message indicates that the oxygen control

system has failed to calibrate. Repeat the
calibration procedure (refer to procedure 6.2). If
the system fails to calibrate a second time, refer it
to qualified service personnel.

Procedural Silence

This message indicates that the 5 min Procedural
Silence is active. During this time, low skin and air
temperature alarms are automatically silenced for
15 min. The Low Oxygen % alarm automatically
silences for 4 min.

Shide Out Sensor This message informs the user to withdraw the
sensor module from the hood.

Slide In Sensor This message informs the user to return the sensor
module inside the hood.

Not Installed This message informs the user that the humidity or

oxygen systems are not activated or installed.
Install the humidity system according to
“Humidity System (“00” and “01” Seriecs Models
Only)” on page 7-11 or “Humidity System (“02”
Series Model Only)” on page 7-15 and/or the '
oxygen system according to “Oxygen System” on
page 7-6.

Page 2 - 22

Isoletie® Infant Incubator Service Manual (man223rf)



Alarms

Chapter 2: Troubleshooling Procedures

For an explanation of Silence/Reset key functions, refer to table 2-7 on page 2-

23.
Table 2-7. Silence/Reset Key Functions
Alarm Silence/Reset Key Function
Low air/skin Silence the alarm for a period of 15 min.
temperature
High air/skin Silence the alarm for a period of 15 min,
temperature
Humidity low Silence the alarm for a period of 15 min.
Power failure Silence the alarm for a period of 15 min.

Skin 1 probe failure

Silence the alarm for a period of 5 min.

Skin probe disconnect

Silence the alarm for a period of 5 min.

High temperature cut
out

Silence the alarm for a period of 5 min.

Oxygen high %

Silence the alarm for a period of 4 min.

Oxygen low %

Silence the alarm for a period of 4 min.

Oxygen calibration Silence the alarm for a period of 4 min.
required

Oxygen cell different Silence the alarm for a period of 4 min,

High temperature cut Resets the alarm (cancels the alarm if the alarm
out condition no longer exists).

Sensor module failure

Resets the alarm (cancels the alarm if the alarm

condition no longer exists).

Power fail

Resets the alarm (cancels the alarm if the alarm

condition no longer exists).

Isolette® Infant Incubator Service Manual (man223rf)

Page 2 - 23




Systern Failure Maessages
Chapter 2: Troubleshoofing Procedures

L ™
System Failure Messages

In the event of a system failure, an appropriate message appears on the
controller screen. The system failure messages, along with their possible
causes, are presented below

Table 2-8. System Failure Messages

Message Cause
| Controller failure 1 | EEPROM circuitry failure
Controller failure 3 | Ambient air probe failure
Controller failure 4 | Controller cooling fan failure

Controller failure 5 | Display test failure

Controller failure 6 | External serial port loop-back test failure

Controller failure 7 | Power supply voltage failure
| Controller failure 8 | RAM test failure

Controller failure 9 | Real time clock failure
Controller failure 10 | Watchdog timer failure

| Controller failure 11 | Relay test failure

Controller failure 13 | Heater circuit failure detected afier all relays are off
for 5 s or currents are above the maximum limits dur-
ing power up

Controller failure 14 | Low heater current detected

Heater failed 1 Heater thermocouple voltage exceeds 240 mV
Heater failed 2 Heater thermocouple wires are open or shorted
Humidity heater Humidity heater draws too much current

failure )

Motor failed With software version 2.06, the fan motor speed

exceeds + 450 rpm. With previous software versions,
the fan motor speed exceeds + 200 rpm

Sensor disconnect Communications failure between sensor module and
controller

Sensor out of posi- | Sensor module not in hood or calibration position

tion
Stuck key Stuck key detected
Check settings Non-volatile memory (NVM) integrity test failure

‘Page 2 -24 _ _ Isolette® Infant Incubator Service Manual (man223rf)



2.1 Diagnostic Menus
Chapter 2: Troubleshooting Procedures

2.1 Diagnostic Menus
To aid in troubleshooting, the Isolette® Infant Incubator has a series of

diagnostic menus. To access the diagnostic menus, refer to “Entering the
Diagnostic Menus™ on page 2-25.

Entering the Diagnostic Menus

1. Enter the set-up menu.

2. Turn off the controller power switch.

3. Press the Silence/Reset key (A) while simultaneously turning on the
controller power switch. The Diagnostic Menu appears (see figure 2-4 on
page 2-25).

Figure 2-4. Diagnostic Menu

OX SYSTEM CONFIGURATION  [r— ool D
Humidity Option YES . |Diag Info ] A
Onygen Option NO
Oxygen Cal Lavel 21% ] v
Skin Temp Alarm Limit 1.0°C =Y 5
Skin Control Mode YES @
Language English
Weight Units Kg
Air Set Temp 35°C
Altitude <10,000 ft (3048 cm)
VuLink NO

[> 87°C

12—

m223f107

4, After viewing the current settings, perform one of the following:

a. To return the menu to the original settings, shown in table 2-9 on page
2-20, press the Hard Default key.

Isolette® Infant Incubator Service Manual (man223rf) Page 2-25



2.1 Diagnostic Menus

Chapter 2: Troubleshooting Procedures

Table 2-9. System Configuration Factory Default Settings

Feature Setting
Temperature control mode Air mode
Alr set temperature 95.0°F (35.0°C)
Skin set temperature 97.7°F (36.5°C)
Humidity control mode OFF
Humidity set value 50% RH
Oxygen control mode OFF
Oxygen calibration level 21%
Temperature units °C
Weight units kg
Trend Air, 2 hours
Language English
Altitude < 10000' (304800 cm)

b. To call up the Diagnostic Information menu, press the Diagnostic
Information key. Go to “Diagnostic Information Menu” on page 2-27.

c. Enter the desired system configuration settings and return to Main
Display 1, press the Silence/Reset key.

Page 2 - 26 Isolette® Infant Incubator Service Manual (man223rf)



2.1 Diagnostic Menus
Chapter 2: Troubleshooting Procedures

Diagnostic Information Menu

Figure 2-5. Diagnostic information Menu

i i DIAGNOSTIC IN FO Systemn Test e

Software Version 0.34 Data Summary

Sensor Module Firmware 1.06 v
<9

Firmware Part Number 2001-0088

ROM Checksum AD298B11 Home

N
Fan Speed 1500 RPM
Total Unit Runtime 000010 Hr
Ambient Temp 1 21.1°C, 70°F
Ambient Temp 2 21.1°C, 70°F
D > 37°C

m223f108

After viewing the current diagnostic information, perform one of the
following:

a. To call up the System Test screen, press the System Test key. Go to
“System Test Menu” on page 2-28.

b. To call up the Data Summary screen, press the Data Summary key.
¢. To return to the Main Operating Display 1, press the Home key.

Isolette® Infant Incubator Service Manual (man223rf) Page 2-27



2.1 Diagnostic Menus

Chapter 2: Troubleshoofing Procedures

System Test Menu

> 37°C

I

Figure 2-6. System Test Menu (1 of 3)

System Test (1 of 3) checkeum | =1 O
0, Monitor Cell Installed System RAM{| ] A
O, Contrat Cell Installed -
Humidity Sensor Installed Display RAM || = V
Scale Connected Home = 5
Skin Probe 1 Connected ﬁ@
Skin Probe 2 Not Connected
Hood Deaor Close
Humidifier CFF
RTC Battery PASS

m2231109

1. After viewing the current system test results, perform one of the following:
a. To check the system checksum, press the Checksum key.
b. To check the system RAM, press the System RAM key.

To check the display RAM, press the Display RAM key.

To call up the System Test screen (2 of 3), press the Display Selection
key. Go to step a.

e oo

e. Toreturn to the Diagnostic menu, press the Home key. Go to “Entering
the Diagnostic Menus” on page 2-25,

Page 2 - 28

Isolette® Infant Incubator Service Manual (man223rf)



2.1 Diagnostic Menus

Chapter 2: Troubleshooting Procedures

Figure 2-7. System Test Menu (2 of 3)

Bt System Test (2 of 3) Key Test ||~ Q
Sensor PCB Connected  OK Display Test | ™ /\
Humidity EPROM OK
Sensor Module Fan OK LED Test ] \/
Sensor Module A/D OK Home — 5
Sensor Module RAM OK @{9
Scale Load Cell OK
Scale A/D OK

Scale Communications OK
|:| > 37°C

IED

m223f110

2. Perform one of the following:

a. To call up the Check Key check display, press the Key Test key. Go to
“Key Check Display” on page 2-31.

a. To light all segments of the display, press the Display Test key.

a. To initiate the LED test, press the LED Test key. All LEDs will light in
succession.

a. To call up the System Test screen (3 of 3), press the Display Selection
key. Go to step a. '

a. Toreturn to the Diagnostic menu, press the Home key. Go to “Entering
the Diagnostic Menus” on page 2-25.

Isolette® Infant Incubator Service Manual (man223r) ' Page 2 - 29



2.1 Diagnostic Menus
Chapter 2: Troubleshooting Procedures

Figure 2-8. System Test Menu (3 of 3)

System Test (3 of 3) Audio Test || =1 Q
Door Close Watchdog /\
Fan Speed 1500 RPM Alr Flow | \/

Home _\l fe)
Long Probe 9.66V @
Short Probe 9.44V
Air Flow Status Good
[|>87°C

m223f111

3. Perform one of the following:
a. To initiate the audio test, press the Audio Test key.
b. To test the watchdog, press the Watchdog key.
¢. To test the airflow, press the Airflow key.

To call up the System Test screen (1 of 3), press the Display Selection
key. Go to step a.

a

Page 2 - 30 Isolette® Infant Incubator Service Manual (man223rf)



2.1 Diagnostic Menus
Chaptar 2: Troubleshooting Procedures

Key Check Display

Figure 2-9. Key Check Display

(X Hold the A Key for 3 sec to exit. 7 O
. oo AN
Sl \/
O O | <9
O
[>87°C
L=

1. Press each key in succession. If the key is functional, the appropriate box
lights.

2. To exit, press the Up arrow key for 3 s.

isolette® Infant Incubator Service Manual {(man223rf) : Page 2 - 31



2.1 Diagnostic Menus
Chapter 2: Troubleshooting Procedures

Data Summary Menu

Figure 2-10. Data Summary Screen (1 of 2)

OK Data Summary (1 of 2) A O
Oxygen 0 | /\
Humidity 254
Weight 0 ] \/
Skin 1 Temp 1560 Home — .
Skin 2 Temp 4062 @
Ambient Ternp 1 3260
Ambient Temp 2 3257
Contral Fan Speed 2470 RPM

[ 37°C

J=

m223f113

1. To return to the Diagnostic menu, press the Home key. Go to “Entering the
Diagnostic Menus” on page 2-25.

2. To call up the Data Summary screen (2 of 2), press the Display Selection
key. Go to step 3.

Page 2 - 32 _ Isolette® Infant Incubator Service Manual (man223rf)



2.1 Diagnostic Menus
Chapter 2: Troubleshooting Procedures

_Figure 2-11. Data Summary Screen (2 of 2)

% Data Summary (2 of 2) - O
Low Air Flow Sensor 1992 7.66V ] A
Short Air Flow Sensar 1796 6.94V ] ; ;

Home N )
AC Current 1 0.360 A @
Heater Thermocouple ~ 2122 3my
0O, Solenoid Voltage 2910 11.25V
D » 37°C

m223f114

3. Toreturn to the Diagnostic menu, press the Home key. Go to “Entering the
Diagnostic Menus™ on page 2-25.

4. To call up the Data Summary screen (1 of 2), press the Display Selection
key. Go to step 1.

Isolette® Infant Incubator Service Manual (man223rf) ' Page 2 - 33



2.2 Variable Height Adjustable Pedestal/Stand Will Not Move Up or Down
Chapter 2: Troubleshooting Procedures

2.2 Variable Height Adjustable Pedestal/Stand Will Not Move Up
or Down

1. Check the variable height adjustable pedestal stand.
a. Turn on the main power switch (A) (see figure 2-1 on page 2-6).

Figure 2-12. Variable Height Adjustable Pedestal/Stand

m223f073

b. Use your foot to press the Up arrow of the up/down switch (B) to raise
the stand to the maximum height.

c. Press and hold the Down arrow of the up/down switch (B) to lower the
stand to the minimum height.

d. Repeat using the rear up/down switch (B).

The variable height adjustable pedestal/stand operates smoothly and
adjusts to the desired height.

Yes No
4 — Go to step 3.

2. Go to “Final Actions” on page 2-14.

3. Inspect the main power switch (A).

Page 2 - 34 Isolette® Infant Incubator Service Manual (man223rf)



2.2 Variable Height Adjustable Pedestal/Stand Will Not Move Up or Down
Chapter 2: Troubleshooting Procedures

The main power switch (A) is ON.
Yes No
d — Turn on the main power switch (A). If this solves the problem,
go to “Final Actions” on page 2-14. Otherwise, go to step 4.

4. Inspect the power cord (C).

The unit is plugged into an appropriate power source.

Yes No
d — Plug the unit into an appropriate power source. If this solves the
problem, go to “Final Actions” on page 2-14. Otherwise, call
Hill-Rom Technical Support at (800) 445-3720 for assistance

5. Call Hill-Rom Technical Support at (800) 445-3720 for assistance.

Isolette® Infant Incubator Service Manual (man223rf) : Page 2 - 35



2.8 Low Set Temperature Alarm Activated

Chapter 2. Troubleshooting Procedures

2.3 Low Set Temperature Alarm Activated

1. Checkall access doors (A) and iris entry ports (B) (see figure 2-13 on page

2-36).

Figure 2-13. Access Doors and iris Entry Ports

All access doors (A) and iris entry ports (B) are closed.
Yes No

m223f043

{ — Close all access doors (A) and iris entry ports (B). If this solves
the problem, go to “Final Actions” on page 2-14., Otherwise, go

to step 2.

2. Check the unit’s mode of operation.

The unit is in Skin Mode.
Yes No

| — Call Hill-Rom Technical Support at (800) 445-3720 for

assistance.

3. Check the skin probe.
The skin probe is properly secured to the infant’s skin.

Page 2 - 36 Isolette® Infant Incubator Service Manual (man223rf)



2.3 Low Set Temperature Alarm Activated
Chapter 2: Troubleshooting Procedures

Yes No
d — Properly secure the skin probe to the infant’s skin. If this solves
the problem, go to “Final Actions” on page 2-14. Otherwise, call
Hill-Rom Technical Support at (800) 445-3720 for assistance.

4. Call Hill-Rom Technical Support at (800) 445-3720 for assistance.

Isolette® Infant incubator Service Manual (man223rf) Page 2 - 37



2.4 Oxygen Concentration is Low
Chapter 2: Troubleshooting Procedures

2.4 Oxygen Concentration is Low

1. The oxygen source is connected to the incubator.
Yes No
\! —> Connect the oxygen to the incubator. If this solves the problem,
go to “Final Actions” on page 2-14. Otherwise, go to step 2.

2. Check all access doors (A) and iris entry ports (B) (see figure 2-14 on page
2-38).

Figure 2-14. Access Doors and Iris Entry Ports

]

2

m223f043

All access doors (A) and iris entry ports (B) are closed.

Yes No
d ~> Close all access doors (A) and iris entry ports (B). If this solves
the problem, go to “Final Actions” on page 2-14. Otherwise, go
to step 3.

3. Check all iris entry poi't (B) sleeves.
All iris entry port (B) sleeves are properly installed.

Page 2 - 38 Isolette® Infant Incubator Service Manual (man223rf)



2.4 Oxygen Concentration is Low
Chapter 2: Troubleshooting Procedures

Yes No
2 —> Properly install the iris entry port (B) sleeve (refer to procedure
4.8). If this solves the problem, go to “Final Actions” on page
2-14. Otherwise, go to step 4.

4. Check the tubing access ports.

The tubing access ports are properly installed.

Yes No
d — Properly install the tubing access ports.

5. Check the filter cover (C) (sec figure 2-15 on page 2-39).

Figure 2-15. Filter and Filter Cover

m223f044

The filter cover (C) is properly secured.

Yes No
{ — Secure the filter cover (C).

6. Check the filter (D).
A filter (D) is installed.

Isolette® Infant Incubator Service Manual (man223rf) Page 2 - 39



2.4 Oxygen Concentration is Low
Chapter 2: Troubleshooting Procedures

Yes No
d — Install a filter (D) (refer to procedure 4.4). If this solves the
problem, go to “Final Actions” on page 2-14. Otherwise, call
Hill-Rom Technical Support at (800) 445-3720 for assistance.

7. Call Hill-Rom Technical Support at (800) 445-3720 for assistance.

Page 2 - 40 Isolette® Infant Incubator Service Manual (man223rf)



System Failure Messages
Chapter 2: Troubleshooting Procedures

2.5 Oxygen Concentration is High

1. Check the air intake microfilter (A) (see figure 2-16 on page 2-41).

Figure 2-16. Air Intake Microfilter and Fan Impeller

m223£045

The air intake microfilter (A) is clean.
Yes No
d — Replace the air intake microfilter (A) (refer to procedure 4.4). If
this solves the problem, go to “Final Actions” on page 2-14.
Otherwise, go to step 2.

2. Check the fan impeller (B).

The fan impeller (B) is clean.
Yes No
d —> Clean the fan impeller (B). If necessary, replace the fan impelier
(B). If this solves the problem, go to “Final Actions” on page
2-14. Otherwise, call Hill-Rom Technical Support at
(800) 445-3720 for assistance.

3. Call Hill-Rom Technical Support at (800) 445-3720 for assistance.

Isolette® Infant Incubator Service Manual (man223rf) _ Page 2 - 41



System Failure Messages
Chapter 2: Troubleshooting Procedures

NOTES:

Page 2 - 42 Isolette® Infant Incubator Service Manual (man223rf)



Chapter 3
Theory of Operation

Chapter Contents

Controller Assembly. ... ... . i 3-3
Variable Height Adjustable Pedestal/Stand Assembly...................... 3-7
Hood/Shell Assembly . . . ... ... .. i 3-8
Theory of Operation . . ... ... ..o i i i 3-12
Electrical System ... ... .. i e e 3-12
SensorModule . ... ... i e 3-12
Controller .. ... ... . e e 3-16
Impeller Movement Detector IMD)P.C.Board .. ................. 3-17

Fan Motor . ... .. e 3-18

Heater Power. ... ... . i i i i i e 3-18
Humidity Heater Power . ..............0.iiuiiiiiniininnnn.. 3-18

F S L (- 1 1 3-22
Overall Functional Description. . . ...........ov i iiienn.... 3-22
AlrMode. ... . e e 3-24
SkinMode. .. ... e 3-24
Oxygen Control. . .. .. ... i i i e e e 3-25
Humidity Control Valve . .. .. ... ... ... ... i, 3-25
Hardware. . .. ...t e e 3-25
WeighingMode . ... ... ... i i i it 3-25

Trend Displays .. ..o e 3-26
Interface Connections. .. ........oiiiiiirin i iinnnnnnn 3-26
RS-232 Serial Port Protocol .. ......... .. .. i i i 3-27

Isoletie® Infant Incubator Service Manual (man223rf) Page 3- 1



Chapter 3: Theory of Operation

NOTES:

Page 3-2 _ Isolette® Infant Incubator Service Manual (man223rf)



Coniroller Assembly

Chapter 3: Theory of Qperation

e T
Controller Assembly

Figure 3-1. Controller Assembly Block Diagram

. Central
Disol. Digplay ; Keypad
1splay driver n pmﬁiﬁmg interface Keypad
Sp02
SpO: | _ Watchdo LED
module .module & ~== interface LEDs
interface
Sensor .
- module ir?;ii'gfe [ A;ll;i;_?ie Speaker
To sensor interface
module
| 0 -
~ _Rs-zfe,z solenoid To oxygen
To RS-232 port interface driver solenoid
POY"er F.an To fan motor
switch driver
Ambient AC o
temper- power To heater
ature drivers ——
Sensors To humidifier
Airflow
Sensor
Power
supply
m223£042
Page 3-3

Isolette® Infant Incubator Service Manual (man223rf)




Controller Assembly
Chapter 3: Theory of Operation

Figure 3-2. Controller Power Supply Schematic Diagram

Refer to fold-out FO 3-1 at the rear of this manual.

Page 3-4 Isolette® Infant Incubator Service Manual {(man223r)



Controller Assembly
Chapter 3: Theory of Operation

Figure 3-3. Interface P.C. Board Schematic Diagram

Refer to fold-out FO 3-2 at the rear of this manual.

Isolette® Infant Incubator Service Manual (man223rf) : Page 3-5



Controller Assembly
Chapter 3: Theory of Operation

Figure 3-4. Central Processing Unit P.C. Board Schematic Diagram

Refer to fold-out FO 3-3 at the rear of this manual.

Page 3-6 _ Isolette® infant Incubator Service Manual (man223rf)



Variable Height Adjustable Pedestal/Stand Assembly
Chapter 3: Theory of Operation

Variable Height Adjustable Pedestal/Stand Assembly

Figure 3-5. Variable Height Adjustable Pedestal/Stand Assembly Wiring Diagram

Front ] Rear
switches 1_#18 whlte/black (17“ (43 cm)) switches
2 #18
Up white/brown Up
o T | i14.5 (86.8 cmizl top |,
(NO) . (NO)
{(green) (greemn)
120/220 (hot feed)
9 #18 Bottom |97 Bottom |9¢
white/brown 22 (NC) 2 22 (NC)
(14.5"'(36.8 cm)) (red) (red}
11 #18
hite/ 4 #18 -
a 7i(§ébéogvnm /| whitdlorange 3_#18 white/red ;
o (14.5'(36.8 cm)) (14.5(86.8 cm)) p
5 #18 #18 white/brown
Down white/yellow Down
(17"'(43 cm))
Top Top
Ul o) |18 #1;4 (NO) |13
(green)
(green) white/ . &
brown
Bottom Bottom
22 (NC) 21 22 (NC) |21
(red) (red)
#18 white/brown
29| 12 (2) #18 white/black #18 orange (motor down)
(  (Dual breaker 15 amp U #18 red (motor up)
21 s 11, Chassis D—pO
safety O—‘EIC
=
Ground Ground NA
green/ HC
11
ACH yerow ) Actuator
brown| | | Clamped Chassis plug
TTAGN T AC cord ground
black

m223£104

Isolette® Infant Incubatpr Service Manual (man223rf) Page 3-7



Hood/Shelf Assembly
Chapter 3: Theory of Operation

L Y
Hood/Shell Assembly '

Figure 3-6. Sensor Module Functional Block Diagram

Refer to fold-out FO 3-4 at the rear of this manual.

Page 3-8 ' Isoleite® Infant Incubator Service Manual (man223rf)



Hood/Shell Assembly
Chapter 3: Theory of Operation

Figure 3-7. Sensor Module P.C. Board Schematic Diagram

Refer to fold-out FO 3-5 at the rear of this manual.

Isolette® Infant Incubator Service Manual (man223rf) _ Page 3-2



Hood/Shelf Assemnbly

Chapter 3: Theory of Operation

Figure 3-8. Scale P.C. Board Schematic Diagram

Refer to fold-out FO 3-6 at the rear of this manual.

FPage 3 - 10 Isolette® Infant Incubator Service Manual (man223rf)



Hood/Shelf Assembly
Chapter 3: Theory of Operation

Figure 3-9. impeller Movement Detector P.C. Board Schematic Diagram

Refer to fold-out FO 3-7 at the rear of this manual.

Isolette® Infant Incubator Service Manual (man223rf) : Page 3- 11



Theory of Operation

Chapter 3: Theory of Operation

L
Theory of Operation

Electrical System

Sensor Module

The sensor module P.C. board provides the interface from the patient and
incubator requirements that the infant incubator must support. The module
reads and processes the following parameters: temperature, oxygen, humidity,
and weight information collected from external sensors and cables. This
mformation is periodically updated and is transmitted to the main controller
upon request.

The sensor module P.C. board does not require manual calibration. Calibration
is performed automatically and periodically during normal operation. To
provide safe monitoring and control, both the temperature information and
oxygen information have redundant circuitry to prevent single-fault failures.

All signals are transmitted through serial data communication.

The sensor module is connected to a sensor P.C. board which has some of the
parameters required for the system: air temperature, oxygen, humidity, and fan
operation.

Power Supply

Power to the sensor module P.C. board is provided through connector J4,
providing +12V AC for use in this system. Voltages are regulated by U21, U19
and U135, providing +5V, digital +5V and analog -5V, respectively. U20
provides a precision +5V source to be used in analog signal conversions.

Sensor Position Detection

Hall effect sensors are used to sense magnets in the slide mechanism. The
sensors U9 and U12 are used to determine the calibration position. Sensors
U16 and U22 are used to determine the hood position during normal operation.
The output is normally high. These devices provide a low output if a significant
south pole magnetic field is applied to their surface.

'Remote Light Alarm Indicator

DS1 provides an alarm indication with a high field of view and is illuminated
by a positive signal (RMLITE) at the gate of transistor Q3.

Page 3- 12

Isolette® Infant Incubator Service Manual (man223rf)



Theory of Operation
Chapter 3: Theory of Operation

Scale Interface

Connector J3 provides the interface and power for the scale module. The scale
module supports serial data communication. The signal SCCLK is used for
scale communication only and is normally high when the scale is disconnected.
The signal CDATA is bi-directional and is normally in the low state when the
scale is not connected.

Fan Control/Feedback Circuit

To drive the DC fan on the sensor board, Q1 is pulsed on its gate by signal
FANON at a 50% duty cycle at approximately 48 Hz to maintain proper speed
and to increase fan life. Every 4 seconds the microcontroller asserts FANON
for 42 msec, and the fan pulse detection begins.

The pulse detection is handled by U1A, which through resistors R3 and R7
sample the current spikes from the fan produced across R1. The amplifier
operates as a differentiator, providing high gain for the current spikes. This
signal is then rectified and filtered by D1 and C16 and then fed to the A/D
converter as signal FANPUL. This effectively provides a semi-DC level as a
function of the fan rotation.

Temperature Measurement

The temperature data acquisition circuit starts with analog multiplexer U6 and
U3, each allowing an 8 to 1 signal switching. The multiplexer channel
selection is accomplished from the microcontroller by the signals MSELQ,
MSELI, and MSEL2. Each multiplexer output can be inhibited by either the
signal TMISEL or TM2SEL, depending on the multiplexer (only one
multiplexer is active at a time). With each multiplexer output into the

- amplification under control, this data acquisition can then be viewed as 16 to 1
analog temperature selector. The microcontroller selects a new temperature
channel every 21 milliseconds.

Resistor R14 provides the constant voltage drive required for each thermistor
as it gets selected from the appropriate multiplexer. This voltage is amplified
by a factor of 2.1083, and then sent to the A/D converter as signal TCOM.

To provide automatic calibration of the circuit (and eliminate temperature and
aging drifts), precise calibration values are introduced into each multiplexer.
These values are provided by R44 and R45, which are read through the
multiplexers and are used in software processing to eliminate the gain and
offset errors of each multiplexer/amplifier combination. These values equate to
120.87°F (49.37°C) and 72.72°F (22.62°C), which allows for precise circuit
calibration.

Isoletie® Infant Incubator Service Manual (man223rf) ' Page 3- 13



Theory of Operation
Chapter 3: Theory of Operation

Resistor R43 is an additional check to the circuit. It provides a resistance
simulating 98.57°F (36.99°C).

The sensor module supports three air temperature sensors on the sensor board:
signals AIRTE, AIRTC and AIRTM. These signals are interfaces via J2-6 to
J2-8. These thermistors are then routed to temperature multiplexer U5 and U6,
which provide analog signal processing into the A/D converter.

The skin temperature probes contain dual thermistors. The sensor module can
support two probes, which can be plugged into connectors J6 and J7. The two
thermistors are connected to SKNTXM and SKNTXC (X is either 1 or 2}, with
a common connector at AGND. Both probes have high frequency filtering by
inductor networks LN1 and LN2. In addition, each skin probe has a resistor
that is input to the multiplexers. These signals (SKNT1D and SKNT2D) are
used by the microcontroller to determine whether the probes are installed.

Humidity Measurement

Humidity measurement originates with the humidity sensor on the sensor P.C.
board, connected to J2-5 and J2-14 (AGND and HS2, respectively). The sensor
is a capacitive type, which changes capacitance as a function of humidity (the
net range of capacitances is from approximately 160 pF to 200 pF). The sensor
is connected to amplifier U7A/U8A, which is set up as a multi-vibrator. The
sensor capacitance is allowed to charge up through R20 and R21 up to a
threshold voltage established by R30 and R26. When the capacitor voltage
reaches the threshold, capacitor U7A/U8A goes high (to 2.5V as controlied by
R19 and R28) which turns on Q2. This then discharges the humidity sensor
through R20, until it reaches the lower threshold established by R24, R26, and
R30. The capacitor voltage goes from approximately 0.2 V to 0.7V, At this
point the comparators output goes low, releasing the drive to Q2 and allowing
the humidity to start charging again. This effectively produces a frequency
output as a function of capacitance, such as humidity.

The output signal, which is only 2.5V peak, is then input into U7B/USB to
condition the 5V signal. Hysteresis is provided through the use of R23, R29
and R32 to insure stable frequency switching. The output signal JUMPUL is
then sent to the microcontroller for processing. A typical frequency would be
around 37 KHz.

Page 3- 14 Isolette® Infant Incubator Service Manual (man223rf)



Theory of Operation
Chapter 3: Theory of Operation

Microcontroller

The microcontroller is a PIC 16C73, used for signal processing and control of
all signals on the sensor module. The device has three external ports,
configurable as inputs, outputs, etc. The microcontroller operates from a
precise time base of crystal Y1, operating at 4 MHz. The instruction cycle time
of the PIC controller is % of that, namely at 1| MHz or 1 microsecond.

To ensure a clean power-up, U10 provides a fixed power-up reset to the
microcontroller. In addition, this integrated circuit generates a rest in the event
the D+5 falls below a predetermined threshold (brownout condition).

The reset line of the microcontroller, SMRES, is also available to the main
controller if the main controller determines that the sensor module requires
reset intervention.

The PIC device is operating with an internal watchdog timer device which
asserts SMRES in the event the program execution is operating outside normal
conditions.

Expansion Devices

The digital multiplexer, U3, is employed to allow additional digital signals for
processor control. It is a dual, 4-to-1 multiplexer, which allows the
microcontroller to use two ports for 8 bits of information. Control of U18 is
provided by signals DVSELO and DVSELI.

Buffered line drivers U13A/B and U14A are used for signals that are going
off-board, namely SMDATA, SCDATA and SCCLK. The SMDATA line is used
as a bi-directional line, which can be changed from input or output “on-the-fly”
for data communication to the main controller, The SCDATA is similar, with
connection to the scale at connector J3. SCCLK is the buffered clock line used
for scale communications.

Buffer U14B provides an inversion for TM1SEL, producing TM2SEL, which
alternately enables/disables temperature multiplexers.

fsolette® Infant Incubator Service Manual (man223rf) : : ' Page 3-15



Theory of Operation

Chapter 3: Theory of Operation

Analoa/Digital {A/B} Conversions

The A/D converter, Ul1, is an 8-channel, 12-bit, serial, interface device.
Control for the channels is software configurable by the serial communication
line SSPCLK, ADCDIN and COMOUT. The A/D converter is enabled for
signal processing by the signal ACENI, which is asserted twice every 21
milliseconds (the A/D converter is read twice). In addition, the ADCIN and
COMOUT are also driven at 21 millisecond intervals. The SSPCLK is shared
with the EEPROM on the sensor board and scale clock; therefore, the timing is
not periodic.

All temperature information is presented as a multiplexed signal on Channel 0,
and oxygen information is presented as a multiplexed signal on Channel 2.
Channel 4 allows the A/D converter to read its maximum input, and Channel 5
allows the A/D converter to read its minimum input. This allows determination
of proper A/D functioning.

The analog representation of fan pulses is applied to Channel 6.
Controlier

The controller is designed to accept input voltages between the range of 90V

AC and 264V AC. This is accomplished by the use of a universal input

switching power supply. Voltages above the safe operating range are clamped
using transorb diode.

The controller is designed to accept input frequencies between the range of 48
Hz to 62 Hz. This is accomplished by the use of a universal input switching
power supply.

The stand supplies the input power and protective ground to the controller. The
stand incorporates a 15A circuit breaker and EMI filtering components.

The controller provides AC power to the heater and the humidifier. These
outputs are fused in the controller to protect the controller in the event of a
short circuit or electrical overload.

* Maximum heater voltage—264V AC

¢ Maximum heater current—4.8 A

* Maximum humidifier voltage—264V AC
* Maximum heater current—-1.2 A

* Heater/humidifier fuse rating—6.3 A

Page 3- 16

Isolette® Infant Incubator Service Manual (man223rf)



Theory of Operation
Chapter 3: Theory of Operafion

The controller provides DC power to the fan, sensor module, scale, SPO,
module (if available), airflow sensors, and door switches. These outputs are
current limited in the controller to protect the controller and the powered
device in the event of a short circuit or electrical overload. These outputs are
regulated to ensure the output voltage is within the voltage specification for the
powered device. The microprocessor feeds and monitors the outputs 1 and 2
into the A/D converter.

Impeller Movement Detector (IMD) P.C. Board

The IMD P.C. board is positioned so magnets pressed into the bottom of the
impeller pass directly over a hall effect sensor mounted to the P.C. board. The
IMD circuit monitors the hall-effect sensor pulse train produced by the
magnets when the impeller rotates. The speed of the impeller is measured and
compared with pre-determined maximum and minimum acceptance limits. If
the impeller’s rotational speed is too fast or too slow, an impeller error signal is
generated. The IMD circuit also detects if one, two, or all three magnets are
missing or an old impeller without magnets is being used. These errors produce
the same error signal to the controller as for low or high impeller speeds.

The system controller’s +12V through a 301 resistor supplies the power for
the IMD circuit. This resistor and the load of the IMD circuit forms a voltage
divider that sets the LONG signal voltage which remains constant. Ul, a
voltage regulator, supplies +5V DC to U3, the hall-effect sensor and U2, the
microcontroller. As the magnets pass above, the hall-effect sensor open-drain
output, U3-2, goes low detecting the magnets field. When this field is
removed, oscillator as a reference. When an error condition is detected U2-2,
the microcontroller’s output is driven low turning off Q1, releasing a portion of
the load on the short signal allowing it to rise above the LONG signal voltage.
R2, the switch portion of the SHORT signal load, and R4, the unswitch
position of the SHORT signal load, are adjusted to provide approximately a 1V
swing between error and non-error outputs. Capacitors C1 and-C2 are provided
for system supply filtering.

The IMD P.C. board supports in-circuit programming (ICP) of the
microcontroller. Programming is done after the unprogrammed
microcontroller is populated with all the other components by connecting a
programmer to the pads labeled VPP, +5V, CLK, DTA, and GND.

Isolette® Infant Incubator Service Manual (man223rf) Page 3-17



Theory of Operation

Chapier 3: Theory of Operation

Fan Motor

The fan motor speed is set by the controller if the watchdog is not tripped. The
microprocessor supplies a PWM signal to an optocoupler for isolation. The
output is connected to an integrator circuit that converts the PWM to an analog
signal for the motor controller. The motor incorporates hall effect sensors for
monitoring and control. One of the hall effect sensor outputs is fed to the
microprocessor for measuring the motor speed. In the event the watchdog
timer is tripped, the fan motor speed is maintained at 1500 rpm = 450 rpm.

The controller provides an alarm to indicate a failure of the fan to rotate. The
heater and humidifier are disabled when this occurs. An audible alarm with
visnal indication is activated.

Heater Power

The controller monitors the heater power. A current transformer is in series
with the power to the heater and the humidifier. The output of the current
transformer is connected to the A/D converter.

‘The system provides a means for controlling the incubator heater. The

microprocessor controls a solid state relay that controls the power to the heater.
The microprocessor and the watchdog circuit control the safety relay (K3). The
release of the safety relay removes power from the heater regardless of the
functionality of the heater triac.

Humidity Heater Power

The controller monitors the humidity heater power. A current transformer is in
series with the power to the heater and humidifier. The output of the current
transformer is connected to the A/D converter.

The system provides a means for controlling the humidity heater. The
microprocessor controls a solid state relay that controls the power to the
humidity heater. The microprocessor and the watchdog circuit control the
safety relay (K3). The release of the safety relay removes power form the
humidifier heater regardless of the functionality of the humidity heater triac.

Oxygen_ Control

The system provides a means for controlling the oxygen pneumatics. The
microprocessor provides a PWM signal to the solencid MOSFET.

The voltage to the oxygen solenoid is monitored and fed into the A/D
converter. This circuit monitors the 12V power supply and thermal fuse.

Page 3 - 18

Isolette® Infant incubator Service Manual (man223rf)



Theory of Operation
Chapter 3: Theory of Operation

LEDs

Each LED is driven by the microprocessor. The hardware watchdog timer
circuit also drives the alarm/system fail indicator. The power fail detection
circuitry also drives the power fail indicator.

Audio Alarms

The audible alarm circuit incorporates an oscillator circuit to generate 600 Hz,
1500 Hz and 2500 Hz, the three alarm frequencies used. The microprocessor,
the watchdog circuit, and the power failure detection circuitry drive the audible
alarm circuit.

The audio volume is capable of three discrete sound levels. An analog switch is
incorporated in the audible alarm amplifier circuit to select 57 dB, 62 dB, or
65 dB output as measured per IEC601-19-2:102.3. The microprocessor, the
watchdog circuit, and the power failure detection circuit control the analog
switch.

Power Fail

The controller provides an audio output for power fail conditions. The alarm
oscillator is set for 600 Hz at 65 dB output as measured per IEC601-19-
2:102.3. A timer circuit is used to generate the cadence tone during power
failures.

When a Power Failure alarm is activated, the following occurs:
» The Power Fail indicator on the front panel illuminates.

+ An alarm sounds.

The power failure detection circuitry is powered by a high energy storage
capacitor capable of supplying power to the audible alarm and indicator for a
minimum of 10 min. This capacitor is charged while the unit is operating.
When power is lost to the controller and the power switch remains in the on
position, the storage capacitor supplies power to the power failure circuitry.
The power failure circuitry incorporates a timer circuit that periodicalty
(cadence of 520 millisecond OFF and 98 millisecond ON) enables the audible
alarm and Power Fail indicator. This continues until the power switch is
turned off, power is restored, or the storage capacitor is depleted.

Isolette® Infant Incubator Service Manual (man223rf) ' Page 3- 19



Theory of Operation

Chapter 3: Theory of Operation

The Power Failure alarm silence is hardware controlled. Pressing the Alarm

Silence key during power failure silences the audible alarm for the duration of
the power failure. The Power Fail indicator continues to flash until the storage
capacitor is depleted, the power switch is turned off, or power is restored. The
system failure alarm is unaffected by the Alarm Silence key.

Interfacing

An interface port provides an RS-232 serial communication link. The serial
port is fully isolated form the remaining controller circuitry. Power to the serial
port interface circuitry is derived from an isolated winding on the power
supply transformer. The RS-232 interface connector is a female DB-9 mounted
on the rear of the controller. An RS-232 transceiver converts the RS-232 to
logic voltage levels and vice versa. Optocouplers provide the isolation barrier
and interface the RS-232 transceiver to the PC16550 UART. The UART
interfaces the serial port to the microprocessor bus. All lines connected to the
RS-232 connector are filtered to block EMI. The RS-232 transceiver
incorporates electrostatic discharge (ESD) protection.

An interface is provided for communication between the controller module and
the sensor module. The sensor module interface connector is a female DB-9
mounted on the rear of the controller. This is comprised of a bi-directional data
line, a clock output line, and a reset output line. The data lines are fully isolated
and optocoupled to the microprocessor. The controller provides isolated power
to the sensor module.

Door Switches

The controller is connected to the two door switches that are wired in parallel.
The controller provides no more than 5 ma of current and less than 6V of
power to the switches and monitors the return current to determine if either
door is open. The switches are open when the door is closed. The input is
protected with transorb diodes and filtered to block EMI and prévent ESD
damage to the controlier.

Cooling Fan

The cooling fan provides a continuous flow of air through the controller to
remove heat generated by the various components inside the controller
enclosure. The cooling fan is operated whenever power is applied to the
controller. The cooling fan is equipped with a tachometer output signal that is
supplied to the microprocessor.

Page 3 - 20

Isolette® Infant Incubator Service Manual (man223rf)



Theory of Operation
Chapter 3: Theory of Operation

Ambient Temperature Sensors

The temperature sensors are NTC thermistors. The output signals of the
redundant sensors are fed into the A/D converter. The sensors are located in the
airflow of the cooling fan.

Watchdogs

The first watchdog timer is internal to the microprocessor. In the event the
software does not update the watchdog timer within the required time frame,
the internal watchdog resets the microprocessor and all peripherals connected
to the external reset line.

The second watchdog timer circuit is attached to the microprocessor bus. The
microprocessor must continuously write the following data to the watchdog
timer:

* Data 55 hex (01010101 binary) to watchdog register #1.

» Data AA hex (10101010 binary) to watchdog register #2.

The watchdog timer trips in 1 s £ 0.4 s unless the above sequence is completed.
Once the watchdog timer trips, the following occurs:

* The safety relay is turned off. This removes power from the heater and the
humidifier.

» The fan control reverts to closed loop control, maintaining a constant fan
speed regardless of the door positions.

* The oxygen solenoid control from the microprocessor is overridden, and
the oxygen solenoid is turned off so no oxygen can enter the hood.

* A constant audible alarm is sounded for a minimum of 500 milliseconds.
* The system failure indicator is lit.

The microprocessor can reset the watchdog timer after a watchdog trip by
sending the above data sequence.

Factory Defaults

Factory defaults are stored in program memory (flash EEPROM). System
parameters that have been configured are stored in the Real Time Clock (RT'C)
module or serial EEPROM. The RTC memory and Random Access Memory
(RAM) is protected against corruption during power failures and is battery-
backed for a period of time.

Isolette® Infant Incubator Service Manual (man223rf) ' Page 3 - 21



Theory of Operation

Chapfter 3: Theory of Operation

The program is stored in reprogrammable memory and may be reprogrammed
via a cable connected to the serial port of a personal/notebook computer. The
program memory is stored in a flash EEPROM. The RS-232 serial port is
designed to operate at speeds of 115,200 baud to expedite the speed of the
program download.

Power Supply

The power supply is so designed that 1 s after disconnection of the plug, the
voltage between the supply pins of the plug and between either supply pin and
the enclosure does not exceed 60V. This is accomplished by using a bleeder
resistor across the mains filter capacitor if necessary.

Air System

Overall Functional Description

The controller provides displays of air temperature and skin temperature on an
electro-luminescent display. Optional displays of humidity and oxygen
concentration levels within the hood environment and infant weight are
available. In addition, trend displays of 2, 4, 8, 12 and 24 hours of all
parameters (except weight, which is presented in days) are user selectable.

To indicate which parameter (air or skin) is controlling, the set temperature of
the controlling parameter remains on adjacent to the actual displayed
temperature. In addition, the rotating wheel in the Air or Skin softkey
designator rotates.

The control of temperature, humidity, and oxygen concentration are controlled
by means of the forced air circulation system (see figure 3-10 on page 3-23). A
controlled amount of room air (approximately 7 lpm) is drawn through the air
intake filter by means of the motor-driven impeller located in the shell.

Page 3-22

_ Isoletie® Infant Incubator Service Manual (man223rf)



Theory of Operation
Chapter 3: Theory of Operation

Figure 3-10. Air/Oxygen Circulation System

. Sensor module
Front inner wall

Rear inner wall

m223f041

In addition to drawing fresh, filtered air into the incubator, the impeller
provides for the internal circulation at a much greater flow than that of the
fresh gas inflow. The total flow of fresh and circulated air is directed past the
airflow sensor and around the heater. The air enters the infant compartment up
through the slots at the front and rear of the main deck. It then passes between
the front and rear inner walls. The air circulates past the sensor module, which
contains the temperature sensing probe that encapsulates the air temperature
control thermistor and a high air temperature alarm thermistor. After
circulating within the infant compartment, the air is then re-circulated down
through a slot in the right end of the main deck, and back to the impeller. When
the access panel of the hood is open, the air continues to flow upward past the
opening, creating a warm air curtain, which minimizes the drop in air
temperature in the incubator. Temperature is regulated using either incubator
air or skin temperature as the controlling parameter; the desired mode is
selected by the front panel keys.

In either mode of operation, the heater outplit is proportional to the amount of
heat required to maintain the desired temperature. Each mode of operation
(including the optional oxygen, weight, and humidity functions) is described
below.

Isolette® Infant Incubator Service Manual (man223rf) Page 3-23



Theory of Operation

Chapter 3: Theory of Operation

Air Mode

In Air Mode, the air temperature can be maintained from 68°F to 99°F (20°C
to 37°C) (99°F to 102°F (37°C to 39°C) in Temperature Override Mode), as
selected by the Air Set Temperature Up and Down arrow keys on the front
panel. The incubator air temperature is monitored by a probe located in the
sensor module and compared with the air set temperature setting. The
information from this probe is supplied to the heater control circuitry, which
regulates the heater output to maintain the air temperature setting. The actual
air temperature is displayed on the Air Temperature display. A second sensor
within the air temperature probe serves as a backup to limit the maximum
incubator temperature. In the event that the high temperature limit is activated,
the heater is shut off.

In Air Mode, the infant’s temperature is a function of the air temperature and
the infant’s ability to establish and maintain its own temperature. A small
infant, or one with underdeveloped homeostatic control, may not be able to
maintain a stable temperature at the desired level.

'Skin Mode

In Skin Mode, the infant’s temperature can be selected from 93°F to 99°F
(34°C 10 37°C) (99°F to 100°F (37°C to 38°C) in Temperature Override Mode)
by the Skin Set Temperature Up and Down arrow keys on the front panel. A
temperature sensing probe is attached directly to the infant’s skin; the
information from the probe is supplied to the heater control circuitry which
proportions the heater output to maintain the skin set temperature.

The air temperature is still displayed in Skin Mode, for information only. If Air
Mode is selected while the skin probe remains connected, the Skin
Temperature display continues to display actual skin temperature, but it will
not control.

The sensor module is equipped to accept two skin probes. However, when the
second skin probe is connected to the sensor module in skin mode, an alarm
sounds, and the message Remove Skin 2 Probe appears. In order to connect
the second skin probe, first select Air Mode. Then the controller displays the
two temperatures.

If probe 1 is disconnected from its receptacle during the Skin Mode, the Skin
Temperature display blanks and an alarm sounds and the heater turns off.

Page 3-24

Isolette® Infant Incubator Service Manual (man223rf)



Theory of Operation
Chapter 3: Theory of Operation

Oxygen Control

The oxygen concentration level within the incubator hood environment is
controlled by adjusting the flow of oxygen into the hood by using an oxygen
sensor assembly mounted inside the sensor module.

Flow into the incubator is regunlated by a valve that periodically interrupts the
flow of oxygen into the incubator.

The sensor module houses two independent oxygen fuel cells, which are used
to monitor and control the oxygen concentration levels inside the incubator.

If the sensor module is outside of the hood environfnent during oxygen control
mode, audible and visual alarms are enabled, and the flow of oxygen is
interrupted.

In Oxygen Mode, the user may set the oxygen level control point from 21% to
65%. The high and low alarm limits are automatically set to 3% from the
control point. In the event that the oxygen concentration level rises above or
falls below the selected setpoint limits, an audible and visual alarm occurs.

Humidity Conirol Valve

The built-in humidifier provides humidification of the incubator from 30% to
95% RH in 1% increments. The humidifier reservoir permits visual inspection
of the water level.

If the water level in the chamber is depleted, an audible and visual Low
Humidity alarm occurs, indicating a need to replenish the water supply.

Hardware
Weighing Mode

The actual weighing function is performed by two load cells contained in a
platform under the mattress. These cells provide a voltage that is proportional
to the load on it. The voltage is processed by the controller, which in turn
displays it in either kilograms or pounds/ounces on the weight display.

The weighing routine may be initiated by placing the infant on the mattress, or
in the event the infant is already on the mattress, the infant must be lifted off
the mattress; when the system zeros, the infant can be returned to the mattress
to obtain the weight.

Isolette® Infant Incubator Service Manual (man223rf) : Page 3 - 25



Theory of Operation

Chapter 3: Theory of Operation

The Weigh key allows for repeated re-weighing of the infant after the
weighing routine has been initiated as described above.

Trend Displays

Four standard parameters are presented on Trend displays:

* Air temperature

* Skin temperature #1

+ Skin temperature #2

* Heater power
Additional Trend displays are also available when the unit is equipped with
any of the following options:

* Oxygen

* Weight

* Humidity

The Trend time is user-selectable in intervals of 2, 4, 8, 12, and 24 hours for all
parameters, except for weight which provides a trend of 7 days.

Interface Connections

A serial interface port is provided. This port is configured as a data terminal
device and provides an RS-232 output.
The following parameters are available:

* Air and skin setpoint temperatures

* Current air and skin temperatures

~ + Oxygen setpoint

* Oxygen level

Humidity setpoint

Humidity level

. Infant weight

Page 3 -26

Isoletie® Infant Incubator Service Manual (man223rf)



Theory of Operation
Chapter 3: Theory of Operation

RS-232 Serial Port Protocol

The RS-232 serial port connector is located next to the AC power connector on
the front of the incubator. The serial port is configured for 2400 baud, 8 data, 1
stop, no parity, and is output only (see figure 3-11 on page 3-27).

Figure 3-11. RS-232 Connector Pin Quts

C2000 RS-232 port connector
9-pin D-female

1NC
2 RXD
3 TXD
4 NC
5 GND
6 NC
7NC
8 NC
9 NC

m223£096

During normal system operation, a data packet is transmitted every 5 seconds,
Each data packet is presented entirely in American Standard Code Information
Interchange (ASCII) and is readable when displayed on any standard RS-232
terminal device. A data packet consists of one line of text. Each text line is
exactly 82 characters and is composed of a prefix, a data portion, a suffix, a
checksum, and a CR/LF pair.

The prefix serves to identify the data line. It consists of an opening bracket and
an ID character that are unique to the data line. The format of the data portion
is dependent on the specific data line. Any character positions within the data
portion that are presently undefined are transmitted as spaces to enhance the
readability of the output. The suffix property limits the data portion and
consists of a closing bracket.

The checksum is two ASCII hexadecimal digits and represents an 8-bit
acclamation of the ASCII characters from the prefix to the suffix, inclusive.

]so!ette@ infant Incubator Service Manual (man223rf) : Page 3-27



Theory of Operation

Chapler 3: Theory of Operation

All monitored parameters, including temperature, oxygen, humidity, and
weight, are transmitted at the 5 second interval. Asynchronous events, such as
alarms or mode changes, are transmitted as they occur.

Example of the data string:

00000000011111111112222222222333333333344444444445555555555666

123456789012345678901234567890123456789012345678901234567890123

[ ISOLETTE 000000000000 361A 385 387 360 220 050 76 75 21 21 1245 18D

Tabie 3-1. RS-232 Serial Port Protocol

Columns Description

1 and 2 Prefix: 2 characters, ‘[* followed by the ID character
(see table 3-2 on page 3-29)

4 through 11 Product ID: 8 characters

13 and 14 Mode bit flags: 2 hexadecimatl digits (see table 3-3 on
page 3-29)

15 through 24 Alarm bit flags: 10 hexadecimal digits (see table 3-4
on page 3-30)

26 through 28 Setpoint temperature: 3 digits, 1 decimal, Celsius

29 Air/skin mode: 1 character “A or B”

31 through 33 Skin temperature 1: 3 digits, 1 decimal, Celstus

35 through 37 Skin temperature 2: 3 digits, 1 decimal, Celsius

39 through 41 Air temperature: 3 digits, 1 decimal, Celsius

43 through 45 Ambient temperature: 3 digits, 1 decimal, Celsius

47 through 49 Heater power: 3 digits, range 0 to 250

51 and 52 Humidity: 2 digits, 0 decimal

54 and 55 Setpoint humidity: 2 digits

57 and 58 Oxygen: 2 digits, 0 decimal

60 and 61 Setpoint oxygen: 2 digits

63 through 66 Weight: 4 digits, 3 decimals, k grams

78 Suffix: 1 character, ‘[¢

79 and 80 Checksum: 2 hexadecimal digits

| 81 and 81 CR/LF: 2 control characters

Page 3-28

Isolette® Infant incubator Service Manual (man223:f)



Theory of Operation
Chapter 3: Theory of Operation

Table 3-2. ID Character

Character Description

<space> Normal mode
1 Special/Test Mode is in effect (data may be invalid)

Table 3-3. Mode Bit Flags

Bit Description
01 Humidity on
02 Oxygen on
04 Baby Mode configuration
08 0.5°C baby alarm limit
10 Reserved
20 Reserved
40 Reserved
80 Reserved

For example: If “Humidity on” and “Baby Mode configuration” are selected,
the character would be ‘05.’

Isolette® Infant Incubator Service Manual {(man223rf) _ Page 3-29



Theory of Operation

Chapter 3: Theory of Operation

Table 3-4. Alarm Bit Flags

Bit Description
0000000001 Low control temperature
0000000002 High control temperature
0000000004 Low oxygen
(0000000008 High oxygen
0000000010 High temperature cut-out
0000000020 Skin 1—probe failure
0000000040 Skin probe—disconnect
0000000080 Oxygen calibration required
0000000100 Sensor out of position
0000000200 Water level low
0000000400 Procedural Silence
0000000800 Motor failed
0000001000 Low air flow
0000002000 Heater failed
0000004000 EEPROM failed
0000008000 Sensor module failure
0000010000 Controller failure 1
0000020000 Controller failure 2
0000040000 Controller failure 3
0000080000 Controller failure 4
0000100000 Air probe failed
0000200000 Oxygen cell different
0000400000 Scale disconnect
0000800000 Too much weight
0001000000 Scale failed

For example: If the air temperature and oxygen were low and Procedural
Silence had been initiated (door open), the 10 chiropractor value would be

equal to “000000405.”

Certain fields, such as air temperature, are defined as having an implied
decimal point. The decimal point does not physically appear in the data stream.

Page 3 - 30

Isolette® Infant Incubator Service Manual (man223rf)



Chapter 4
- Removal, Replacement, and
Adjustment Procedures

Chapter Contents
Controller . ... oot e e e 4-3
Removal . ... ... e 4-3
Replacement . . ... ... i i e i e e 4-4
SensorModule .. ... e 4-5
Removal . ... e e 4-5
Replacement . .. ... .. o 4-5
OxygenSensor Cell . ... ... . i i it i 4-6
Removal . ... . 4-6
Replacement . ... .. .. i i i 4-7
AirIntake Microfilter . .. ........ ... ... ... ... .. BT 4-8
Removal ... e 4-8
Replacement .. ... ... i e e 4-8
Check Valve Assembly. . ..ot i e i 4-9
Removal ... .. e e 4-9
Replacement . ... ... . i s 4-10
Motor Assembly . . ... ... e 4-11
Removal . ... . . 4-11
Replacement .. ... ... . . i e e 4-11
Access Panel. ... ... . 4-13
Removal ... . 4-13
Replacement . . ... ... ...t i e e i i e 4-13

Isolette® Infant incubator Service Manual (man223rf) Page 4 -1



Chapter 4: Removal, Replacement, and Adjustment Procedures

IrisEntry Port Sleeve . ... ... i i 4-15
Removal ... .o e e 4-15
Replacement . . ... i 4-15

AccessDoorLatch .. ... o 4-16
Removal ... ... . 4-16
Replacement ... .. ... .o i i et e 4-16

Access Door and Access DoorPivotHinge . . ...............oiiuvun. ... 4-17
Removal ...................... e 4-17
Replacement . ........ .. i it e 4-17

Page 4 -2 Isolette® Infant Incubator Service Manual (man223rf)



4.1 Controller
Chapter 4: Removal, Replacement, and Adjustment Procedures

4.1 Controller

Tools required:  None
Removal

1. Disconnect the AC power cord from the controller (A) and, if necessary,
the cable attached to the RS-232 port (see figure 4-1 on page 4-3).

Figure 4-1. Controller

m223f031

2. Remove the two wing nuts (B) located next to the AC power connector and
the RS-232 port.

3. Slide the controller (A) out from the shell until the rear panel connectors
are visible.

4. Disconnect the cables from the rear panel, and remove the controller (A).

Isolette® Infant Incubator Service Manual (man223if) Page 4-3



4.1 Controfler

Chapter 4: Removal, Replacement, and Adjustment Procedures

Replacement

A CAUTION:

When reconnecting the rear panel connectors, connect the sensor
module cable connector io the sensor module connector, and not the
RS-232 connector. Equipment damage could occur.

1. Perform the removal procedure in reverse order. Connect the sensor
module cable connector to the sensor module connector (C), and not the
RS-232 connector (D) (see figure 4-2 on page 4-4).

Figure 4-2. Controller Enclosure Rear Panel

C
\

Connect the

S sensor module cable
connector here.

/

D

m223fI115

2. To ensure proper operation of the Isolette® Infant Incubator, perform the
“Function Checks” on page 2-4,

Page 4 -4 Isolette® Infant Incubator Service Manual (man223rf)



4.2 Sensor Module
Chapter 4: Removal, Replacement, and Adjustment Procedures

4.2 Sensor Module
Tools required:  None

Removal

1. Withdraw the sensor module (A) from the hood (B) until it stops (see figure
4-3 on page 4-5).

Figure 4-3. Sensor Module

m223f032

2. Pull out the clip (C) located on the left side of the sensor module (A), and
remove the sensor module (A) from the hood (B). '

Replacement
1. Perform the removal procedure in reverse order.

2. To ensure proper operation of the Isolette® Infant Incubator, perform the
“Function Checks” on page 2-4.

Isolette® Infant Incubator Service Manual (man223rf) Paged-5



4.3 Oxygen Sensor Cell

Chapter 4: Removal, Replacement, and Adjustment Procedures

4.3 Oxygen Sensor Cell
' Tools required:  Phillips head screwdriver

Removal

1. Remove the sensor module from the hood (refer to procedure 4.2).

2. Using the phillips head screwdriver, remove the mounting plate (A) from
the bottom of the sensor module (see figure 4-4 on page 4-6).

mZ223f033

3. Disconﬁect the leads (B) from the sensors.

4. Unscrew both sensors from the mounting plate (A).

Page 4 -6 Isolette® Infant Incubator Service Manual (man223rf)



4.3 Oxygen Sensor Cell
Chapter 4: Removal, Replacement, and Adjustment Procedures

Replacement

| A CAUTION:

Repiace both oxygen sensor cells at the same time. Failure to do so
could result in equipment damage.

1. Install both replacement sensors.
2. Connect the sensor cells to the sensor module.

3. Using the phillips head screwdriver, install the mounting plate (A) on the
sensor module.

4. Place the sensor module in the hood (refer to procedure 4.2).
5. Perform the calibration procedure (refer to procedure 6.2).

6. To ensure proper operation of the Isolette® Infant Incubator, perform the
“Function Checks” on page 2-4.

Isolette® Infant Incubator Service Manual (man223rf) Page4-7



4.4 Air intake Microfilter

Chapter 4: Removal, Replacement, and Adjustment Procedures

4.4 Air Intake Microfilter

Tools required:  None
Removal

1. Loosen the two thumbscrews (A) that secure the air intake microfilter
cover (B) to the unit (see figure 4-5 on page 4-8).

Figure 4-5. Air Intake Microfilter

m223f030

2. Remove the air intake microfilter cover (B).

3. Remove the air intake microfilter (C).
Replacement

1. Perform the removal procedure in reverse order.

2. To ensure proper operation of the Isolette® Infant Incubator, perform the
“Function Checks” on page 2-4.

Page 4 - 8 Isolefte® Infant Incubator Service Manual (man223rf}



4.5 Check Valve Assembly
Chapter 4: Removal, Replacement, and Adjusiment Procedures

4.5 Check Valve Assembly
Tools required: ~ Phillips head screwdriver
12" long wooden prop
Pliers

Removal

1. ‘Disconnect the power cord from the controller.

2. Using the phillips head screwdriver, remove the four screws (A) and
washers (see figure 4-6 on page 4-9). Retain the hardware.

Figure 4-6. Check Valve Assembly

m?223i034

3. At the controller end of the incubator, lift the upper shell (B) using the
mattress tilt knob (C) and the rear hood hinge. :

4. Insert the 12" long wooden prop between the upper shell (B) and lower
shell (D).

5. Using the pliers, disconnect the three hoses from the existing check valve

(E).

Isoletie® infant incubator Service Manual (man223rf) Page4-9



4.5 Check Valve Assembly

Chapter 4: Removal, Replacement, and Adjustment Procedures

6.

7.

-Remove the filier cover (F) (refer to procedure 4.4).

Remove the check valve (E) by using the phillips head screwdriver to
remove the screw (G). Retain the screw (G).

Replacement

1.

Install the check valve (E) provided using the screw (G) and the phillips
head screwdriver.

Using the pliers, connect the three hoses.
Remove the 12" long wooden prop, and lower the upper shell (B) in place.

Ensure that no cables are pinched and that the shell gasket is fitted
propetly.

Using the phillips head screwdriver, install the four screws (A) and
washers.

Replace the filter cover (F) (refer to procedure 4.4).

To ensure proper operation of the Isolette® Infant Incubator, perform the
“Function Checks” on page 2-4.

Page4-10

Isolette® Infant Incubator Service Manual (man223rf)



4.6 Motor Assembly
Chapter 4: Removal, Replacement, and Adjustment Procedures

4.6 Motor Assembly
Tools required:  Phillips head screwdriver

Removal
1. Disconnect the power cord from the controller.
2. Lift the hood.

3. Remove the mattress tray (A), tilt bars (B), main deck (C), and
heater/impeller cover (D) (see figure 4-7 on page 4-12).

4. Remove the impeller (E) from the motor shaft.
5. Lower the hood.

6. Using the phillips head screwdriver, remove the four screws (F) and
washers. Retain the four screws (F) and washers.

7. At the controller end of the incubator, lift the upper shell (G) using the
mattress tilt knob (H) and the rear hood hinge.

8. Insert one of the tilt bars (B) between the upper shell (G) and lower shell
.

9. Disconnect the motor ribbon cable (J).

10. Using the phillips head screwdriver, remove the four screws (K) holding
the motor (L) to the upper shell (G). Retain the four screws (K).

Replacement

1. Install the motor (L) provided with the four screws (K), and connect the
ribbon cable (J).

2. Remove the tilt bar (B), and lower the upper shell (G) in place. Ensure that
the shell gasket is fitted properly.

3. Imstall the impeller (E) provided on the motor shaft.
4. Assemble the incubator.

5. To ensure proper operation of the Isolette® Infant Incubator, perform the
“Function Checks” on page 2-4.,

Isolette® Infant incubator Service Manual (man223rf) ' Page4-11



4.6 Motor Assembly

Chapter 4: Removal, Replacement, and Adjusiment Procedures

Figure 4-7. Motor Assembly

shown rotated 180°
for clarity.
m223£035

Page4- 12 Isolette® Infant Incubator Service Manual (man223rf)



4.7 Access Panel
Chapter 4: Removal, Replacement, and Adjustment Procedures

4.7 Access Panel
Tools required: ~ Phillips head screwdriver
Access panel gauge (P/N 83 900 14)

Removal

1. Open the access panel (A) (see figure 4-8 on page 4-13).

Figure 4-8. Access Panel

m223f036

2. Remove the mattress tray and tilt handles (refer to procedure 4.6).
3. Close and latch the access panel (A).

4. Using the phillips head screwdriver, remove the shoulder screws (B) and
washers (C) from the access panel hinges (D).

5. Remove the access panel (A) from the unit, and transfer the hardware to the
replacement access panel (A).

Replacement

1. Mount the replacement access panel (A) on the access panel hinges (D).

Isoletie® Infant Incubator Service Manual (man223rf) Page4-13



4.7 Access Panel

Chapter 4: Removal, Replacement, and Adjustment Procedures

2.

10.

11.

12.

13.

Using the phillips head screwdriver, loosen, but do not remove, the four
screws (F) holding the hinge plates (G).

Close the access panel (A) on the access panel gauge (I). Ensure that the
access panel (A) is latched.

Push the left end of the access panel (A) firmly against the access panel
gauge (I).

Using the phillips head screwdriver, tighten the rear screw (F) of the hinge
plate (G).

Place the access panel gauge (I) on the right side.
Press the access panel (A) firmly against the access panel gauge (D).

Using the phillips head screwdriver, tighten the rear screw (F) of the hinge
plate (G).

Hold the access panel gauge (I), and open the access panel (A).

While pressing down on the hinge plate (G) tab, use the phillips head
screwdriver to tighten the front hinge plate (F) screws.

Open the access panel (A), and then close it.

Make sure the panel latches properly. If the access panel (A) does not latch
properly, readjust the latch keepers (H).

To ensure proper operation of the Isolette® Infant Incubator, perform the
“Function Checks” on page 2-4.

Page 4 - 14

Isolette® Infant Incubator Service Manual (man223rf)



4.8 lris Entry Port Sigeve
Chapter 4: Removal, Replacement, and Adjustment Procedures

4.8 Iris Entry Port Sleeve

Tools required:  None

Removal

Pull the iris entry port sleeve (A) off the port housing (D) (see figure 4-9 on
page 4-15).

Figure 4-9. Iris Entry Port Sleeve

E m223037

Replacement

1. Install the smaller diameter elastic band (B) of a new iris entry port sleeve
(A) over the inner ring (C) of the port housing (D).

2. Fold the iris entry port sleeve (A) back upon itself, and slip the larger
elastic band (E) over the outer ring (F) of the port housing (D).

3. Rotate the outer ring (F) to close. If properly installed, the iris entry port
sleeve (A) will open again if you rotate it in the other direction.

4. To ensure proper operation of the Isolette® Infant Incubator, perform the
“Function Checks” on page 2-4.

Isolette® Infant Incubator Service Manual (man223tf) Page 4 - 15



4.9 Access Door Laich
Chapter 4: Removal, Replacement, and Adjustment Procedures

4.9 Access Door Latch
Tools required: ~ Phillips head screwdriver

Removal

1. Open the access panel (A) (see figure 4-10 on page 4-16).

Figure 4-10. Access Door Latch

m223f119

2. Using the phillips head screwdriver, remove the two screws (B) that secure
the access door latch mount (C) and access door latch (D) to the access

panel (A).
3. Remove the access door latch mount (C) and access door latch (D) from
the access panel (A).
‘Replacement

1. Perform the removal procedure in reverse order.

2. To ensure proper operation of the Isolette® Infant Incubator, perform the
“Function Checks” on page 2-4.

Page 4 - 16 Isolette® Infant Incubator Service Manual (man223if)



4.10 Access Door and Access Door Pivot Hinge
Chapter 4: Removal, Replacement, and Adjustment Procedures

4.10 Access Door and Access Door Pivot Hinge
Tools required: ~ Phillips head screwdriver

Removal

1. Release the access door latch (A) (see figure 4-11 on page 4-17).

Figure 4-11. Access Door Pivot Hinge

m223f120

2. Open the access panel (B).

3. Using the phillips head screwdriver, remove the two screws (C) that secure
each access door pivot hinge (D) to the access panel (B).

4. Remove the two access door pivot hinges (D), the torsion spring (E), and
the access door (F) from the access panel (B).

Replacement
1. Perform the removal procedure in reverse order.

2. To ensure proper operation of the Isolette® Infant Incubator, perform the
“Function Checks” on page 2-4.

Isolette® Infant Incubator Service Manual (man223rf) Page4-17



-4.10 Access Door and Access Door Pivot Hinge

Chapter 4: Removal, Replacement, and Adjustment Procedures

NOTES:

Page 4 - 18 Isolette® Infant Incubator Service Manual (man223rf)



Chapter 5
Parts List

Chapter Contents
Warranty . . ... 5-3
Service Parts Ordering . ......... ... i 5-5
Exchange POliCy . ... ... ...oiii i 5-7
In-Warranty Exchanges .......... ... ... ... . ... ... . . 5-7
Out-of-Warranty Exchanges. ...................oui . . 5-7

Recommended Spare Parts . . ............... oo iiien 5-8
Incubator Hood and Shell Assembly .................................. 5-10
High Dual Access Hood Assembly with TwoIris Ports ................... 5-14
High Front Access Hood Assembly with Two Access Doors and Two Iris Ports

(00" Series Model Only). ... ... e 5-18
High Front Access Hood Assembly with Two Access Doors and Two Iris Ports

(017 Series Model Only). ... ...ooieet e 5-22
High Dual Access Hood Assembly with One Access Door and One Iris Port (“00” Series
Model Only) . ... 5-26
High Dual Access Hood Assembly with One Access Door and One IIlS Port 01~ Senes
Model Only) .. ... 5-30
High Dual Access Hood Assembly with Two Access Doors (<007 Serles

Model Only) . ... e 5-34
High Dual Access Hood Assembly with Two Access Doors (“01” Series

Model Only) . ... ... 5-38
High Front Access Hood Assembly with Four Access Doors (“00” Series

Model Only) . ... 5-42
High Front Access Hood Assembly with Four Access Doors (“01” Series

Model Only) . ... ... e 5-46
Access Panel Front Assembly (“00” Series Model Only) .................. 5-50

 Isolette® Infant Incubator Service Manual {man223rf) Page 5- 1



Chapter 5. Parts List

Access Panel Front Assembly (“01” Series ModelOnly) .................. 5-52

Access Panel Rear Assembly (“00” Series Model Only). .................. 5-54
Access Panel Rear Assembly (“01” Series ModelOnly)................... 5-56
Shell Assembly (“00”, “01”, and “02” Series Models Only)................ 5-58
Shell Assembly (“03” Series Model Only). ........... ... ... ... ... 5-62
Top Shell Assembly (“03” Series Model Only) . ......................... 5-64
Controller Assembly (Model C2C-20nly) .........cciiriiiiiinnn... 5-68
Enclosure Assembly (Model C2C-20nly). ..o 5-70
Front Panel Assembly Model C2C-20nly) ............covvvrnnn... L..5-72
Interface/Power Supply Assembly (Model C2C-20nly)................... 5-74
Sensor Module Assembly . . .. ...t e 5-76
Pedestal Stand Assembly (“00” Series Model Only) ...................... 5-78
Pedestal Stand Assembly (“01” Series and Higher Models Only)............ 5-82
Variable Height Adjustable Pedestal Stand Assembly. ... ................. 5-86
Hood/Shell and Pedestal Stand Assembly Attachment .................... 5-90
Foot Switch Assembly, Front....... ... ... .. . i i 5-92
Foot Switch Asserﬁbly, Rear ... .. ... 5-93
Check Valve Assembly. ... ..o i e i 5-94
Scale Assembly. ... ... e e 5-96
Sensor Module P.C. Board Assembly—P/N 8300570.................... 5-98
Scale P.C. Board Assembly—P/N8360070.......... .. ..o ... 5-102
Impeller Movement Detector P.C. Board Assembly—P/N 83 10370........ 5-106
IV Pole Assembly (ACCESSOIY). . oo v vttt ittt e ie i iennns 5-108
High Monitor Shelf Assembly (Accessory) ..........ovviiennnan.... 5-110
Swivel Drawer Assembly (Accessory). ...ovvvein e ... 5-112
Humidity System (ACCESSOIY) . .t uv ittt e iie it iiieeiaeeaennn 5-114
Humidity System (Accessory) (“02” Series ModelOnly) ................. 5-118
Evaporator Reservoir Assembly (“02” Series Model Only). ............... 5-122
Oxygen System (ACCESS0TY ).+« vt et ittt it it et ie et et inens 5-124
Ventilator Tube Support (Accessory). .. c.vvie ittt i 5-127
Oxygen Tank Bracket (AccessoTy). ..o v vttt i i i nn, 5-128

Page 5 -2  Isolette® Infant Incubator Service Manual (man223rf)



Warranty
Chapter 5: Parts List

m
Warranty
HILL-ROM AIR-SHIELDS, INC.
LIMITED WARRANTY

"the product being described in this manual is warranted against defects in materials or workmanship for one year from the
date of shipment from Hill-Rom Air-Shields, Hatboro, with the following exceptions:
*  All consumables and disposable products are guaranteed to be free from defects upon shipment only.

*  Calibrations are considered normal maintenance and are not included in the 1 year warrzmty.1

During the warranty period any defective parts other than those Hsted above will be replaced at no charge to the customer.
There will be no labor charge for replacing the parts within the continental UJ.S.

This warranty is rendered void and Hill-Rom Air-Shields cannot be held liable for conditions tesuliant therefrom if:

*  Damage to the unit is incurred as a result of mishandling.

*  'The customer fails to maintain the unit in 2 proper manner.

*  The customer uses any parts, accessories, or fittings not specified or sold by Hill-Rom Ajir-Shields.

»  Sale or service is performed by a non-certified service/dealer agency.

THE FOREGOING WARRANTIES ARE EXCLUSIVE AND IN LIEU OF ALL OTHER EXPRESS WARRANTIES
AND IMPLIED WARRANTIES, INCLUDING BUT NOT LIMITED FO, THE IMPLIED WARRANTIES OF
MERCHANTABILITY AND FITNESS OF PURPOSE. HILL-ROM AIR-SHIELDS’ OBLIGATION UNDER
THESE WARRANTIES SHALL NOT INCLUDE ANY LIABILITY FOR LOSS OF PROFITS, DIRECT,
INDIRECT OR CONSEQUENTIAL DAMAGES OR DELAYS. Some states, provinces, or countries do not allow the
exclusion or limitation of incidental or consequential damages, so the above exclusion or limitation may not apply. Any
improper or negligent use, any alterations or repairs not in accordance with Hill-Rom’s manuals or performed by others in
such manner as in Hill-Rom Air-Shields’ sole judgment affects the product materially and adversely, shall void these
wartantics. These warranties do not cover failures due to misuse, abuse, neglect, or lack of routine maintenance. No employee
or representative of Hill-Rom Air-Shields is authorized to change these warranties in any way or grant any other warranty .
unless in writing and signed by a Hill-Rom officer. These warrantics provide specific legal rights; but, there may be other
available rights, which vary from state to state, province to province, or country to country.

This warranty is in lieu of all other warranties, expressed or implied, and Hill-Rom Air-Shields shail in no event be liable for
incidental or consequential damages including loss of use, property damage, or personal injury resulting from breach of
warranty.

Hill-Rom Air-Shields, Inc., 330 Jacksonville Road, Hathoro, PA 19040

1. The Accreditation Manual for Hospitals requires each piece of equipment is to be tested prior to
initial use and at least annually thereafter. To comply with this standard, we recommend that you
participate in our Preventive Maintenance Program during the warranty period. This service can be
performed by certified technicians through our Product Service Group and authorized dealers.

Isolette® Infant Incubator Setvice Manual (man223rf) Page 5-3



Warranty

Chapler 5: Parts List

NOTES:

Page 5 - 4 ' Isolette® Infant Incubator Service Manual (man223tf)



Service Parts Ordering
Chapter 5: Parts List

Service Parts Ordering
Using the parts lists in this manual, identify the part number(s) you require.
Find the product number and serial number on the product identification label

(A) (see figure 5-1 on page 5-5).

Figure 5-1. Product Identification Label Location

m223f088

Call Hill-Rom Technical Support at (800) 445-3720 with the following
information:

* Six-digit customer account number

¢ Purchase order number

* Product number

Serial number

Part number(s)

To promptly order parts, request part prices and availability, or follow upona
service order, use the following Hill-Rom fax number:

(812) 934-8472

Isolette® Infant Incubator Service Manual (man223rf) : ' Page5-5



Service Parts Ordering
Chapter 5: Parls List

Terms:
* Net 30 days
» FO.B. Batesville, IN
* Prepaid shipping charges added to invoice
.+ All orders shipped UPS ground unless specified

Address all inquiries to:

ATTN TECHNICAL SUPPORT—PARTS
HILIL-ROM COMPANY, INC.

1069 STATE ROUTE 46 E
BATESVILLE IN 47006-9167

Addpress all return goods to:

HILL-ROM AIR-SHIELDS, INC.
330 JACKSONVILLE ROAD
HATBORO PA 19040-2211

NOTE:
~ To eliminate possible delays or incorrect billings, do net return any items
- without a Return Material Authorization (RMA) number. When a return is
requested, an RMA packet is included with each order. This packet includes an
RMA number, instructions, and a shipping label. If an RMA number is not
available, obtain one by phoning Hill-Rom Technical Support at
(800) 445-3720.

Page5-6 ' Isolette® Infant Incubator Service Manual (man223rf)



Exchange Policy
Chapter 5: Paris List

Exchange Policy

The following are policies for in-warranty and out-of-warranty exchanges from
Hill-Rom.

In-Warranty Exchanges

In some cases, Hill-Rom will request that parts/products be returned for

inspection. When this occurs, you are expected to return parts/products within

30 days of receipt of the exchange part. If you fail to return the inoperative

parts/products within the 30 day period, Hill-Rom will invoice your facility for
 the full selling price of the parts/products,

NOTE:
The preceding billing procedure pertains only to parts/products that Hill-Rom
requests to be returned.

In some cases, the invoice accompanying the parts will show the full selling
price (only for internal use at Hill-Rom). Do not confuse this price with your
price.

Do not return any parts without an RMA number. When parts/products have
been requested to be returned, Hill-Rom will include an RMA packet with the
parts/products shipment. If an RMA number is not available, obtain one by
phoning Hill- Rom Technical Support at (800) 445-3720.

Out-of-Warranty Exchanges

You are expected to return the inoperative parts/products within 30 days of
receipt of the exchange part. Hill-Rom will include an RMA packet with the
parts/products shipment. If an RMA number is not available, obtain one by
phoning Hill-Rom Technical Support at (800) 445-3720. Hill-Rom will
invoice your facility for the full selling price of the parts/products. Upon return
of the inoperative parts/products, Hill-Rom will issue a credit to your facility
for the difference between the exchange price and the full selling price of
the parts/products,

Isolette® Infant Incubator Service Manual (man223rf) Page5-7



Recommended Spare Parts
Chapter 5: Parts List

L e
Recommended Spare Parts

For a recommended spare parts list to service five or more units, see
table 5-1 on page 5-8.

Table 5-1. Recommended Spare Parts

Part Number Quantity Description

83 900 15 1 Replacement motor kit

83 900 09 1 Replacement kit, access door latch

8330015 1 Latch mount, access door

83 200 20 1 Gromimet, access

8330005 1 Door, access

78 293 10 1 Bumper, clear polyurethane, self-adhesive

83 300 08 i Pivot hinge, access door

68 510 10 1 Spring, torsion, 0.27" outer diameter, 0.03"
wide, 0.365" long

83 30009 1 Latch, heat shield

83 300 07 1 Gasket, access door

83 005 48 1 Sensor module assembly

83 102 85 1 Impeller assembly

83 300 25 1 Upper body, access panel latch

83 30026 1 Lower body, access panel latch

83 900 08 1 Replacement kit, access panel latch

83 300 29 1 Spring, compression, 0.18" outer diameter,
0.014" wide, 12" long

83 900 69 1 Paint, touch-up, putty, Y%-pint can

83 600 50 1 Scale assembly

83310210 1 Probe four, baby temperature, reusable

83101 30 i Filter, replaceable

68 12071 1 Iris port cuffs, disposable soft

8330011 1 Access door cuff, disposable, replaceable,
~carton of 100

83900 11 1 Lift bar kit

8390012 1 Replacement kit, scroll cover

83102 18 1 Probe four, skin temperature, disposable

Page 5-8 Isolette® Infant Incubator Service Manual (man223rf)



Recommended Spare Parts
Chapter 5: Parts List

Part Number Quantity Description

83 300 40 1 Cuff, access door, reusable, carton of 10

83001 00 1 Mattress foam

81 502 02 1 Washer, sealing, oxygen/air

68 209 46 1 Critter Covers® Probe Cover, box of 100

68 209 45 1 Critter Covers® Probe Cover, carton of
600

7925174 1 Kleenaseptic®" B, trigger spray, twelve 24
0Z.

68 209 47 1 Cover, probe, Care For Me, large, 100

68 209 48 1 Cover, probe, Care For Me, standard, 100

8310221 1 Probe four, skin temperature, disposable,
box of 10

83102 05 1 Adapter cable, probe four, baby tempera-
ture

a. Kleenaseptic® is a registered trademark of Metrex Research Corporation.

~ Isolette® Infant Incubator Service Manual (man223rf) Page 5-9



Incubator Hood and Shell Assembly
Chapter 5: Paris List

Incubator Hood and Shell Assembly

Figure 5-2. Incubator Hood and Shell Assembly

Not shown:

Shell assembly exploded view

m223f069

~ Page5-10 Isolette® Infant Incubator Service Manual (man223rf)



Incubator Hood and Shelf Assembly
Chapter 5: Parts List

Table 5-2. Incubator Hood and Shell Assembly

Item Number | Part Number Quantity Description

1 8320077-R 1 Hood assembly, high, dual access, iris
port left and right

2 83200 71-R 1 Hood assembly, high, front access, two

access doors, iris port left and right (“00”
series model only)

3 83 900 61 1 Replacement kit, dual access, iris port
left, access door (“00” series model only)

4 83 200 73 1 Hood assembly, high, dual access, access
door left and right (“00” series model
only)

5 83 200 74 1 Hood assembly, high, front access, two

access doors, access door left and right
(“00” series model only)

6 83 20078 1 Hood assembly, high, front access, two
access doors, iris port left and right (“01”
series model only)

7 83 200 79 1 Hood assembly, high, dual access, iris
port left, access door (“01” series model
only)

8 83 200 80-R 1 Hood assembly, high, dual access, access
door left and right (“01” series model
only)

9 83 200 81 1 Hood assembly, high, front access, two
access doors left and right (“01” series
model only)

10 83 300 71-R 1 Access panel assembly, high rear

11 8330076-R = |1 Replacement access panel assembly,
high, front

12 99 19505 2 Screw, shoulder, %" diameter, 0.38" long,
#10-24 nylock

13 83 005 50 1 Sensor module assembly

14 83 300 71-R 1 Access panel assembly, high rear (“00”
series model only)

15 83 300 77-R 1 Replacement access panel assembly,
high, rear (“01” series model only)

16 8300100 11 Mattress foam

Isolette® infant Incubator Service Manual (man223rf) Page5- 11



Incubator Hood and Shell Assembly

Chapter 5: Parts List

Item Number | Part Number Quantity Description
17 83001 01 1 Tray, mattress
18 83 006 76 1 Controller assembly
19 83 100 70-R 1 Replacement shell assembly
20 83101 71-R 1 Heater assembly, 120V (120V model
only)
21 83101 81-R 1 Heater assembly, 240V (120V model
only)
22 83 101 91-R 1 Heater assembly, 100V (100V model
only)
23 83 100 76 1 Radiator, heater, machining
24 8310210 1 Probe four, baby temperature, reusable
25 67 502 50 2 Cover, screw, light gray, “4"-20 pen
26 99 024 19 3 Screw, #6-32 x 9/16" truss phillips nylock
27 83 500 38 2 Label, hot surface symbol
28 83 500 05 1 Overlay, humidity panel
29 99 122 54 2 Washer, flat 0.2" inner diameter, ¥2" outer
diameter, 0.04" thick
30 99 105 06 2 Nut, wing, #6-32
31 83 500 50 1 Label, oxygen and warnings, English
(English model only)
32 83 500 51 1 Label, oxygen and warnings, Spanish
(Spanish model only)
33 83 500 52 1 Label, oxygen and warnings, French
(French model only)
34 83 500 53 1 Label, oxygen and warnings, German
' (German model only)
35 83 500 54 1 Label, oxygen and warnings, Italian
) (Italian model only)
83 001 02 1 Tray, x-ray

36

Page 5- 12

Isolette® Infant Incubator Service Manual (man223rf)



Incubator Hood and Shell Assembly
Chapter 5: Parts List

NOTES:

Isolette® Infant Incubator Service Manual (man223rf) : Page 5-13



High Dual Access Hood Assembly with Two Iris Ports
Chapter 5: Parts List

High Dual Access Hood Assembly with Two Iris Ports

Figure 5-3. High Dual Access Hood Assembly with Two Iris Ports

m223f055

Page5- 14 " Isofelte® Infant Incubator Service Manual (man223rf)



High Dual Access Hood Assembly with Two Iris Ports

Chapter 5: Parts List

Table 5-3. High Dual Access Hood Assembly with Two Iris Ports

Item Number | Part Number Quantity Description

1 83200 77-R 1 Hood assembly, high, dual access, iris
port left and right

2 83 900 59 1 Replacement kit, dual access, iris port left
and right

3 83200 10 1 Hinge, hood/access panel, right front

4 83200 11 1 Hinge, hood/access panel, left front

5 8320012 1 Hinge, hood/access panel, left rear

6 83200 13 1 Hinge, hood/access panel, right rear

7 83 200 20 10 Gromimet, access

8 68 120 76 2 Ring assembly, iris port, large flange

9 68 120 32 2 Ring, retaining, iris port, clear

10 68 120 57 2 Sleeve, iris port, disposable, soft

11 68 232 24 2 Standoff, #6-32 inner diameter, 0.38"
outer diameter, 0.044" long

12 8102020 2 Clamp, cable, spring tie, nylon, 0.38"
inner diameter

13 99 024 18 2 Screw, #6-32 x 9/16" truss phillips

14 99024 19 2 Screw, #6-32 x 9/16" truss phillips nylock

15 99042 92 8 Screw, #10-32 x %" truss phillips

16 83200 45 2 Slide assembly, sensor module

17 99105 02 4 Nut, hex, #6-32

18 99 024 52 4 Screw, #6-32 x 5/8" pan phillips nylock

19 99105 20 2 Nut, acorn, #6-32 aluminum

20 8320018 2 Plate, backup, hinge, left front and right
rear

21 83200 19 2 Plate, backup, hinge, left rear and right
front

22 67 502 51 2 Base, screw, 14"-20

23 83 300 56 4 Spacer, #6-32 inner diameter, 0.31" outer
diameter, 0.38" long

24 99 023 58 4 Screw, #6-32 x 7/16", flat phillips

25 8320095 1 Plate, cover, slide fixture

26 8320097 1 Washer, cover spring module—slide lock

Isolette® Infant Incubator Service Marnual (man223rf)

Page 5- 15




High Dual Access Hood Assembly with Two Jris Ports

Chapfer 5: Parts List

Item Number | Part Number Quantity Description
27 83 200 98 Slide lock, sensor module
Page 5- 16 Isolette® Infant Incubator Service Marﬁ;al {man223rf)




High Dual Access Hood Assembly with Two Iris Ports
Chapler 5: Parts List

NOTES:

Isolette® Infant Incubator Service Manual (man223rf) ' Page 5-17



High Front Access Hood Assembly with Two Access Doors and Two lris Ports (“00” Series Model Only)
Chapter 5: Parts List

High Front Access Hood Assembly with Two Access Doors and
Two Iris Ports (“00” Series Model Only)

Figure 5-4. High Front Access Hood Assembly
with Two Access Doors and Two Iris Ports (“00” Series Model Only)

m223063

Page 5- 18 Isolette® Infant Incubator Service Manual (man223rf)



High Front Access Hood Assembly with Two Access Doors and Two Iris Ports (“00” Series Model Only)

Chapler 5: Parts List

Table 5-4. High Front Access Hood Assembly
with Two Access Doors and Two Iris Ports (“00” Series Model Only)

Item Number | Part Number Quantity Description

1 83200 71-R 1 Hood assembly, high, front access, two
access doors, iris port left and right

2 83 900 60 1 Replacement kit, front access, iris port
left and right

3 83200 15 2 Keeper, access panel latch

4 8320010 1 Hinge, hood/access panel, right front

5 83 200 11 1 Hinge, hood/access panel, left front

6 83200 16 1 Hinge, hood, left, rear

7 8320017 1 Hinge, hood, right, rear

8 83 30005 2 Door, access

9 83300 11 2 Access door cuff, disposable, replaceable

10 83 300 07 2 Gasket, access door

11 83 300 08 4 Pivot hinge, access door

12 68 51010 2 Spring, torsion, 0.27" outer diameter,
0.03" wide, 0.365" long

13 83 900 09 2 Replacement kit, access door latch

14 8330015 2 Latch mount, access door

15 81 020 20 2 Clamp, cable, spring tie, nylon, 0.38"
inner diameter

16 83200 20 6 Grommet, access

17 68 120 76 2 Ring assembly, iris port, large flange

18 68 12032 2 Ring, retaining, iris port, clear

19 68 120 57 2 Sleeve, iris port, disposable, soft

20 83 001 10 1 Heat shield, access panel, high

21 99 088 67 4 Screw, self-tapping, #8 x 3/8" pan phillips

22 99 023 51 2 Screw, #6-32 x 3/8" truss phillips nylock

23 99 023 64 g Screw, #6-32 x 7/16" truss phillips nylock

24 99024 19 6 Screw, #6-32 x 9/16" truss phillips nylock

25 99 042 66 4 Screw, #10-32 x 5/8" truss phillips nylock

26 99 042 92 8 Screw, #10-32 x 34" truss phillips

27 28330009 2 Latch, heat shield

28 83300 10 2 Hinge, heat shield

Isoletie® Infant Incubator Service Manual (man223rf)

Page 5- 19




High Front Access Hood Assembly with Two Access Doors and Two Iris Ports (“00” Series Model Only)
Chapter 5: Parts List

Item Number | Part Number | Quantity Description

29 99 105 20 2 Nut, acorn, #6-32 aluminum

30 83 200 45 2 Slide assembly, sensor module

31 83 200 42 1 Plate, cover, no calibration fixture

32 68 200 24 1 Standoff, #6-32 inner diameter, 0.38"

' outer diameter, 0.044" long

33 99 024 18 1 Screw, #6-32 x 9/16" truss phi]]ips

34 99 10502 4 Nut, hex, #6-32

35 99 024 52 4 Screw, #6-32 x 5/8" pan phillips nylock

36 67 502 51 2 ‘Base, screw, 14"-20

37 83 100 45 2 Plate, hinge and magnet

38 8330033 1 Magnet, 4" square, 1" long

39 8330004 1 Plate, backup, hinge, heat shield

40 83200 18 2 Plate, backup, hinge, left front and right
rear

41 8320019 2 Plate, backup, hinge, left rear and right -
front

42 8330013 1 Bracket, heat shield, rear

Page 5 - 20 Isolette® Infant Incubator Service Manual (man223rf)



High Front Access Hood Assembly with Two Access Doors and Two Iris Ports (“00” Series Model Only)
: Chapter 5: Parts List

NOTES:

Isolette® Infant Incubator Service Manual (man223rf) : _ Page 5 - 21



High Front Access Hood Assembly with Two Access Doors and Two lris Ports (“01” Series Model Only)
Chapter 5: Parls List

High Front Access Hood Assembly with Two Access Doors and
Two Iris Ports (“01” Series Model Only)

Figure 5-5. High Front Access Hood Assembly
~ with Two Access Doors and Two Iris Ports (“01” Series Model Only)

m223f064

Page 5 -22 Isolette® Infant Incubator Service Manual (man223rf)



High Front Access Hood Assembly with Two Access Doors and Two Iris Ports (“01" Series Mode! Only)

Chapter 5: Paris List

Table 5-5. High Front Access Hood Assembly
with Two Access Doors and Two Iris Ports (“01” Series Model Only)

| tem Number | Part Number Quantity Description

1 83200 78 1 Hood assembly, high, front access, two
access doors, iris port left and right

2 83 200 61-R 1 Hood, high, front access, two access
doors rear right, iris ports left and right

3 8320010 1 Hinge, hood/access panel, right front

4 83200 11 1 Hinge, hood/access panel, left front

5 8320012 1 Hinge, hood/access panel, left rear

6 83200 13 1 Hinge, hood/access panel, right rear

7 8330005 2 Door, access

8 8330011 2 Access door cuff, disposable, replaceable

9 83 300 07 2 Gasket, access door

10 8330008 4 Pivot hinge, access door

11 68 510 10 2 Spring, torsion, 0.27" outer diameter,
0.03" wide, 0.365" long

12 83 900 09 2 Replacement kit, access door latch

13 83 300 15 2 Latch mount, access door

14 83 200 20 6 Grommet, access

15 68 12076 2 Ring assembly, iris port, large flange

16 68 120 32 2 Ring, retaining, iris port, clear

17 68 120 57 2 Sleeve, iris port, disposable, soft

18 83001 11-R 1 Replacement heat shield, access panel

19 81020 20 2 Clamp, cable, spring tie, nylon 0.38"
inner diameter

20 99 088 67 4 Screw, self-tapping, #8 x 3/8" pan phillips

21 99 023 51 2 Screw, #6-32 x 3/8" truss phillips nylock

22 99 023 64 8 Screw, #6-32 x 7/16" truss phillips nylock

23 99024 19 8 Screw, #6-32 x 9/16" truss phillips nylock

24 99 042 66 4 Screw, #10-32 x 5/8" truss phillips nylock

25 99 042 92 8 Screw, #10-32 x %" truss phillips

26 83 30009 2 Latch, heat shield

27 8330010 2 Hinge, heat shield

28 99 105 20 2 Nut, acorn, #6-32 aluminum

Isolette® Infant Incubator Service Manual (man223rf)

Page 5-23




High Front Access Hood Assembly with Two Access Doors and Two Iris Ports (“01” Series Model Only)
Chapter 5; Parts List

Item Number | Part Number Quantity Description

29 83 200 45 2 Slide assembly, sensor module

30 68 232 24 1 Standoff, #6-32 inner diameter, 0.38"
outer diameter, 0.44" long

31 90024 18 1 Screw, #6-32 x 9/16" truss phillips

32 99 105 02 4 Nut, hex, #6-32

33 83 300 36 1 Hinge, access panel, right rear

34 83 300 35 1 Hinge, access panel, left rear

35 99 024 52 4 Screw, #6-32 x 5/8" pan phillips nylock

36 83 300 33 1 Magnet, 14" square 1" long

37 83 30004 1 Plate, backup, hinge, heat shield

38 83 200 18 2 Plate, backup, hinge, left front and right
rear

39 83200 19 2 Plate, backup, hinge, left rear and right
front

40 8330013 1 Bracket, heat shield, rear

41 67 502 51 2 Base, screw, ¥%4"-20

42 83 300 56 2 Spacer, #6-32 inner diameter, 0.31" outer
diameter, 0.38" long

43 99 023 58 2 Screw, #6-32 x 7/16", flat phillips

44 83 200 95 1 Plate, cover, slide fixture

45 8320097 1 Washer, cover spring module—slide lock

46 83 200 98 1 Slide lock, sensor module

Page 5-24 Isolette® Infant Incubator Service Manual (man223:f)



High Front Access Hood Assembly with Two Access Doors and Two Iris Ports (“01” Series Model Only)
Chapter 5: Parts List

NOTES:

Isolette® Infant Incubator Service Manual (man223rf) Page 5-25



High Dual Access Hood Assembly with One Access Door and One Iris Port (“00” Series Model Only)
-Chapter 5: Parts List

High Dual Access Hood Assembly with One Access Door and One
Iris Port (“00” Series Model Only)

Figure 5-6. High Dual Access Hood Assembly with One Access Door and One Iris Port
- (‘00" Series Model Only)

Right-hand side view
(access door)

Left-hand side view
(iris port)

m223f065

Page 5- 26 Isolette® Infant Incubator Service Manual {man223rf)



High Dual Access Hood Assembly with One Access Door and One Iris Port (“00” Series Model Only)

Chapter 5: Farls List

Table 5-6. High Dual Access Hood Assembly

with One Access Door and One Iris Port (“00” Series Model Only)

Item Number | Part Number Quantity Description
1 83900 61 1 ' Replacement kit, dual access, iris port,
access door
2 83200 15 4 Keeper, access panel latch
3 8320010 1 Hinge, hood/access panel, right front
4 83200 11 1 Hinge, hood/access panel, left front
5 83200 12 1 Hinge, hood/access panel, left rear
6 83200 13 1 Hinge, hood/access panel, right rear
7 83 200 20 10 Grommet, access
8 68 120 76 1 Ring assembly, iris port, large flange
9 68 120 32 1 Ring, retaining, iris port, clear
10 68 120 57 1 Sleeve, iris port, disposable, soft
11 83 30005 1 Door, access
12 81 020 20 2 Clamp, cable, spring tie, nylon, 0.38"
inner diameter
13 8330011 1 Access door cuff, disposable, replaceable
14 83 300 07 1 Gasket, access door
15 83 30008 2 Pivot hinge, access door
16 68 510 10 1 Spring, torsion, 0.27" outer diameter,
0.03" wide, 0.365" long
17 99024 19 16 Screw, #6-32 x 9/16" truss phillips nylock
18 83 900 09 1 Replacement kit, access door latch
19 83300 15 1 Latch mount, access door
20 99 024 43 2 Screw, #6-32 x 5/8" truss phillips
21 99 042 92 8 Screw, #10-32 x 34" truss phillips
22 83 200 45 2 Slide assembly, sensor module
23 83200 42 1 Plate, cover, no calibration fixture
24 99 105 02 4 Nut, hex, #6-32
25 99 024 52 4 Screw, #6-32 x 5/8" pan phillips nylock
26 99 105 20 2 Nut, acorn, #6-32 aluminum
27 99024 18 2 Screw, #6-32 x 9/16" truss phillips
28 68 232 24 2 Standoff, #6-32 inner diameter, 0.38"

outer diameter, 0.44" long

Isolette® Infant Incubator Service Manual (man223rf)

Page 5-27




High Dual Access Hood Assembly with One Access Door and One Iris Port (“00” Series Model Only)

Chapter 5: Farlis List

Itemn Number | Part Number Quantity Description
29 83200 18 2 Plate, backup, hinge, left front and right
rear
30 8320019 2 Plate, backup, hinge, left rear and right
front
31 67 502 51 2 Base, screw, 14"-20
Page 5-28

Isolette® Infant Incubator Service Manual (man223rf)




High Dual Access Hood Assembly with One Access Door and One lris Port (“00” Series Model Only)
Chapter 5: Parts List

NOTES:

Isolette® Infant incubator Service Manual (man223rf) o ' Page 5- 29



High Dual Access Hood Assemnbly with One Access Door and One Iris Port (“01” Series Model Only)
Chapter 5: Parts List

High Dual Access Hood Assembly with One Access Door and One
Iris Port (“01” Series Model Only)

Figure 5-7. High Dual Access Hood Assembly with One Access Door and One Iris Port
(“01” Series Model Only)

> Left-hand side view
{(iris port)

Right-hand side vieW (a1

(access door) E— C

m223f066

Page 5- 30 . Isolette® Infant Incubator Service Manual (man223rf) -



High Dual Access Hood Assembly with One Access Door and One Iris Port (“01” Series Mode! Only)
Chapter 5: Parts List

Table 5-7. High Dual Access Hood Assembly
with One Access Door and One Iris Port (“01” Series Model Only)

Item Number | Part Number Quantity Deéscription

1 8320079 1 Hood assembly, high, dual access, iris
port left, access door right

2 83 900 61 1 Replacement kit, dual access, iris port
left, access door right

3 8320010 1 Hinge, hood/access panel, right front

4 8320011 1 Hinge, hood/access panel, left front

5 8320012 1 Hinge, hood/access panel, left rear

6 83 200 13 1 Hinge, hood/access panel, right rear

7 83 200 20 10 Grommet, access

8 68 120 76 1 Ring assembly, iris port, large flange

9 68 120 32 1 Ring, retaining, iris port, clear

10 68 120 57 1 Sleeve, iris port, disposable, soft

11 83 300 05 1 Door, access

12 81020 20 2 Clamp, cable, spring tie, nylon 0.38"
inner diameter

13 83 300 11 1 Access door cuff, disposable, replaceable

14 83 30007 1 Gasket, access door

15 83 300 08 2 Pivot hinge, access door

16 68 51010 1 Spring, torsion, (.27" outer diameter,
0.03" wide, 0.365" long

17 99024 19 8 Screw, #6-32 x 9/16" truss phillips nylock

18 83 900 09 1 Replacement kit, access door latch

19 83 300 15 1 Latch mount, access door

20 99 024 43 2 Screw, #6-32 x 5/8" truss phillips

21 99 042 92 ] Screw, #10-32 x 34" truss phillips

22 99 122 04 2 Washer, flat 0.15" inner diameter, 0.31"
outer diameter, 0.06" thick

23 83 200 45 2 Slide assembly, sensor module

24 99 10502 4 Nut, hex, #6-32

25 99 024 52 4 Screw, #6-32 x 5/8" pan phillips nylock

26 99 105 20 2 Nut, acorn, #6-32 aluminum

27 99 024 18 2 Screw, #6-32 x 9/16" truss phillips

Isolette® Infant Incubator Service Manual (man223rf) Page 5 - 31



High Dual Access Hood Assembly with One Access Door and One lIris Port (“01” Series Model Only)

Chapter 5: Paris List

Item Number | Part Number Quantity Description

28 68 23224 2 Standoff, #6-32 inner diameter, 0.38"
outer diameter, 0.44" long

29 8320018 2 Plate, backup, hinge, left front and right
rear

30 83 200 19 2 Plate, backup, hinge, left rear and right
front

31 67 502 51 2 Base, screw, 14"-20

32 83 300 56 4 Spacer, #6-32 inner diameter, 0.31" outer
diameter, 0.38" long

33 99 023 58 4 Screw, #6-32 x 7/16", flat phillips

134 83 20095 1 Plate, cover, slide fixture
35 83 200 97 1 Washer, cover spring module—slide lock
36 83 20098 i Slide lock, sensor module

-Page 5-32

Isolette® Infant Incubator Service Manual (man223rf)



High Dual Access Hood Assembly with One Access Door and One lris Port (01" Series Model Only)
Chapter 5: Parts List

NOTES:

Isolette® Infant Incubator Service Manual (man223rf) _ : Page 5- 33



High Dual Access Hood Assembly with Two Access Doors (“00” Series Model Only)
Chapter 5: Parts List

High Dual Access Hood Assembly with Two Access Doors (“00”
Series Model Only)

Figure 5-8. High Dual Access Hood Assembly with Two Access Doors
(“00” Series Model Only)

Left-hand side shown for clarity
of access door components.
m2231067

Page 5- 34 ' Isolette® Infant Incubator Service Manual (man223rf)



High Dual Access Hood Assembly with Two Access Doors (“00” Series Model Cnly)

Chapter 5: Parts List

Table 5-8. High Dual Access Hood Assembly with Two Access Doors
(“00” Series Model Only)

Item Number | Part Number Quantity Description

1 8320073 1 Hood assembly, high, dual access, access
doors left and right

2 83 200 31 1 Hood, high, dual access, access doors left
and right

3 83200 15 4 Keeper, access panel latch

4 8320010 1 Hinge, hood/access panel, right front

5 83200 11 1 Hinge, hood/access panel, left front

6 83200 12 1 Hinge, hood/access panel, left rear

7 8320013 1 Hinge, hood/access panel, right rear

8 8320020 10 Grommet, access

9 68 232 24 2 Standoff, #6-32 inner diameter, 0.38"
outer diameter, 0.44" long

10 8330005 2 Door, access

11 81 020 20 2 Clamp, cable, spring tie, nylon 0.38"
inner diameter

12 83300 11 2 Access door cuff, disposable, replaceable

13 83 300 07 2 Gasket, access door

14 83 300 08 4 Pivot hinge, access door

15 68 510 10 2 Spring, torsion, 0.27" outer diameter,
0.03" wide, 0.365" long

16 99024 19 20 Screw, #6-32 x 9/16" truss phillips nylock

17 83 900 09 2 Replacement kit, access door latch

18 8330015 2 Latch mount, access door

19 90 (024 18 2 Screw, #6-32 x 9/16" truss phillips

20 99 042 92 8 Screw, #10-32 x 34" truss phillips

21 99 (024 43 4 Screw, #6-32 x 5/8" truss phillips

22 83 200 45 2 Slide assembly, sensor module

23 83 200 42 1 Plate, cover, no calibration fixture

24 99 10502 4 Nut, hex, #6-32

25 99 024 52 4 Screw, #6-32 x 5/8" pan phillips

26 99 105 20 2 Nut, acorn, #6-32 aluminum

Isolette® Infant Incubator Service Manual (man223rf)

Page 5- 35




High Dual Access Hood Assembly with Two Access Doors (“00” Series Model Only)

Chapter 5: Parts List

Itema Number | Part Number Quantity Description
27 83200 18 Plate, backup, hinge, left front and right
rear
28 83 200 19 Plate, backup, hinge, left rear and right
front
29 67 502 51 Base, screw, 14"-20
Page 5- 36 Isolette® Infant Incubator Service Manual (man223ri}




High Dual Access Hood Assembly with Two Access Doors (“00” Series Model Only)
Chapter 5: Parts List

NOTES:

Isolette® Infant Incubator Service Manual (man223rf) Page 5 - 37



High Dual Access Hood Assembly with Two Access Doors (“01” Series Model Only)
Chapter 5. Parls List

High Dual Access Hood Assembly with Two Access Doors (“01”
Series Model Only)

Figure 5-9. High Dual Access Hood Assembly with Two Access Doors
(“01” Series Model Only)

Left-hand side view shown for clarity
of access door components.

m223f068

Page 5 - 38 Isoletie® Infant Incubator Service Manual (man223rf)



High Dual Access Hood Assembly with Two Access Doors (“01” Series Model Only)

Chapler 5: Parls List

- Table 5-9. High Dual Access Hood Assembly with Two Access Doors
(“01” Series Model Only)

Item Number { Part Number Quantity Description

1 83 200 80-R 1 Hood assembly, high, dual access, access
door left and right

2 83 200 31 1 Hood, high, dual access, access door left
and right

3 83200 10 1 Hinge, hood/access panel, right front

4 8320011 1 Hinge, hood/access panel, left front

5 8320012 1 Hinge, hood/access panel, left rear

6 8320013 1 Hinge, hood/access panel, right rear

7 83 20020 10 Grommet, access

8 68 232 24 2 Standoff, #6-32 inner diameter, 0.38"
outer diameter, 0.44" long

9 83 30005 2 Door, access

10 8102020 2 Clamp, cable, spring tie, nylon 0.38"
inner diameter

11 8330011 2 Access door cuff, disposable, replaceable

12 8330007 2 Gasket, access door

13 83 300 08 4 Pivot hinge, access door

14 68 51010 2 Spring, torsion, 0.27" outer diameter,
0.03" wide, 0.365" long

15 99024 19 12 Screw, #6-32 x 9/16" truss phillips nylock

16 83 900 09 2 Replacement kit, access door latch

17 83300 15 2 Latch mount, access door

18 99 024 18 2 Screw, #6-32 x 9/16" truss phillips

19 99 042 92 8 Screw, #10-32 x 34" truss phillips

20 99 024 43 4 Screw, #6-32 x 5/8" truss phillips

21 99 122 04 4 Washer, flat, 0.15" inner diameter, 0.31"
outer diameter, 0.06" thick

22 83 200 45 2 Slide assembly, sensor module

23 99 10502 4 Nut, hex, #6-32

24 99 024 52 4 Screw, #6-32 x 5/8" pan phillips nylock

25 99 105 20 2 Nut, acorn, #6-32 aluminum

Isolette® Infant Incubator Service Manual (man223rf)

Page 5 - 39




High Dual Access Hood Assembly with Two Access Doors (“01” Series Mode! Oniy)

Chapter 5: Parls List

Item Number | Part Number Quantity Description

26 83200 18 2 Plate, backup, hinge, left front and right
rear

27 83 200 19 2 Plate, backup, hinge, left rear and right
front

| 28 67 502 51 2 Base, screw, %4"-20

29 83 300 56 4 Spacer, #6-32 inner diameter, 0.31" outer
diameter, 0.38" long

30 99 023 58 4 Screw, #6-32 x 7/16", flat phillips

31 83 200 95 1 Plate, cover, slide fixture

32 83 200 97 1 Washer, cover spring module-—slide lock

33 83 200 98 1 Slide Iock, sensor module

Page 5 - 40

Isolette® Infant Incubator Service Manual (man223rf)



High Dual Access Hood Assembly with Two Access Doors (“01” Series Model Only)
Chapter 5: Parts List

NOTES:

Isolette® Infant Incubator Service Manual (man223if) ' Page 5 - 41



High Front Access Hood Assembly with Four Access Doors (“00” Series Mode! Only)

Chapter 5: Parts List

m
High Front Access Hood Assembly with Four Access Doors (“00”
Series Model Only)

Figure 5-10. High Front Access Hood Assembly with Four Access Doors
(“00” Series Model Only)

for clarity of e
access door components. | .-

Rear view
m223f070

Page 5-42 Isolette® Infant Incubator Service Manual (man223rf)



High Front Access Hood Assembly with Four Access Doors (“00” Series Model Only)

Chapter 5: Parts List

Table 5-10. High Front Access Hood Assembly with Four Access Doors
(“00” Series Model Only)

Itemm Number | Part Number Quantity Description

1 83 200 74 1 Hood assembly, high, front access, two
access doors, access door left and right

2 83 200 33 1 Hood, high, front access, two access
doors, access door left and right

3 8320015 2 Keeper, access panel latch

4 83 200 10 1 Hinge, hood/access panel, right front

5 83200 11 1 Hinge, hood/access panel, left front

6 83200 16 4 Hinge, hood, left, rear

7 33200 17 1 Hinge, hood, right, rear

8 83 300 05 4 Door, access

9 8330011 4 Access door cuff, disposable, replaceable

10 83 300 (7 4 Gasket, access door

11 83 300 08 8 Pivot hinge, access door

12 68 51010 4 Spring, torsion, 0.27" outer diameter, 0.3"
wide, 0.365" long

13 83 900 09 4 Replacement kit, access door latch

14 83300 15 4 Latch mount, access door

15 8320020 6 Grommet, access

16 68 232 24 1 Standoff, #6-32 inner diameter, 0.38"
outer diameter, 0.44" long

17 83001 10 1 Heat shield, access panel, high

18 81020 20 2 Clamp, cable, spring tie, nylon 0.38"
inner diameter

19 99 085 15 8 Screw, self-tapping, #6-32 x 3/8" flat
truss phillips

20 ‘| 99 088 67 2 Screw, self-tapping, #8 x 3/8" pan phillips

21 99 023 64 8 Screw, #6-32 x 7/16" truss phillips nylock

22 99024 18 1 Screw, #6-32 x 9/16" truss phillips

23 99 024 19 16 Screw, #6-32 x 9/16" truss phillips nylock

24 99 042 66 4 Screw, #10-32 x 5/8" truss phillips nylock

25 99042 92 8 Screw, #10-32 x 34" truss phillips

26 99 105 02 4 Nut, hex, #6-32

Isolette® Infant Incubator Service Manual (man223rf)

Page 5-43




High Front Access Hood Assembly with Four Access Doors (“00” Series Model Only)

Chapter 5: Parts List

Item Number | Part Number Quantity Description

27 83 30009 2 Latch, heat shield

28 83300 10 2 Hinge, heat shield

129 99 024 43 4 Screw, #6-32 x 5/8" truss phillips

30 99105 20 2 Nut, acorn, #6-32 aluminum

31 83 200 45 2 Slide assembly, sensor module

32 83 200 42 1 Plate, cover, no calibration fixture

33 99 024 52 4 Screw, #6-32 x 5/8" pan phillips nylock

34 8310045 2 Plate, hinge and magnet

35 83 300 33 1 Magnet, 4" square 1" long

36 83 30004 1 Plate, backup, hinge, heat shield

37 8320018 2 Plate, backup, hinge, left front and right
rear

38 8320019 2 Plate, backup, hinge, left rear and right
front .

39 83 300 13 11 Bracket, heat shield, rear

40 67 502 51 2 Base, screw, %4"-20

Page 5-44 -

isoletie® Infant Incubator Service Manual (man223rf)




High Front Access Hood Assembly with Four Access Doors (“00” Series Model Only)
' Chapter 5: Parts List

'NOTES:

Isolette® Infant Incubaior Service Manual (man223rf) _ Page5-45



High Front Access Hood Assembly with Four Access Doors (“01” Series Model Only)

Chapter 5: Parts List

High Front Access Hood Assembly with Four Access Doors (“01”
Series Model Only)

Figure 5-11. High Front Access Hood Assembly with Four Access Doors
(“01” Series Model Only)

Right-hand side view
shown for clarity of
access door components. | ,simso

Page 5 - 46 _ _ Isolette® Infant Incubator Service Manual (man223rf)



High Front Access Hood Assembly with Four Access Doors (“01” Series Model Only)

Chapter 5: Parts List

Tabile 5-11. High Front Access Hood Assembly with Four Access Doors
(“01” Series Model Only)

Item Number | Part Number Quantity Description

1 83200 81 i Hood assembly, high, front access, two
access doors, access door left and right

2 83 200 54 1 Hood, high, front access, two access
doors, access door left and right

3 8320010 1 Hinge, hood/access panel, right front

4 8320011 1 Hinge, hood/access panel, left front

5 8320012 1 Hinge, hood/access panel, left rear

6 8320013 1 Hinge, hood/access panel, right rear

7 83 300 05 4 Door, access

8 8330011 3 Access door cuff, disposable, replaceable

9 83 300 07 3 Gasket, access door

10 83 30008 8 Pivot hinge, access door

11 68 510 10 4 Spring, torsion, 0.27" outer diameter,
0.03" wide, 0.365" long

12 83 900 09 4 Replacement kit, access door latch

13 83300 15 4 Latch mount, access door

14 83 200 20 6 Grommet, access

15 68 23224 1 Standoff, #6-32 inner diameter, 0.38"
outer diameter, 0.44" long

16 83001 11-R 1 Replacement heat shield, access panel

17 8102020 2 Clamp, cable, spring tie, nylon 0.38"
inner diameter

18 99 088 67 4 Screw, self-tapping, #8 x 3/8" pan phillips

19 99 023 51 2 Screw, #6-32 x 3/8" truss phillips nylock

20 99 023 64 8 Screw, #6-32 x 7/16" truss phillips nylock

21 99 024 18 1 Screw, #6-32 x 9/16" truss phillips

22 99024 19 16 Screw, #6-32 x 9/16" truss phillips nylock

23 99 042 66 4 Screw, #10-32 x 5/8" truss phillips nylock

24 09 042 92 8 Screw, #10-32 x 34" truss phillips

25 99 105 02 4 Nut, hex, #6-32

26 8330009 2 Latch, heat shield

27 83 300 10 2 Hinge, heat shield

Isolette® Infant Incubator Service Manual {man223rf)

Page 5-47




High Front Access Hood Assembly with Four Access Doors (“01” Series Model Only)
Chapter 5: Parts List

Item Number | Part Number Quantity Description
28 99024 43 4 Screw, #6-32 x 5/8" truss phillips
129 99 105 20 2 Nut, acorn, #6-32 aluminum

30 99 122 04 4 Washer, flat, 0.15" inner diameter, 0.31"
outer diameter, 0.06" thick nylon

31 83 200 45 2 Slide assembly, sensor module

32 83 300 36 1 Hinge, access panel, right rear

33 83 300 35 1 Hinge, access panel, left rear

34 99 024 52 4 Screw, #6-32 x 5/8" pan phillips nylock

35 83300 33 1 Magnet, %" square, 1" long

36 83 300 04 1 Plate, backup, hinge, heat shield

37 8320018 2 Plate, backup, hinge, left front and right
rear

38 83 200 19 2 Plate, backup, hinge, left rear and right
front

-39 8330013 1 Bracket, heat shield, rear
.| 40 | 67 502 51 2 Base, screw, 14-20

41 83 300 56 2 Spacer, #6-32 inner diameter, 0.31" outer
diameter, 0.38" long

42 99 023 58 2 Screw, #6-32 x 7/16", flat phillips

43 83 200 95 1 Plate, cover, slide fixture

44 83 200 97 1 Washer, cover spring module—slide lock

45 83 200 98 1 Slide lock, sensor module

Page 5- 48 Isolette® Infant Incubator Service Mah&al (man223rf)



High Front Access Hood Assembly with Four Access Doors (“01” Series Model Only)
Chapter 5: Parts List

NOTES:

Isolette® Infant incubator Service Manual (man223rf) Page 5-49



Access Panel Front Assembly (“00” Series Model Only)

Chapter 5: Parts List

Access Panel Front Assembly (“00” Series Model Oniy)

Figure 5-12. Access Panel Front Assembly (“00” Series Model Only)

m223f056

Page 5 - 50 Isolette® Infant Incubator Service Manual (man223rf)



Access Panel Front Assembly (“00” Series Model Only)
Chapter 5: Parts List

- Table 5-12. Access Panel Front Assembly (“00” Series Model Only)

Item Number | Part Number Quantity Description

1 83 300 70-R 1 | Access panel assembly high, front

2 83 300 00 1 Access panel, high

3 83 300 05 2 Door, access

4 83300 11 2 Access door cuff, disposable, replaceable

5 83 300 (7 2 Gasket, access door

6 83 300 08 4 Pivot hinge, access door

7 68 510 10 2 Spring, torsion, 0.27" outer diameter,
0.03" wide, 0.365" long

83 900 09 2 Replacement kit, access door latch
8330015 2 Latch mount, access door

10 83 300 26 2 Lower body, access panel latch

11 83 300 25 2 Upper body, access panel latch

12 83 900 08 2 Replacement kit, access panel latch

13 83 300 29 2 Spring, compression, 0.18" outer diame-
ter, 0.014" wide, 1%2" long

14 83 300 33 1 Magnet, 4" square, 1" long

15 8330030 1 Hinge, access panel, right front

16 83 300 31 1 Hinge, access panel, left front

17 83 300 09 2 Latch, heat shield

18 83300 10 2 Hinge, heat shield

19 83001 10 1 Heat shield, access panel, high

20 99 023 51 2 Screw, #6-32 x 3/8" truss phillips nylock

21 99 085 21 4 Screw, self-tapping, #6 x 3/8" pan phillips

22 99 023 64 12 Screw, #6-32 x 7/16" truss phillips nylock

23 99 024 19 4 Screw, #6-32 x 9/16" truss phillips nylock

24 99 042 66 4 Screw, #10-32 x 5/8" truss phillips nylock

25 83 300 04 1 Plate, backup, hinge, heat shield

26 83300 12 1 Bracket, heat shield, front

27 83 300 57 2 Spacer, #6-32 inner diameter, 0.31" outer
diameter, ¥2" long

28 99 023 63 2 Screw, #6-32 x 7/16" truss phillips

Isolette® Infant Incubator Service Manual (man223rf) Page 5 - 51



Access Panel Front Assembly (“01” Series Model Only)

Chapter 5: Parts List

Access Panel Front Assembly (“01” Series Model Only)

Figure 5-13. Access Panel Front Assembly (“01” Series Model Only)

m223f(59

Page 5 - 52 Isolette® Infant Incubator Service Manual (man223rf)



Access Panel Front Assembly (“01” Series Model Only)

Chapter 5: Parts List

Table 5-13. Access Panel Front Assembly (“01” Series Model Only)

Item Number | Part Number Quantity Description

1 83 300 76-R 1 Replacement access panel assembly,
high, front

2 83 300 00 1 Access panel, high

3 8330005 2 Door, access

4 83300 11 2 Access door cuff, disposable, replaceable

5 83 300 07 2 Gasket, access door

6 83 30008 4 Pivot hinge, access door

7 68 51010 2 Spring, torsion, 0.27" outer diameter,
0.03" wide, 0.365" long

83 900 09 2 Replacement kit, access door latch
83300 15 2 Latch mount, access door

10 8330033 1 Magnet, 4" square, 1" long

11 83 300 30 1 Hinge, access panel, right front

12 83 300 31 1 Hinge, access panel, left front

13 83 30009 2 Latch, heat shield

14 8330010 2 Hinge, heat shield

15 83001 10 1 Heat shield, access panel, high

16 99 023 51 2 Screw, #6-32 x 3/8" truss phillips nylock

17 99 088 67 4 Screw, self-tapping, #8 x 3/8" pan phillips

18 99 023 64 8 Screw, #6-32 x 7/16" truss phillips nylock

19 99024 19 4 Screw, #6-32 x 9/16" truss phillips nylock

20 99 042 66 4 Screw, #10-32 x 5/8" truss phillips nylock

21 83 300 04 1 Plate, backup, hinge, heat shield

22 8330012 1 Bracket, heat shield, front

23 83 300 57 2 Spacer, #6-32 inner diameter, 0.31" outer
diameter, 2" long

24 99 023 63 2 Screw, #6-32 x 7/16" truss phillips

25 68 902 96 2 Knob and latch replacement kit, access
panel

Isolette® Infant incubator Service Manual (man223rf)

Page 5-53




Access Panel Rear Assembly (“00” Series Model Only)
Chapter 5: Parts List

D e

Access Panel Rear Assembly (“00” Series Model Only)

- Figure 5-14. Access Panel Rear Assembly (“00” Series Model Only)

m223f058

Page 5- 54  Isolette® Infant Incubator Service Manual (man223rf)



Access Panel Rear Assembly (“00” Series Mode! Only)

Chapter 5: Parts List

Table 5-14. Access Panel Rear Assembly (“00” Series Model Only)

Item Number { Part Number Quantity Deséription

1 83300 71-R 1 Access panel assembly high rear

2 83 300 00 1 Access panel, high

3 83 300 05 2 Door, access

4 83300 11 2 Access door cuff, disposable, replaceable

5 83 30007 2 Gasket, access door

6 83 300 08 4 Pivot hinge, access door

7 68 510 10 2 Spring, torsion, 0.27" outer diameter,
0.03" wide, 0.365" long

8 83 900 09 2 Replacement kit, access door latch

9 83300 15 2 Latch mount, access door

10 83 300 26 2 Lower body, access panel laich

11 83 300 25 2 Upper body, access panel latch

12 83 900 08 2 Replacement kit, access panel latch

13 83 300 29 2 Spring, compression, 0.18" outer
diameter, 0.014" wide, 1%2" long

14 83300 33 1 Magnet, 4" square 1" long

15 83 30035 1 Hinge, access panel, left rear

16 83 300 36 1 Hinge, access panel, right rear

17 83 300 09 2 Latch, heat shield

18 83300 10 2 Hinge, heat shield

19 83001 10 1 Heat shield, access panel, high

20 99 023 51 2 Screw, #6-32 x 3/8" truss phillips nylock

21 99 088 67 4 Screw, self-tapping, #8 x 3/8" pan phillips

22 99 023 64 12 Screw, #6-32 x 7/16" truss phillips nylock

23 99 024 19 4 Screw, #6-32 x 9/16" truss phillips nylock

24 99 042 66 4 Screw, #10-32 x 5/8" truss phillips nylock

25 83 30004 1 Plate, backup, hinge, heat shield

26 83300 13 1 Bracket, heat shield, rear

27 83 300 57 2 Spacer, #6-32 inner diameter, 0.31" outer
diameter, ¥2" long

28 99 023 63 2 Screw, #6-32 x 7/16" truss phillips

Isolette® Infant Incubator Service Manual (man223rf)

Page 5 - 55




Access Panel Rear Assembly (‘01" Series Mode! Only)
Chapter &: Paris List

e ...,

Access Panel Rear Assembly (“01” Series Model Only)

Figure 5-15. Access Panel Rear Assembly (“01” Series Model Only)

m?223f053

Page 5 - 56 - Isolette® Infant Incubator Service Manual (man223rf)



Access Panel Rear Assembly (“01” Series Model Only)

Chapter 5: Parts List

Table 5-15. Access Panel Rear Assembly (“01” Series Model Only)

Item Number | Part Number Quantity Description

1 83300 77-R 1 Replacement access panel assembly,
high, rear

2 83 300 52-R 1 Replacement access panel, high

3 83 300 05 2 Door, access

4 83 300 11 2 Access door cuff, disposable, replaceable

5 83 30007 2 Gasket, access door

6 83 300 08 4 Pivot hinge, access door

7 68 510 10 2 Spring, torsion, 0.27" outer diameter,
0.03" wide, 0.365" long

83 900 09 2 Replacement kit, access door latch
83300 15 2 Latch mount, access door

10 8330033 1 Magnet, 14" square, 1" long

11 83 300 35 1 Hinge, access panel, left rear

12 83300 36 1 Hinge, access panel, right rear

13 83 300 09 2 Latch, heat shield

14 83300 10 2 Hinge, heat shield

15 83001 11-R 1 Replacement heat shield, access panel

16 99 023 51 2 Screw, #6-32 x 3/8" truss phillips nylock

17 99 088 67 4 Screw, self-tapping, #8 x 3/8" pan phillips

18 99 023 64 8 Screw, #6-32 x 7/16" truss phillips nylock

19 99024 19 4 Screw, #6-32 x 9/16" truss phillips nylock

20 99 042 66 4 Screw, #10-32 x 5/8" truss phillips nylock

21 83 300 04 1 Plate, backup, hinge, heat shield

22 83300 13 1 Bracket, heat shield, rear

23 83 300 57 2 Spacer, #6-32 inner diameter, 0.31" inner
diameter, 12" long

24 99 023 63 2 Screw, #6-32 x 7/16" truss phillips

25 68 902 96 2 Knob and latch replacement kit, access

panel

Isolette® Infant Incubator Service Manual (man223rf)

Page 5 - 57




Shell Assembly (“00”, "01", and “02” Series Models Only)

Chapter 5: Parts List

Shell Assembly (“00”, “01”, and “02” Series Models Only)

. Figure 5-16. Shell Assembly (“00”, “01”, and “02” Series Models Only)

Shell top shown 2%
upside down N
for clarity.

Page & - 58 . - Isolette® Infant Incubator Service Manual {man223rf)



Shell Assembly (“00", “01”, and “02” Series Models Only)
Chapter 5: Parts List

Table 5-16. Shell Assembly (“00”, “01”, and “02” Series Models Only)

Item Number | Part Number Quantity Description
1 83 100 70-R 1 Replacement shell assembly (“00” and
“01” series models only)
83100 73 1 Shell assembly (“02” series models only)
8310074 1 Shell assembly, barn door (optional)
83900 01 1 Replacement kit, shell top, English
(English model only)
5 8390002 1 Replacement kit, shell top, Spanish
(Spanish model only)
6 83 900 03 1 Replacement kit, shell top, France
(French model only)
7 83900 04 1 Replacement kit, shell top, German

(German model only)

8 8310010 1 Door, access, filter

9 83 100 11 1 Door, access, pneumatic module

10 83 10003 1 Deck

11 83900 12 1 Replacement kit, scroll cover

12 83 100 15 1 Bracket, pivot, right (“00” and “01” series

models only)

13 83 102 70-R 1 Bracket, pivot/hood lock assembly (“02”
series models only)

14 83100 16 1 Bracket, pivot, left

15 83 100 20 1 Extrusion, bumper

16 83 100 25 1 Manifold, oxygen

17 01017 00 2 Connector, barb, 14" hose x 1/8"

18 83 100 41 1 Door, humidity cover

19 83900 16 1 Replacement kit, check valve assembly

20 8310021 1 Hose, corrugated, 22 mm inner diameter
X 12 mm long

21 83900 11 2 Lift bar kit

22 83900 15 1 Replacement motor kit

23 83 100 69 1 Clamp, hose, wire (for 3/8" outer
diameter)

24 83 100 60 1 Wiring harness assembly, AC

Isolette® Infant Incubator Service Manual (man223rf) Page 5 - 59



Shell Assembly (“00”, “01", and “02” Series Models Only)
Chapter 5: Parts List

Item Number | Part Number Quantity Description

25 68 23024 4 Isolator, vibration, 0.44" outer diameter,
0.44" long, 4 1b

26 83101 30 1 Filter, replacement

27 83900 24 2 Retrofit kit, tilt mechanism

28 8311085 2 Knob assembly, mattress tilt (“00”, “01”,
and “02” series models only)

29 8311020 2 Knob, mattress tilt (barn door option
only) |

30 83110 21 2 Shaft, knob (barn door option only)

31 83 102 80 1 Probe, impeller movement detector

32 83 100 48 1 Cable assembly, AC harness to controller

33 83 10053 1 Cable assembly, incubator motor to
controller

34 83 100 49 1 Cable assembly, sensor module to

' controller

35 99 031 05 4 Screw, #8-32 x 5/16" truss phillips

36 99 031 99 6 Screw, #8-32 x %", truss phillips nylock

37 99 031 53 2 Screw, #8-32 x 3/8" cap nylock

38 83 100 55 2 Screw, panel, #8-32 x 0.875" long

39 99 040 91 6 Screw, #10-32 x 5/16" pan phillips
nylock

40 99 042 05 2 Screw, #10-32 x 12" truss phillips nylock

41 99 042 08 2 Screw, #10-32 x 2" pan phillips nylock

42 99 055 96 4 Screw, 14"-20 x 14" truss phillips nylock

43 99 122 92 4 Washer, lock, internal, #8

44 99 105 34 2 Nut, hex, #6-32 keps

45 83 100 09 2 Plate, mounting, hall effect

46 96 12779 2 Washer, flat, 0.516" inner diameter, 0.88"
outer diameter, 0.01" thick nylon

47 99 182 61 2 Ring, retaining, external “E”,

48 99 900 26 2 Tape, pipe junction seal, Teflon®’, 12"

49 83 100 42 1 Spring, formed, humidity door

a. Teflon® is a registered trademark of E. I. du Pont and de Nemours and Company.

Page 5-60 | Isolette® Infant Incubator Service Manual (man223rf)



Shell Assembly (“00”, “01”, and “02” Series Models Only)
Chapter 5: Parts List

Item Number | Part Number Quantity Description

50 99 123 94 8 Washer, lock, external, #10

51 99 160 08 2 O-ring, 1/8" x 14" x 1/16"

52 99 (022 83 2 Screw, #6-32 x %" pan phillips, sems

53 99 010 67 2 Screw, #4-40 x %" truss phillips nylock

54 17 683 51 2 Switch, magnetic reed

55 99 024 19 1 Screw, #6-32 x 9/16" truss phillips nylock

56 99 122 04 2 Waskher, flat, 0.15" inner diameter, 0.31"
outer diameter, 0.06" thick .

57 83 100 65-R 1 Bead chain assembly

58 17 725 44 2 Clip, cord retaining

59 83 100 68 1 Plug, 7/16"-14, 1.06" large

60 99 127 78 1 Washer, flat, 0.536" inner diameter, 1%2"
outer diameter, 0.05" thick

61 83 100 44 1 Nut, wing, 7/16"-14, nylon

62 83100 12 1 Handle, left

63 83100 13 1 Handle, right

64 99 042 88 8 Screw, #10-32 x 34" truss phillips

Isolette® Infant Incubator Service Manual (man223rf) Page 5 - 61



Shell Assembly ("03” Series Model Only)
Chapter 5: Parts List

Shell Assembly (“03” Series Model Only)

Figure 5-17. Shell Assembly (“03” Series Model Only)

m2234003

Page 5- 62 ' Isolette® Infant Incubator Service Manbal {man223r)



Shell Assembly (“03” Series Mode! Only)

Chapter 5: Parts List

Table 5-17. Shell Assembly (“03” Series Model Only)

Item Number | Part Number Quantity Description
1 99 032 57 3 Screw, #8-32 x 5/8", truss phillips nylock
12 83 100 11 1 Door, access, pneumatic module

3 68 21205 i Label, ground symbol, functional

4 99 055 %6 4 Screw, %4"-20 x 14" truss phillips nylock

5 8310002 1 Shell, bottom

6 9912204 2 Washer, flat, 0.15" inner diameter, 0.31"
outer diameter, 0.06" thick nylon

7 99 022 83 2 Screw, #6-32 x %" pan phillips, sems

8 8310041 1 Door, humidity cover

9 8310042 1 Spring, formed, humidity cover

10 83100 16 1 Bracket, pivot, left

11 99 042 08 2 Screw, #10-32 x %" pan phillips nylock

12 99 042 05 2 Screw, #10-32 x %" truss phillips nylock

13 83100 03 1 Deck

14 83100 15 4 Bracket, pivot, right

15 83600 11 1 Lift bar kit

16 83 100 04 1 Cover, scroll

17 83 100 69 1 Clamp, hose, wire (for 3/8" outer diame-
ter)

18 83102 85 1 Impeller assembly

19 83 102 70-R 1 Bracket, pivot/hood lock assembly

20 83 100 20 2 Extrusion, bumper

21 3390016 1 Replacement kit, check valve assembly

22 01 017 00 2 Connector, barb, %" hose x 1/8"

23 99 900 26 Asrequired | Tape, pipe junction seal, Teflon®", 15"

24 83 100 25 1 Manifold, oxygen

25 83 100 65-R 1 Bead chain assembly

26 83 101 30 1 Filter, replacement

27 99 160 08 1 O-ring, 1/8" x 14" x 1/16"

28 83100 10 1 Door, access, filter

29 83 100 55 1 Screw, panel, #8-32 x 0.875" long

a. Teflon® is a registered trademark of E. I. du Pont and de Nemours and Company.

Isolette® Infant Incubator Service Manual (man223rf)

Page 5 - 63




Top Shell Assembly ("03” Series Model Cnly)
Chapter 5: Parts List

Top Shell Assembly (“03” Series Model Only)

Figure 5-18. Top Shell Assembly (“03” Series Model Only}

m223d0302

Page 5- 64 E Isolette® Infant Incubator Service Manual (man223rf)



Top Shell Assembly (“03” Series Model Only)
Chapter 5: Paris List

Table .5-1 8. Top Shell Assembly (“03” Series Model Only)

Item Number | Part Number Quantity Description

1 99 031 53 2 Screw, #8-32 x 3/8" cap nylock

2 8311020 2 Knob, mattress tilt

3 8311021 2 Shaft, knob

4 9912779 2 Washer, flat, 0.516" inner diameter, 0.88"
outer diameter, 0.01" thick nylock

5 99 182 61 2 Ring, retaining, external “E”

6 83 100 68 1 Plug, 7/16"-14, 1.06" long

7 99 024 19 1 Screw, #6-32 x 9/16" truss phillips nylock

8 83102 80 1 Probe, impeller movement detector

9 83 100 48 1 Cable assembly, AC harness to controller

10 83 10025 1 Manifold, oxygen

11 83 100 53 1 Cable assembly, incubator motor to
controller

12 83 100 49 i Cable assembly, sensor module to
controller

13 17 683 51 1 Switch, magnetic reed

14 83 10009 1 Plate, mounting, hall effect

15 8310013 1 Handle, right

16 99 010 67 2 Screw, #4-40 x %" truss phillips nylock

17 99 105 34 1 Nut, hex, #6-32 keps

18 83 900 24 2 Retrofit kit, tilt mechanism

19 99 040 91 4 Screw, #10-32 x 5/16" pan phillips
nylock

20 0912292 4 Washer, lock, internal, #8

21 90 03105 4 Screw, #8-32 x 5/16" truss phillips

22 68 230 24 4 Isolator, vibration, 0.44" outer diameter,
0.44" long, 4 Ib

23 83900 15 1 Replacement motor kit

24 83 100 21 1 ' Hose, corrugated, 22 mm inner diameter
X 12 mm long

25 83100 44 1 Nut, wing, 7/16"-14, nylon

26 9012778 1 Washer, flat, 0.536" inner diameter, 114"
outer diameter, 0.05" thick

Isolette® Infant Incubator Service Manual (man223rf) Page 5 - 65



Top Shell Assembly (“03” Series Model Only)

Chapter 5: Parts List

Item Number | Part Number Quantity Description

27 83 100 00 1 Shell top, modification

28 99 042 88 4 Screw, #10-32 x 34" truss phillips
29 09 123 94 4 Washer, lock, external, #10

30 83100 12 1 Handle, left

31 17725 44 8 Clip, cord retaining

Page 5 - 66

Isolette® Infant Incubator Service Manual (man223rf)



Top Shell Assembly ("03” Series Model Only)
Chapter 5; Parts List

NOTES:

Isolette® Infant Incubator Service Manual (man223rf) : : _ " Page 5- 67



Controflar Assembly (Model C2C-2 Only)
Chapter 5: Paris List

Controller Assembly (Model C2C-2 Only)

Figure 5-19. Controller Assembly (Model C2C-2 Only)

m223f012

Page 5 - 68 Isolette® Infant Incubator Service Manual (man223rf)



Controller Assembly (Mode! C2C-2 Only)

Chapter 5: Parts List

Table 5-19. Controller Assembly (Model C2C-2 Only)

Item Number | Part Number Quantity Description

1 83 02083 1 Front panel assembly, electroluminescent
display

2 99 010 68 6 Screw, #4-40 x %4" pan phillips

3 83 020 82-R 1 Interface/power supply module

4 99 (010 56 4 Screw, #4-40 x 14", truss phillips

5 83 020 81 1 Enclosure assembly, controller

6 83001 01 1 Tray, mattress

7 99 116 27 4 Jack screw, #4-40

8 Reference only | Asrequired | Loctite® adhesive #222

9 83 020 16 2 Cap, vinyl, 13" inner diameter x 34" long

10 8302099 1 Label, SPO, connector cover

11 8302097 1 Cable assembly, ribbon, interface, central
processing unit

12 84 452 82 1 Pad, locking 2.00" x 12"

i3 83 006 76 1 Controller assembly

a. Loctite® is a registered trademark of Loctite Corporation,

Isolette® Infant Incubator Service Manual (man223rf)

Page 5 - 639




. Enclosure Assembly (Model C2C-2 Only)

Chapter 5: Parts List

Enclosure Assembly (Model C2C-2 Only)

Figure 5-20. Enclosure Assembly (Model C2C-2 Only)

m223f015

Page 5- 70 Isolette® Infant Incubator Service Manual (man223rf)



Enclosure Assembly (Model C2C-2 Only)
Chapter 5: Parts List

Table 5-20. Enclosure Assembly (Model C2C-2 Only)

Hem Number | Part Number Quantity Description

1 8302093 1 Cable assembly, power switch, controller

2 8302080 1 Enclosure, controller

3 83 02092 1 Cable assembly, IEC connector,
controller

4 9901070 2 Screw, #4-40 x %" flat phillips nylock

5 09122 19 1 Washer, lock, internal #6

6 99 105 02 1 Nut, hex, #6-32

7 99122 16 1 Washer, lock, #6

8 99 010 36 1 Screw, #4-40 x 3/16", truss phillips

9 99121 35 H ‘Washer, lock, internal #4

i0 17731 50 1 Terminal, male, double, right angle 14"

11 83 020 07 1 Insulator, controller case

12 99 103 00 4 Nut, hex, #4-40

13 _ Reference only | As required Loctite@’ adhesive #222

14 99 160 18 4 O-ring, 3/32" x 7/32" x 1/16"

15 8302091 1 Fan assembly, air supply controller

16 8302094 1 Gasket, fan

17 8302081 1 Enclosure assembly, controller

a. Loctite® s a registered trademark of Loctite Corporation.

Isoletie® Infant Incubator Service Manual (man223rf) : Page 5-71



Front Panel Assembly (Madel C2C-2 Only)
Chapter 5: Parts List

Front Panel Assembly (Model C2C-2 Only)

Figure 5-21. Front Panel Assembly (Model C2C-2 Only)

11

m2231014

Page 5- 72 ~ Isolette® Infant Incubator Service Manual (man223rf)



Front Panel Assembly (Model C2C-2 Only)

Chapter 5: Parts List

Table 5-21. Front Panel Assembly (Model C2C-2 Only)

Item Number | Part Number Quantity Description

1 83 020 86 i Switch, membrane

2 Reference only | As required | RTV compound

3 83 020 85 1 Faceplate, controller, electroluminescent
display

4 83 020 89 1 Gasket, electroluminescent display

5 83 020 90 1 Gasket, controller faceplate

6 99 010 66 12 Screw, #4-40 x 14" pan phillips sems

7 83 010 70 1 Display assembly, scale

8 Reference only | Asrequired | Hot melt glue

9 83 009 00 1 Display, electroluminescent 320" wide x
240" high

10 99116 31 4 Standoff, #4-40 inner diameter x %" high

1 83020 83 1 Front panel assembly, electroluminescent

display

Isolette® Infant Incubator Service Manual (man223rf)

Page 5-73




Interface/Power Supply Assembly (Model C2C-2 Only)
Chapter 5: Parts List

Interface/Power Supply Assembly (Model C2C-2 Only)

Figure 5-22. Interface/Power Supply Assembly (Model C2C-2 Only)

m223d013

Table 5-22. Interface/Power Supply Assembly. (Model C2C-2 Only)

Item Number | Part Number Quantity Description

i 99 121 48 14 Washer, cup, 0.12" inner diameter, 0.305"
outer diameter, nylon

2 99 011 08 14 Screw, #4-40 x 3/8", round phillips

3 8301970 1 P.C. board assembly, power supply

4 99 116 50 4 Standoff, #4-40 inner diameter, 4" high

5 - 83018 70 1 P.C. board assembly, interface

6 99 116 52 3 Standoff, #4-40 inner diameter, %" high
nylon

7 83 020 82-R 1 Interface/power supply module

Page 5- 74 _ : Isolette® Infant incubator Service Manual (man223rf)



Interface/Power Supply Assembly (Model C2C-2 Only)
Chapler 8: Parts List

NOTES:

Isolette® Infant Incubator Service Manual (man223rf) Page 5-75



Sensor Module Assembly
Chapter 5: Paris List

Sensor Module Assembly

23. Sensor Module Assembly

Figure 5

19

m223f007

Isolette® Infant incubator Service Manual (man223rf)

Page 5-76



Sensor Module Assembly
Chapfter 5: Parts List

Table 5-23. Sensor Module Assembly

Item Number | Part Number Quantity Description

1 99 023 94 2 Screw, #6-32 x 12", flat phillips

2 99 024 98 4 Screw, #6-32 x 15/16", pan phillips
nylock

3 83 005 30 1 Cable assembly, sensor module

4 83 005 52 1 Bottom cover, sensor module

5 83 005 57 1 Label, identification, scale

6 83 004 70 1 P.C. board assembly, connector board

7 8300370 1 P.C. board assembly, humidity board

8 83005 46 | Fan assembly, 40 mm x 40 mm x 10 mm

9 99 01232 4 Screw, #4-40 x 1", pan phillips nylock

10 83 005 62 1 Label, skin temperature 1 and 2

11 83 005 60 1 Label, skin temperature 2

12 83 005 61 1 Label, skin temperature 1

13 83 005 32 1 Lens, LED, white, sensor moduie

14 83 005 51 1 Top cover, sensor module

15 83 005 70 1 P.C. board assembly, sensor module

16 83 005 34 1 Cable assembly, oxygen cell

17 17 735 65 1 Strain relief, right angle, 4" - 0.29"
diameter -

18 83 005 55 1 Plate, without oxygen, sensor module

19 83 005 50 1 Sensor module assembly

Isolette® Infant Incubator Service Manual (man223ri) _ Page 5-77



Pedestal Stand Assembly (“00” Series Model Only)

Chapter 5: Parts List

Pedestal Stand Assembly (“00” Series Model Only)

Figure 5-24. Pedestal Stand Assembly (“00” Series Model Only)

m223f071

Page 5-78 Isolefte® Infant Incubator Service Manual {man223rf)



Pedestal Stand Assembly (‘00" Series Model Only)

Chapter 5: Parts List

Table 5-24. Pedestal Stand Assembly (“00” Series Model Only)

Item Number | Part Number Quantity Description

1 83 42070 1 Pedestal stand assembly, 120V (120V
model only)

2 83 420 80 1 Pedestal stand assembly, 220V (220V
model only)

3 83 900 50 1 Replacement kit, upper transition plate

4 83 400 03 1 Column, upper, variable height adjustable

5 83420 18 I Cable assembly, AC top, fixed

6 8340001 2 Leg, base, machining

7 8340002 1 Caster, swivel, 5" diameter, without brake

8 83400 09 3 Caster, swivel, 5" diameter, with brake

9 78 26515 1 Bushing, shoulder, plastic, 1%4" inner
diameter

10 83400 15 1 Plate, transition, bottom

11 83 42000 1 Extrusion, column, weldment

12 17 AZ 205 1 Cable assembly, AC power cord, grade,
15A

13 17A7Z 207 1 Cable assembly, AC power, VDE, grade,
15A

14 17 733 88 1 Strain relief, straight, adjustable up to
0.4" diameter

15 17 BH 213 1 Circuit breaker, 15A 250/28 V

16 17 062 26 1 Clamp, cable, loop tie, nylon, %" inner

' diameter

17 99023 51 1 Screw, #6-32 x 3/8" truss phillips nylock

18 99 031 52 4 Screw, #8- 32 x 3/8" truss phillips nylock

19 99 041 29 4 Screw, #10-32 x 3/8" cap hex

20 99 057 33 4 Screw, 14"-20 x 7/8" truss phillips nylock

21 83 500 15 2 Label, warning, wheel lock locator

22 99 901 77 Asrequired | Loctite®" adhesive #2472

23 99 105 34 6 Nut, hex, #6-32 keps

24 99 055 77 8 Screw, 14"-20 x 2" cap

25 00 122 93 4 Washer, lock, external, #8

a. Loctite® is a registered trademark of Loctite Corporation.

Isolette® Infant Incubator Service Manual (man223rf)

Page 5-79




Pedestal Stand Assembly (“00” Series Model Only)
Chapter 5: Parts List

Item Number | Part Number Quantity * Description

26 99 123 94 4 ‘Washer, lock, external, #10

27 99 900 54 1 Bag, cloth, 5" x 7"

28 99 12554 4 Washer, Iock, internal, 14"

29 68 212 00 2 Label, ground symbol, protective

30 68 21205 1 Label, ground symbol, functional

31 83 500 10 1 Label, ground reliability

32 83 500 41 1 Label, data tag, non-CE (120V model
only)

33 83 500 40 1 Label, data tag, CE mark (220V model
only)

34 99 059 11 1 Screw, %4"-20 x 134" cap hex nylock

35 83 500 39 1 Label, shock hazard

36 68 160 05 1 Label, manual reference symbol

37 99 023 03 2 Screw, #6-32 x 5/16" truss phillips nylock

38 83 400 19 1 Cleat, power cord

39 83 500 20 1 Label, auxiliary power outlet, 120V
{120V model only)

40 83 500 21 1 Label, auxiliary power outlet, 220V-
240V (220V model only)

Page 5- 80 _ Isolette® Infant Incubator Service Manual (man223rf)



Pedestal Stand Assembly (“00” Series Model Only)
Chapter 5: Parts List

NOTES:

Isolette® infant Incubator Service Manual (man223rf) - . Page 5-81



Pedestal Stand Assembly (“01” Series and Higher Models Only)
Chapter 5: Parts List

Pedestal Stand Assembly (“01” Series and Higher Models Only)

- Figure 5-25. Pedestal Stand Assembly (“01” Series and Higher Models Only)

m2231046

Page 5 - 82 _ Isolette® Infant Incubator Service Manual (man223rf)



Pedestal Stand Assembly (‘01" Series and Higher Models Only)
Chapter 5: Parts List

Table 5-25. Pedestal Stand Assembly
(“01” Series and Higher Models Only)

Item Number | Part Number Quantity ' Description

1 83 420 70 1 Pedestal stand assembly, 120V (120V
model only) (English model only)

2 83420 80 1 Pedestal stand assembly, 220V (220V

model only) (English, Spanish, French,
German, and Italian models only)

3 8342082 1 Pedestal stand assembly, 220V (220V
model only) (Swedish, Dutch, and Danish
models only)

4 8342083 1 Pedestal stand assembly, 220V (220V
model only) (Finish, Norwegian,
Portuguese, and Greek models only)

5 83 42090 1 Pedestal stand assembly, 100V (100V
model only) (Japanese model only)

6 8340102 1 Plate, upper transition, machined

7 8342019 1 Cable assembly, AC top, fixed

8 83 400 01 2 Leg, base, machining

9 8340028 1 Caster, swivel, 4.92" diameter, directional
lock

10 83 400 29 3 Caster, swivel, 4.92" diameter, total lock

11 17 AZ 205 1 Cable assembiy, AC power cord, grade,
15A

12 17 AZ 207 1 Cable assembly, AC power, VDE, grade,
15A

13 17 733 88 1 Strain relief, straight, adjustable up to
0.4" diameter

14° : 17 BH 213 1 Circuit breaker, 15A, 250/28V

15 1773401 1 Clamp, cable, loop tie, 14"

16 99 023 51 1 Screw, #6-32 x 3/8" truss phillips nylock

17 99 901 77 Asrequired | Loctite®" adhesive #242

18 99 105 34 4 Nut, hex, #6-32 keps

19 99 056 95 4 Screw, 14"-20 x %" cap

20 99 10571 3 Nut, hex, #6-32 keps

a. Loctite® is a registered trademark of Loctite Corporation.

Isolette® Infant Incubator Service Manual (man223rf) N Page 5 - 83



Pedestal Stand Assembly (‘01" Series and Higher Modeis Only)
Chapter 5; Parts List

Item Number | Part Number Quantity Description

21 99 125 54 4 Washer, lock, internal, 4"

22 68 212 00 3 Label, ground symbol, protective

23 83 500 10 1 Label, ground reliability

24 83 500 39 1 Label, shock hazard

25 83 500 34 1 Label, manual reference symbol

26 99 023 03 2 Screw, #6-32 x 5/16" truss phillips nylock

27 83400 19 1 Cleat, power cord

28 83 500 20 1 Label, auxiliary outlet, 120V (120V
model only)

29 83 50021 1 Label, auxiliary outlet, 220V-240V
(220V model only)

30 99 058 80 1 Screw, 14"-20 x 1%2" cap hex nylock

31 17 585 38 1 Filter, line, 115V AC - 250V AC

32 17 AZ 208 1 Cable assembly, controller power, VDE,
fixed

33 83 40051 1 Cable assembly, ground, 6'4" green

34 17 585 60 3 Ferrite suppressor, 0.28" inner diameter

35 99 125 53 4 ‘Washer, lock, 14"

36 8342001 1 Column, weldment, 17" long

37 99 060 75 14 Screw, 14"-20 x 312" cap hex (not shown)

38 83 500 44 1 Label, ETL _

39 99 109 27 4 Nut, %4"-20 (not shown)

Page 5 - 84 Isolette® Infant Incubator Service Manual (man223rf)



Pedestal Stand Assembly (“01” Series and Higher Models Only)
Chapter 5: Parfs List

NOTES:

Isolette® Infant Incubator Service Manual (man223rf) Page 5- 85



Variable Height Adjustable Pedestal Stand Assembly
Chapter 5: Parts List

Variable Height Adjustable Pedestal Stand Assembly

Figure 5-26. Variable Height Adjustable Pedestal Stand Assembly

m223{060

Page 5 - 86 Isolette® Infant Incubator Service Manual (man223rf)



Variable Height Adjustable Pedestal Stand Assembly
Chapter 5: Paris List

Table 5-26. Variable Height Adjustable Pedestal Stand Assembly

Item Number | Part Number Quantity Description

1 83 42070 1 Pedestal stand assembly, 120V (120V
model only) (English model only)

2 83 420 80 i Pedestal stand assembly, 220V (220V
model only) (English, Spanish, French,
German, and Italian models only)

3 99 060 74 4 Screw, 44"-20 x 3%2" cap hex

4 83 420 82 1 Pedestal stand assembly, 220V (220V
model only) (Finish, Norwegian,
Portuguese, and Greek models only)

5 8342090 1 Pedestal stand assembly, 100V (100V
model only) (Japanese model only)

6 83 401 50-R 1 Foot switch assembly front

7 83 401 55-R 1 Foot switch assembly rear

8 83401 02 1 Plate, upper transition, machined

9 8340004 1 Column, lower, variable height adjustable

10 83 40003 1 Column, upper, variable height adjustable

11 8340018 1 Cable assembly, AC top, variable height
adjustable

12 83 40001 2 Leg, base, machining

13 23 400 28 1 Caster, swivel, 4.92" diameter, directional
lock

14 83 400 29 3 Caster, swivel, 4.92" diameter, total lock

15 83400 15 1 Plate, transition, bottom

16 83 400 20 1 Actuator, 120V (120V model only)

17 8340021 1 Actuator, 220V (220V model only)

18 17 AZ 205 1 Cable assembly, AC power cord, grade,
15A

19 17 AZ 207 1 Cable assembly, AC power, VDE, grade,
15A

20 17 AZ 206 1 Cable assembly, controller power, VDE,
variable height adjustable

21 17 733 88 1 Strain relief, straight, adjustable up to
0.4" diameter

22 17 BH 213 1 Circuit breaker, 15A 250/28V

Isolette® Infant Incubator Service Manual (man223rf) : Page 5- 87



Vatiable Height Adjustable Pedestal Stand Assembly

Chapter 5: Parls List

Item Number | Part Number Quantity Description
123 17734 01 1 Clamp, cable, loop tie, %"

24 17 585 38 1 Filter, line, 115V AC - 250V AC

25 9902303 2 Screw, #6-32 x 5/16" truss phillips nylock

26 99 023 51 1 Screw, #6-32 x 3/8" truss phillips nylock

27 99025 44 1 Screw, #6-32 x 1.12" truss phillips nylock

28 99 031 52 4 Screw, #8-32 x 3/8" truss phillips nylock

29 g9 041 29 8 Screw, #10-32 x 3/8" cap hex

30 99 998 76 8 Screw, M6 x 1" x %" long, cap

31 99 901 77 Asrequired | Loctite®" adhesive #242

32 99 105 34 4 Nut, hex, #6-32 keps

33 99 122 52 1 Spacer, 0.14" inner diameter, 0.38" outer
diameter, 0.88" long nylon

34 99 10571 2 Nut, hex, #6-32 keps _

35 99 116 90 2 Standoff, #6-32 inner diameter, 14" hex,
0.56" long nylon

36 0912293 4 Washer, lock, external, #8

37 9912365 4 Washer, lock, #10

38 9912571 Washer, lock, external, 4"

30 99 125 54 4 Washer, lock, internal, 14"

40 83 400 36 1 Cable assembly, breaker, 17" white/
brown

41 83 400 37 1 Cable assembly, breaker, 17", white/blue

42 83 400 45 1 Cable assembly, breaker, 17", white/blue

43 83 400 51 1 Cable assembly, ground, 6%4" green

44 83 400 50 1 Cable assembly, ground, 14" green/
yellow

45 83 400 62 1 Cable assembly, motor to foot switch,
17", orange

46 83 40061 1 Cable assembly, motor to foot switch, 17"
red

47 68 212 00 1 Label, ground symbol, protective

a. Loctite® is a registered trademark of Loctite Corporation.

Page 5 - 88

Isolette® Infant Incubator Service Manual {man223rf)




Variable Height Adjustable Pedestal Stand Assembly

Chapter 5: Paris List

Item Number | Part Number Quantity Description

48 83 500 10 1 Label, ground reliability, English/
Spanish/French/German/Italian

49 83 500 11 1 Label, ground reliability, Japanese

50 8350012 1 Label, ground reliability, Swedish/Dutch/
Danish/Flemish

51 83500 13 1 Label, ground reliability, Finnish/
Norwegian/Portuguese/Greek

52 83 500 39 1 Label, shock hazard

53 68 160 05 1 Label, manual reference symbol

54 12995 00 As required | Wire tie (412" long)

55 17063 14 2 Mount, cable tie, adhesive back, 14"
square

56 83400 19 1 Cleat, power cord

57 99 023 64 4 Screw, #6-32 x 7/16" truss phillips nylock

58 83 500 20 1 Label, auxiliary outlet, 120V (120V
model only)

59 8350021 1 Label, auxiliary outlet, 220V - 240V
(220V model only)

60 83 500 24 1 Label, avxiliary outlet, 100V (100V
model only)

61 99 058 80 1 Screw, 14"-20 x 1%" cap hex nylock

62 83920 11 1 Shipping pack complete, variable height
adjustable stand

63 17 585 60 1 Ferrite suppressor, 0.28" inner diameter

64 99 125 53 6 Washer, lock, 14" |

65 83 500 44 1 Label, ETL

66 99 109 27 4 Nut, %"-20

Isolette® Infant Incubator Service Manual (man223rf)

Page 5 - 89




Hood/Shell and Pedestal Stand Assembly Attachment

Chapfer 5: Parts List

Hood/Shell and Pedestal Stand Assembly Attachment

m223f076

Page 5-90 : Isolette® Infant Incubator Service Manual (man223rf)



Hood/Shell and Pedestal Stand Assembly Attachment
Chapfter 5: Parits List

Table 5-27. Hood/Shell and Pedestal Stand Assembly Attachment

Item Number | Part Number Quantity Description

1 99 059 11 4 Screw, %4"-20 x 134" cap hex nylock

Isolette® Infant Incubator Service Manual (man223if) _ Page 5 - 91



Foot Switch Assembly, Front

Chapter 5: Parts List

Foot Switch Assembly, Front

Figure 5-28. Foot Switch Assembly, Front

m223£057

Table 5-28. Foot Switch Assembly, Front

Item Number | Part Number Quantity Description

1 83 401 50-R 1 Foot switch assembly front

2 8340012 1 Housing, foot switch

3 83400 11 1 Cover, foot switch

4 83 400 07 1 Bracket, switch retainer

5 83 401 40 1 Wiring assembly, foot switch, front

6 99 195 03 2 Screw, shoulder, 0.187" diameter, 14"
long, #8-32, nylock

7 99 010 67 2 Screw, #4-40 x 44" truss phillips nylock

8 83 400 08 2 Spring, compression, 0.42" outer
diameter, 0.51" wide, 24" long

Page 5- 92

Isolette® Infant Incubator Service Manual (man223rf)



Foot Swilch Assembly, Rear
Chapter 5: Parts List

Foot Switch Assembly, Rear

Figure 5-29. Foot Switch Assembly, Rear

1
m2231051
Table 5-29. Foot Switch Assembly, Rear
Item Number | Part Number Quantity Description
1 83 401 55-R 1 Foot switch assembly rear
2 83400 12 1 Housing, foot switch
3 83 400 11 1 Cover, foot switch
4 83 400 07 1 Bracket, switch retainer
5 83 401 45 1 Wiring assembly, foot switch, rear
6 99 195 03 2 Screw, shoulder, 0.187" diameter, 14"
long, #8-32, nylock
99 010 67 2 Screw, #4-40 x 14" truss phillips nylock
83 400 08 2 Spring, compression, 0.42" outer
diameter, 0.51" wide, 2%4" long

Isolette® Infant Incubator Service Manual (man223rf) Page 5 - 93



Check Valve Assembly
Chapter 5: Parts List

Check Vaive Assembly

Figure 5-30. Check Valve Assembly

<>

ey
132

m223f054

Page 5-94 ' Isolette® infant Incubator Service Manual (man223rf)



Check Valve Assembly

Chapter 5: Parts List

Table 5-30. Check Valve Assembly

Item Number | Part Number Quantity Description

1 83900 16 1 Replacement kit, check valve assembly

2 8312021 1 Body assembly, check valve

3 8312016 1 Gasket, body, check valve

4 8312010 1 Base, check valve

5 8312013 1 Piston, check valve

6 8312012 1 Spring, compression, 1.04" outer
diameter, 0.4" wide, 1" long

7 68 130 57 1 Diaphragm

8 12 360 00 3 Filter disc

9 83 62064 4 Clamp, hose, 0.46" outer diameter, 0.545"
inner diameter

10 83 620 68 18" (46 cm) | Sound coat, mounting plate

11 78 467 16 1 Check valve, 14", female in, male out

12 07023 00 1 Coupling, 14" hose

13 67 355 30 1 Street elbow, 90°, 14"

14 99 182 82 1 Ring, retaining, internal, 2" diameter

15 8312014 1 Seal, piston, check valve

16 99026 18 3 Screw, #6-32 x 134" phillips

17 68 130 51 1 Washer, flat, 0.628" inner diameter, 0.88"
outer diameter, 0.06" thick

18 01017 00 1 Connector, barb, 4" hose x 1/8"

19 Reference only | Asrequired | Loctite® adhesive #222

20 99 18293 1 Ring, retaining

21 Reference only | Asrequired | Teflon®" tape

22 83120 06 1 Plug, 14" inner diameter hose, 1.00" long

- & Loctite® is a registered trademark of Loctite Corporation.
b. Teflon® is a registered trademark of E. I du Pont and de Nemours and Company.

Isolette® Infant Incubator Service Manual (man223rf}

Page 5-95




Scale Assembly

Chapter 5; Parts List

Scale Assembly

Figure 5-31. Scale Assembly

m223f061

Page 5-96 : Isolette® Infant Incubator Service Manual (man223rf)



Scale Assembly

Chapter 5: Parts List

Table 5-31. Scale Assembly

Item Number | Part Number Quantity Description

1 83 600 50 1 | Scale assembly

2 83600 51 1 Tray, bottom, scale

3 83 600 52 1 Tray, top, scale

4 83 600 53 1 Subframe, scale

5 83 600 55 1 Load beam, 5 kg

6 83 600 70 1 P.C. board assembly, scale

7 83 600 30 1 Cable assembly, scale

8 83 600 54 1 Clamp, retaining

9 Reference only | Asrequired | Loctite® adhesive #222

10 99 030 69 8 Screw, #8-32 x 14" truss phillips
11 83 600 56 1 Shield, P.C. board, scale

12 83 500 46 2 Label, bar code

13 83 600 57 3 Shield, scale

14 83 600 58 2 Shield, spacer

15 17063 12 1 Tape, conductive, copper, 1" wide
16 99 022 83 1 Screw, #6-32 x 44" pan phillips, sems
17 83 600 59 1 Insulator, mylar, 0.014" thick

18 83 600 60 2 Bushing, tab

a. Loctite® is a registered trademark of Loctite Corporation.

Isolette® Infant incubator Service Manual (man223rf)

Page 5- 97




Sensor Module P.C. Board Assembly—FP/N 83 005 70

Chapter 5: Parts List

L |
 Sensor Moduie P.C. Board Assembly—P/N 83 005 70

Figure 5-32. Sensor Module P.C. Board Assembly—P/N 83 005 70

B@“% C ,_w_’ﬁ —

D | 59 u1 P P24 u1?
| -

‘ TF1 .

] — s

P2 __TPI| " FEIE -

w
Rv1 3 L
J& c C3 R33 RS
R34 RS |
LN PLUES o n RS
= R TPe —= Koo RS 4
2 1, R 3
c g1z [T R ca2[_|
. k3 casl ] D
R3
B 18] RE ¥1
2 R1 U4
1 ks Ut
P12
1y TP e
ke TRZ1 4
P19
TP14
TF13 g% ‘%fi?
J5 T e3s
4 Ifii_] ra3R42 R55
=] R56
" Rs?
-
4] T35 o4
a: — RNT ns
2 ™ ;
b5 o Q B300570— 1pp0
1 us P22 TP25
—F [ e .
[ 513 — rag Ui uig Q3[|
™7 — 1P23
B e == s N S N
a3 TPZ7
! R1 e RN2 Uz0 -
REY I:I I:I Ra:
T s ] B =
2 - ozt c39
J7 Ei 195 BE LN4 E
Jz
Te28
| N ¥ | |
TP7
— 12 1
us[ ] CJuzz
m2231052

Page 5 - 98

Isolette® Infant Incubator Service Manual (man223rf)



Sensor Module P.C. Board Assembly—FP/N 83 005 70

Chapter 5. Parts List

Table 5-32. Sensor Module P.C. Board Assembly—P/N 83 005 70

Component Symbol

Part Number

Description

C1,C2

Reference only

Capacitor, 0.33 uF, x10%, 50V

C3,C4,C14, C15,C17,
C18, C23, C28, C35,
C36, C38, C39, C41

Reference only

Capacitor, 0.1 uF, ilO%, 50V

C5

Reference only

Capacitor, 0.22 uF, £10%, 50V

Ce6, C7, C8, €9, C10,
Cl11, C12, C13, C21,
C22, C24, C25,C31

Reference only

Capacitor, 0.01 uF, £10%, 50V

C16, C19, C37, C40

Reference only

Capacitor, 1 uF, +80%/-20%, 16V

C20, C32,C33 Reference only Capacitor, 33 pf, £10%, S0 V

C26 Reference only Capacitor, 0.001 uF, £10%, 50V
C27, C29, C30, C34 Reference only Capacitor, 10 uF, £20%

D1,D2 Reference only Diode, 0.2A, 100V, Motorola®"
DS1 Reference only Lamp, LED, round, red

I Reference only Connector, right angle

12 Reference only Connector, vertical

I3 Reference only Connector, right angle

J4 Reference only Connector, vertical

I5 Reference only Connector, receptacle, male, single
Jo, 17 Reference only Connector, right angle

LN1,LN2 Reference only Inductor network

IN3, LN4 Reference only Inductor network

Q1,Q2.Q3,Q4 Reference only Transistor, N-channel

R1 Reference only Resistor, 1.21K, +1%, carbon film
R2, R5, Rde Reference only Resistor, 100K, +1%, carbon film

R3, R4, R6, R8,R9,
R10,R17,R18, R25,
R27, R50, R51, R52,
R53, R54, R55, R58,
R39, R60, R63, R64,
R65

Reference only

Resistor, 10K, +1%, carbon film

a. Motorola® is a registered trademark of Motorola, Inc.

- Isolette® Infant Incubator Service Manual (man223rf) Page 5 - 99



Sensor Module P.C. Board Assembly—F/N 83 005 70
Chapter 5: Parts List

Part Number Description

Resistor, 1K, 1%, carbon film

Component Symbol

R7,R31,R33, R34,
R35, R36, R37, R38,
R39, R40, R47, R49,

Reference only

R57

R11 Reference only Resistor, 332K, +1%

R12 Reference only Resistor, 47.5K, +1%, carbon film
R13 Reference only Resistor, 75K, £1%, carbon film
R14 Reference only Resistor, 9.09K, £0.1%, carbon film
R15, R26, R45 Reference only Resistor, 3.32K, +0.1%, carbon film
R16 Reference only Resistor, 49,90, 20.1%, carbon film
R20 Reference only Resistor, 82.5K, +0.1%

R21, R42 Reference only Restistor, 4.75K, £1%, carbon film
R23, R24, R43 Reference only Resistor, 5.62K, +0.1%, carbon film
R29,R32 Reference only Resistor, 24.9K, 1%, carbon film
R30 Reference only Resistor, 30.1K, £1%, carbon film
R44 Reference only Resistor, 10K, 1%, carbon film
R41 Reference only Resistor, 287K, £1%, carbon film
R56 Reference only Resistor, 3.32€, +1%, carbon film
U1, U12 Reference only Integrated circuit

U2, 09, Ule, U22

Reference only

Integrated circuit, hall-effect sensor

U3

Reference only

Integrated circuit, dual 4 to 1 data
selector, Motorola®"

U4, U5, U6 Reference only Integrated circuit, 1 of 8, analog,
Motorola®

U7 Reference only Integrated circuit, comparator

U8 Reference only Integrated circuit, comparator

U10 Reference only Integrated circuit, reset

Ull Reference only Integrated circuit, 12 bit

Ul3,U14 Reference only Integrated circuit, dual line driver, open
collector

U1s Reference only Integrated circuit, volt regulator, -5V,

0.1mA, Motorola®

a. Motorola® is a registered trademark of Motorola, Inc.

Page 5- 100

Isolette® Infant Incubator Service Manual {(man223rf)




Sensor Module P.C. Board Assembly—FP/N 83 005 70

Chapfter 5: Parts List

Component Symbol Part Number Description

U17 Reference only Integrated circuit, U-controller, 8-bit
microchip

U18 Reference only Integrated circuit, optocoupler

U9, U21 Reference only Integrated circuit, volt regulator, 5V,
0.1 mA, Motorola®”

U20 Reference only Integrated circuit, 5V

Y1 Reference only Crystal, 4 mHz

Not shown 8300525 Firmware, sensor module

Not shown Reference only Integrated circuit, socket, 28 pin, 0.3"
wide

Not shown Reference only Resistor, 150K, +1%

Not shown Reference only Resistor, 449€} +1%, carbon film

Not shown Reference ounly Varistor, 10 mm 250V semiconductor

Not shown Reference only Transistor, signal light on

a. Motorola® is a registered trademark of Motorola, Inc.

Table 5-33. Sensor Module P.C. Board Assembly—P/N 83 005 70

Item Number { Part Number Quantity Description
1 Reference only | 1 Ferrite
2 Reference only | 1 Washer tie 414" long

Isolette® Infant Incubator Service Manual (man223r) Page 5 - 101



Scale P.C. Board Assembly—P/N 83 600 70
Chapler 5: Paris List

‘Scale P.C. Board Assembly—P/N 83 600 70

Figure 5-33. Scale P.C. Board Assembly—P/N 83 600 70

2 o CR2 - CRA T}~
ANy BT
o - c8
CZE8 o = c
o rD% = C13 ~
]
Sl e b I - =
. _ =
o H_F
ol R —_[3—CR5
! o[ = o
N — — RS
—RS- R54
cis S8 czz — R6
J T
[ | &
+1 L A
T >
(o)
J 0
3_1‘ E C20 RB_l_J_
]~
§:| r)
o
3 thDCD
[#Y)
[ e & g g
% 2
=
B =
R13
C C 1 - 58 £al
c “23 rig “
[~ ™|
- - 7 co
N
- =1 3 ()]
= PSW3 PSW1 B PSW?2 8
. 1
“ 1

m223f077

Page 5 - 102 Isolette® Infant Incubator Service Manual (man223rf)



Scale P.C. Board Assembly—F/N 83 600 70

Chapter 5: Parts List

Table 5-34. Scale P.C. Board Assembly—P/N 83 600 70

Component Symbol Part Number Description
Cl1,C3,C5,C13,C14, | 17 AY 652 Capacitor, 1 mF, 10%, 50 V
C1e6, C18, C27, C29,

C31

C2, C4, C6 through 17 AY 646 Capacitor, 0.1 mF, 10%, 50 V
C11, C21 through C24

C12,C33 17 AY 640 Capacitor, 0.01 mF, 10%, 63 V
C15 17 AY 648 Capacitor, 0.22 mFE, 10%, 50 V
C17 17 AY 650 Capacitor, 0.47 mFE, 10%, 50 V
C19, C20 17 BF 016 Capacitor, 20 pF, 10%, 1KV
CR1, CR2, CR3,CR4, |17 AR 501 Diode, switching

CR5

J1 Reference only Connector, amp 6-pin single

I3 Reference only Connector, amp 16-pin single
L1,L2 Reference only Coil molded

PSWI1,PSW2 Reference only Polyswitch

PSW3 Reference only Polyswitch

R1,R2, R&,R9 17 AF 384 Resistor, 100K, 1%, 1/8 film
R3,R12 17 AF 257 Resistor, 434" 1% 1/8 film

R4 17 AF 286 Resistor, 9.53K, 1%, 1/8 film
RS 17 AG 882 Resistor, 100K, 0.1%, 1/8 film
RO 17 AF 252 Resistor, 4.22K, 0.1%, 1/8 film
R7 17 AE 041 Resistor, 26.7 1% 1/8 film
R10,R13 17 AF 192 Resistor, 1K, 1%, 1/8 film

R11 17 AF 451 Resistor, 499K 1% 1/8 film

RN1 17 AU 077 Resistor network, 9@ 10K 5%
Ul Reference only Linear amplifier

U2 Reference only Operational amplifier

U3 Reference only Analog/digital (A/D) converter
U4 Reference only Microcontroller, microchip

us 17 633 89 Integrated circuit, EEPROM, 1K
U6 17 AT 050 Integrated circuit, voltage regulator,

negative, -5 V

Isolette® Infant Incubator Service Manual (man223rf)

Page 5- 103




Scale P.C. Board Assembly—P/N 83 600 70
Chapter 5: Parts List

Component Symbol Part Number Description
u7 17 629 52 Integrated circuit, power driver
X1 17524 14 Crystal, 4 mHz
17 633 94 Integrated circuit, 5V
17 AP 190 Socket, integrated circuit, mounting,
8 dip
Reference only Socket, integrated circuit, 12 dip

Page 5 - 104 Isolette® Infant incubator Service Manual (man223rf)



Scale P.C. Board Assembly—P/N 83 600 70
Chapter 5: Parts List

NOTES:

Isolette® Infant Incubator Service Manual (man223rf} ' Page 5- 105



Impeller Movement Detector P.C. Board Assembly—F/N 83 103 70
Chapter 5: Paris List

Impelier Movement Detector P.C. Board Assembly—P/N 83 103 70

Figure 5-34. Impeller Movement Detector P.C. Board Assembly—P/N 83 103 70

©

— al
(] ]
<< O < <
F/D_ <DE [
<
Oa o O
G O
< (=] O —
e io i |aQ
o [a] O e
b & b
1 B|—
— Z 7
4 S|
| —
— o) o
OE i Ic —
4
1ﬂ’ L
1 8
o2 7—D
> —|3 6F—
—l4 S L
o N[
0B E |oo
- ||
= ey
_ ®\ 5o
L "
L )
L | I
qH g} ............ Q N
[= .
! i e
I
i
{
|
m223f123

Page 5 - 108 Isolette® Infant Incubator Service Manual (man223rf)



Impefler Movement Detector P.C. Board Assembly—FP/N 83 103 70
Chapter 5: Paris List

Table 5-35. Impeller Movement Detector P.C. Board Assembly—
P/N 83 103 70

Component Symbol Part Number Description
C1 Reference only Capacitor, 1.0 mfd, +80/-20%, 10V
C2 Reference only Capacitor, 0.1 mfd, +80/-20%, 10V
Ql Reference only Transistor, N-channel
R1 Reference only Resistor chip, 2.00K, 1%, 1/8 W
R2 Reference only Resistor chip, 953 €, 1%, 1/8 W
R3,R5 Reference only Resistor chip, 20.0K, 1%, 1/8 W
R4 Reference only Resistor chip, 1.33 K, 1%, 1/8 W
Ul Reference only Integrated circuit, voltage regulator

+5V, 100 mA

U2 Reference only Integrated circuit, microcontroller
U3 Reference only Integrated circuit, hall effect sensor

Table 5-36. Impeller Movement Detector P.C. Board Assembly—
P/N 83103 70

Item Number | Part Number Quantity Description

1 8310300 1 P.C. board detail, impeller movement
2 Reference only |1 Nut, broaching, #4-40 thread

3 83103 80 1 Cable assembly, impeller movement

Isolette® Infant Incubator Service Manual (man223rf) Page 5- 107



IV Pole Assemnbly (Accessory)
Chapter 5: Parts List

IV Pole Assembly (Accessory)

- Figure 5-35. IV Pole Assembly (Accessory)

m223f079

Page 5- 108 Isolette® Infant Incubator Service Manual (man223rf)



IV Pole Assembly (Accessory)

Chapter 5: Parts List

Table 5-37. IV Pole Assembly (Accessory)

Item Number | Part Number Quantity Description

1 83 444 00 1 IV pole assembly

2 83 442 01 1 Support arm, monitor/TV pole

3 83444 04 1 Adapter, IV pole base

4 83 444 05 1 Base, IV pole

5 26 821 00 1 Nut, locking, 7/8"-20 special

6 26 822 00 1 Cross arm (IV)

7 99 064 21 1 Screw, 5/16"-18 x 12" cap hex

8 99 126 32 2 ‘Washer, lock, 5/16"

9 Reference only | Asrequired | Loctite®' adhesive #271-05

10 99 044 66 2 Screw #10-32 x 134" cap hex nylock
11 83 444 10 1 Upper extension, IV pole, 11.38" long
12 99 12394 2 Washer, lock, external, #10

13 83 500 03 1 Label, weight limit, 11 1b

14 Reference only | Asrequired | Lubricant

15 99 064 93 1 Screw, 5/16"-18 x 1.38" cap hex

a. Loctite® is a registered trademark of Loctite Corporation.

Isolette® Infant Incubator Service Manual (man223rf)

Page 5 - 109




High Monitor Shelf Assembly {Accessory)

Chapter 5: Parts List

High Monitor Shelf Assembly (Accessory)

- Figure 5-36. High Monitor Shelf Assembly (Accessory)

m223f(48

Page5-110 Isolette® Infant incubator Service Manual (man223rf)



High Monitor Shelf Assembly (Accessory)

Chapter 5: Parts List

Table 5-38. High Monitor Shelf Assembly (Accessory)

Item Number | Part Number Quantity Description

1 83442 00 1 Monitor shelf assembly, high

2 8344201 1 Support arm, monitor/IV pole

3 3344204 1 Pole, monitor shelf, 26.32"

4 83442 05 1 Pole, monitor shelf, 8.63"

5 83 442 20 1 Monitor shelf subassembly

6 Reference only | Asrequired | Loctite®' adhesive #271-05

7 99 044 66 2 Screw, #10-32 x 134" cap hex nylock
8 99 123 94 2 Washer, lock, external, #10

9 99 064 93 1 Screw, 5/16"-18 x 1.38" cap hex

10 99 126 32 1 Washer, lock, 5/16"

11 99 059 43 1 Screw, ¥4"-20 x 2" flat phillips nylock
12 83442 21 1 Washer, 62" x %" x 0.09", polyurethane

a. Loctite® is a registered trademark of Loctite Corporation.

Isolette® Infant Incubator Service Manual (man223rf)

Page 5- 111




Swivel Drawer Assembly (Accessory)

Chapter 5: Parts List

Swivel Drawer Assembly (Accessory)

- Figure 5-37. Swivel Drawer Assembly (Accessory)

m223f082

Page 5- 112 Isolette® Infant Incubator Service Manual (man223rf)



Swivel Drawer Assembly (Accessory)

Chapter &: Parts List

Table 5-39. Swivel Drawer Assembly (Accessory)

Item Number | Part Number Quantity Description

1 83 441 00 1 Swivel drawer assembly, small

2 83 440 00 1 Swivel drawer assembly, large

3 83 440 01 1 Large swivel drawer (large swivel drawer
assembly only)

4 8344101 2 Small swivel drawer (small swivel drawer
assembly only)

5 83 440 06 1 Support arm, swivel drawer

6 8344005 1 Shaft, swivel drawer

7 8344002 1 Tray writing surface

8 83 440 08 lor2 Ring, bottom, swivel drawer

9 83 440 07 2o0r3 Ring, top, swivel drawer

10 83 440 09 6or 10 Spring plunger, 3/8-16

11 99 057 32 2 Screw, 14"-20 x 7/8" cap nylock

12 8344003 1 Spacer, 1%4" inner diameter, 2" outer
diameter, 0.49" thick (small swivel
drawer assembly only)

13 99 127 78 1 Washer, flat, 0.536" inner diameter, 112"
outer diameter, 0.05" thick

14 99 113 66 1 Nut, hex, 12"-20

15 99141 71 1 Pin, cotter, 0.06" diameter, 1" long

16 99 055 06 1 Screw, ¥4"-20 x 3/8" cap nylock

17 9912571 2 Washer, lock, external, 14"

18 Reference only | As required | Loctite®" adhesive #271-05

19 Reference only | Asrequired | Lubricant

20 83 500 60 1 Label, load limit, 2 1b/0.91 kg

21 83 500 62 1 Label, load limit, 10 1b/4%2 kg (large
swivel drawer assembly only)

22 83 500 61 2 Label, load limit, 5 1b/2.2 kg (small
swivel drawer assembly only)

23 83 440 04 2or3 Washer, 114" inner diameter, 22" outer

diameter, 0.015" thick

a. Loctite® is a registered trademark of Loctite Corporation.

Isolette® Infant Incubator Service Manual (man223rf)

Page 5- 113




Humidity System (Accessory)

Chapter 5: Parts List

Humidity System (Accessory)

Figure 5-38. Humidity System (Accessory)

m223f080

Page 5 - 114 Isolette® Infant Incubator Service Manual (man223:)



Humidity System (Accessory)

Chapter 5; Parts List

Table 5-40. Humidity System (Accessory)

Item Number | Part Number Quantity Description

1 8361070 1 Humidity system assembly, 120V (120V
model only)

2 83 610 80 I Humidity system assembly, 240V,
English/Spanish/French/German/Italian
(240V model only)

3 83 610 90 1 Humidity system assembly, 100V (100V
model only)

4 83900 10 1 Replacement kit, humidity reservoir

5 8361003 1 Door, humidity

6 8361204 1 Tubing, with ends ¥4" inner diameter, 24"
long

7 83 611 70-R 1 Replacement housing/float assembly

3 83 612 50-R 1 Evaporator reservoir assembly, 120V
(120V model only)

9 8361251 1 Evaporator reservoir assembly, 240V
(240V model only)

10 8361252 1 Evaporator reservoir assembly, 100V
(100V model only)

11 83 612 37 1 Cap, evaporator

12 8361017 1 Washer, flat, 1.29" outer diameter, 0.88"
inner diameter, 0.15" thick

13 8361018 1 Washer, flat, 2" outer diameter, 0.99"
inner diameter, 0.6" polypropylene

14 83 500 06 1 Overlay, humidity drawer, English/
Spanish/French/German/Italian

15 8361203 1 Elbow, street, 1/8" nickel plated

16 8361004 1 Trim, humidity tray

17 99 02303 2 Screw, #6-32 x 5/16" truss phillips nylock

18 83500 34 2 Label, manual reference symbol

19 26 605 00 1 Bumper, rubber, recessed (with washer)

20 99 023 05 2 Screw, #6-32 x 5/16" pan phillips, sems

21 Reference only |1 Detail, P.C. board, humidity

22 99 010 67 1 Screw, #4-40 x %4" truss phillips nylock

23 8361202 1 Connector, 1/8"—4" hose, nickel plated

Isolette® Infant Incubator Service Manual (man223rf)

Page 5-115




Humidity Systern (Accessory)

Chapter 5: Parts List

Item Number | Part Number Quantity Description
24 Reference only | Asrequired | Loctite®" adhesive #592
25 99 161 53 1 O-ring, 1 1/16" 1/8"

a. Loctite® is a registered trademark of Loctite Corporation.

Page 5- 116 Isolette® Infant Incubator Service Manual (man223rf)




Humidity System (Accessory)
Chapter 5: FParts List

NOTES:

Isolefte® Infant Incubator Service Manual (man223rf) ' Page 5- 117



Humidity System (Accessory) (“02” Series Model Only)

Chapter 5: Parts List

Humidity System (Accessory) (“02” Series Model Only)

Figure 5-39. Humidity System (Accessory) (“02” Series Model Only)

m223f078

Page5-118 Isolette® Infant Incubator Service Manual (man223rf)



Humidity System (Accessory) (‘02" Series Mode!l Only)
Chapfter 5: Paris List

Table 5-41. Humidity System (Accessory) (“02” Series Model Only)

Item Number | Part Number | Quantity " Description

1 8361370 1 Humidity system, 120V (120V model
only)

2 83 613 80 1 Humidity system, 240V, English/
Spanish/French/German/Italian (240V
model only)

3 8361381 1 Humidity system, 240V, Swedish/Greek
(240V model only)

4 83613 90 1 Humidity system, 100V (100V model
oniy) '

5 83 613 65-R 1 Reservoir assembly, humidity

6 8361301 1 Reservoir, humidity

7 83 613 00 1 Cover, humidity reservoir

8 83 900 58 1 Replacement kit, seals and spring

9 83 613 06 1 | Seal, silicone sponge, 3" outer diameter

10 8361310 1 Spring, compression, 0.36", 0.035" wide,
0.812" long

11 8361321 1 Seal, silicone sponge, 1.38" outer
diameter

12 83 613 68-R 1 Tray assembly, humidity, English/
Spanish/French/German/Italian

13 8361302 1 Tray, humidity reservoir

14 8361313 1 Door, humidity

15 83 500 06 1 Overlay, humidity drawer, English/
Spanish/French/German/Italian

16 83 500 09 1 Overlay, humidity drawer, Swedish/
Greek

17 99 023 46 1 Screw, #6-32 x 3/8" flat phillips nylock

18 83 500 34 2 Label, manual reference symbol

19 83613 23 1 Handle, humidity

20 8361324 1 Pin, 3/32" diameter, 2.968" large

21 8361355 1 Replacement kit, evaporator reservoir,
120V (120V model only)

22 8361356 1 Replacement kit, evaporator reservoir,
240V (240V model only)

Isolette® Infant Incubator Service Manual (man223rf Page 5- 119



Humidity System (Accessory) ("02” Series Mode! Only)

Chapter 5: Parls List

Item Number | Part Number Quantity ~ Description

23 83 613 57 1 Replacement kit, evaporator reservoir,
100V (100V model only)

24 83 613 60-R 1 Manifold assembly, humidity

25 81 001 01 1 Label, data tag, 1.63" x 3.00"

Page 5 - 120 Isolette® Infant Incubator Service Manual (man223:f)




Humidity System (Accessory) (“02” Series Model Only)
Chapler 5: Parts List

NOTES:

Isolette® Infant Incubator Service Manual (man223rf) _ Page 5- 121



Evaporator Reservoir Assembly ("02” Series Model Only)

Chapter 5: Parts List

Evaporator Reservoir Assembly (“02” Series Model Only)

Figure 5-40. Evaporator Reservoir Assembly (“02” Series Model Only)

m223f118

Page 5 - 122 ' Isolette® Infant Incubator Service Manual (man223rf)



Evaporator Reservoir Assembly (“02” Series Model Only)
Chapter 5: Paris List

Table 5-42. Evaporator Reservoir Assembly (“02” Series Model Only)

Item Number | Part Number Quantity Description

1 83 61325 1 Reservoir, evaporator

2 8361235 1 Heater, cartridge, 120V 100 w

3 83 613 27 1 Plate, mounting, evaporator and float
housing

4 83 612 47 1 Cap, evaporator, stainless steel

5 8361239 1 Plate, mounting, insulation

6 8361332 1 Insulation, evaporator reservoir

7 8361340 1 Washer, flat, 2.00" outer diameter, 0.06"
thick polypropylene

83612 42 1 Thermostat, automatic, 125C OP/75C
8361243 1 Thermostat, manual reset limiter (150C)

10 83 612 38 1 Elbow, 3/8" barb—%", brass

11 8361328 1 Gasket, evaporator reservoir _

12 0912220 1 Washer, lock, external, #6 stainless steel

13 83 612 30 1 Cable assembly, humidity heater to AC

14 99 022 17 1 Screw, #6-32 x 1/8", set socket cap

15 99 023 03 4 Screw, #6-32 x 5/16" truss phillips nylock

16 8361333 1 Washer, flat, 1.38" onter diameter x (0,88"
inner diameter x 0.12" thick, silicone

17 8361017 1 ‘Washer, flat, 1.29" outer diameter 0.88"
inner diameter, 0.15" thick stainless steel

18 99901 23 Asrequired | Pipe sealant with Teflon®" (Loctite®’
#592)

19 99 901 98 Asrequired | Sealant, pneumatic/hydraulic, Loctite®
#54505

20 99 901 38 As required | Loctite®, screwlock #222

21 83611 71-R 1 Replacement housing/float assembly

22 99 023 31 8 Screw, #6-32 x 3/8" truss phillips

a. Teflon® is a registered trademark of E. I. du Pont and de Nemours and Company.
b. Loctite® is a registered trademark of Loctite Corporation,

Isolette® Infant Incubator Service Manual (man223rf) Page 5- 123



Oxygen System (Accessory)
Chapter 5: Paris List

'Oxygen System (Accessory)

Figure 5-41. Oxygen System (Accessory)

Not shown: @ 2239093

Page 5- 124 . Isolette® Infant Incubator Service Manual (man223rf)



Oxygen System (Accessory)
Chapter 5: Parts List

Table 5-43. Oxygen System (Accessory)

Item Number | Part Number Quantity Description

1 83 62050 1 Oxygen assembly green Diameter
Indexed Safety System (DISS)

2 83 620 51 1 Oxygen assembly green

3 83 620 52 1 Oxygen assembly white

4 83 620 53 1 Oxygen assembly blue

5 83 620 30 2 Cell, oxygen

6 83 620 55-R 1 Oxygen calibration fixture assembly

7 99 031 99 2 Screw, #8-32 x 4", truss phillips nylock

8 8362045 1 Plate, oxygen cell mounting

9 83 620 56 1 Hook, oxygen hose

10 83 620 60 1 Oxygen control valve assembly, green
DISS

11 83 621 20 I Oxygen control valve assembly, green

12 83621 21-R 1 Oxygen control valve assembly, white

13 8362122 1 Oxygen control valve assembly, blue

14 83 100 11 1 Door, access, pneumatic module

15 83 620 61 1 Regulator, pressure, 40 psi

16 83 620 62 1 Bracket, regulator

17 83 620 63 1 Plate, mounting

18 20102 10 3 Elbow, 90°, %" hose—1/8"

19 83 620 67 1 Block, solenoid mount

20 83 620 69 6" (15cm) | Hose, braided, polyvinyl chloride (PVC),
clear, %" inner diameter

21 83 620 64 6 Clamp, hose, 0.46"-0.545" inner diameter

22 99 900 26 Asrequired | Tape, pipe junction seal, Teflon®", %"

23 68 230 24 6 Isolator, vibration, 0.44" outer diameter,
0.44" long, 4 1b

24 83 62040 1 Oxygen hose, green DISS

25 8362041 1 Oxygen hose, green

26 33 620 42 1 Oxygen hose, white

27 83 620 43 1 Oxygen hose, blue

a. Teflon® is a registered trademark of E. I. du Pont and de Nemours and Company.

Isolette® Infant Incubator Service Manual (man223rf) _ Page 5- 125



Oxygen System (Accessory)
Chapter 5: Parts List

Item Number | Part Number Quantity _ Description

28 8390022 1 Retrofit kit, dual filter, oxygen control
valve

29 8361241 17" (43 cm) | Tubing, %" inner diameter, 7/16" outer
diameter silicone

30 83 620 57 2 Filter, suction, disposable, rectangle

31 83 620 66 1 Sound coat, solenoid mounting block

32 83 620 68 1 Sound coat, mounting plate

33 99 031 52 4 Screw, #8-32 x 3/8" truss phillips nylock

34 99 031 05 2 Screw, #8-32 x 5/16" truss phillips
stainless steel

35 99 03076 2 Screw, #38-32 x %" truss phillips nylock

36 99 106 32 4 Nut, hex, #8-32 keps

37 99 12292 2 Washer, lock, internal, #8

38 17751 37 1 Valve, solenoid, 12V DC, 70 psi, oxygen

Page 5 - 126 Isolette® Infant Incubator Service Manual (man223rf)



Ventilator Tube Support (Accessory)
Chapter 5: Paris List

Ventilator Tube Support (Accessory)

Figure 5-42. Ventilator Tube Support (Accessory)

1
m223f081
Table 5-44. Ventilator Tube Support (Accessory)
Item Number | Part Number Quantity Description
1 83 001 05 1 Ventilator tube support
2 68 252 08 1 Pin, ball detent, modified
3 68 252 02 1 Tubing, flexible
4 68 252 04 1 Tubing, hanger
5 99 031 99 1 Screw, #8-32 x 14", truss phillips nylock
6 99 901 77 Asrequired | Loctite®® adhesive #242
7 83 001 06 1 Tubing, flexible

a. Loctite® is a registered trademark of Loctite Corporation.

Isolette® Infant Incubator Service Manual (man223rf) Page 5 - 127




Oxygen Tank Bracket (Accessory)

Chapter 5: Parts List

Oxygen Tank Bracket (Accessory)

Figure 5-43. Oxygen Tank Bracket (Accessory)

m223f049

Table 5-45. Oxygen Tank Bracket (Accessory)

Item Number | Part Number Quantity Description
1 8344300 1 Oxygen tank bracket assembly
2 8344303 1 Support, tank, variable height adjustable
3 8344304 1 Clamp assembly, tank '
4 99 022 83 4 Screw, #6-32 x 4" pan phillips, sems
5 24 144 01 1 Hook, latch, modified
6 9904203 12 Screw, #10-32 x 12" cap hex
7 99 123 92 12 Washer, lock, internal, #10
Page 5- 128

Isolette® infant incubator Service Manual (man223rf)



Chapter 6
General Procedures

Chapter Contents

Cleaning ......................................................... 6-3
General Cleaning ........... .. ittt 6-3
Steam Cleaning........ T 6-4
Cleaning Hard to Clean Spots. . ... ... itit it i ii i ii e ieait 6-4
Disinfecting. . .. ..o e e 6-4
Using Cleaning Agents. . ...ttt iiie i iieeeiaeiinnnns 6-4
Skin Temperature Probe . . .. ... ... .. ... 6-4
Access Door Gaskets and Tubing AccessPorts .. ................... 6-4
Humidity Tray Reservoir .. ........ .. .ot 6-5
Controller, Shell, and Pedestal Stand . . . . .........c0 i enn. 6-5

Hood, Sensor Module,andInnerWalls ....................co..... 6-5

Heater Radiatorand Fan Impeller. .. ............................. 6-7
Mattress Tray, Main Deck, Heater/Impeller Cover, and Mattress Tilt Bars 6 - 7
AirIntake Microfilter ... ...... ... .. . 6-7
Disassembly .. ... ... e 6-7
Assembly ... ... e 6-13
ComponentHandling .......... ... i i i, 6-15
PC Board. .. ... . e 6-15
Lubrication Requirements. . . ..ottt iianea., 6-16
Preventive Maintenance . . ....... ...ttt it 6-17
Preventive Maintenance Schedule ... .............................. 6-18
Preventive Maintenance Checklist . .. ............... .. .. ... ... ... 6-19
Installation and Set-up . .....c. ittt e i e 6-20

Isolette® Infant Incubator Service Manual (man223:f) ' Page 6 - 1



Chapter 6: General Procedures

Unpacking. . ... e 6-20
Assembling . ... ... 6-20
Setting Up. ..o e 6-22
Oxygen Sensor Calibration. . . ......... ... ... .. .. ... i, 6-24
Room Air—21% OXYEI . .« vttt ettt et e ee e 6-24
100% Oxygen . .....covivieiiiiinnnn.. B 6-25
Oxygen Concentration Test . ... ... . . it 6-27
Weighing Scale Calibration . ......... ... .. ... . ... i 6-28
Current Leakage Test .. ......... ..., e 6-29
Set-Up. .o 6-29
Procedure ....... ... i e 6-29
Tool and Supply Requirements. ... ... ... ... ittt 6 - 30

Page 6 -2 Isolette® Infant Incubator Service Manual (man223rf)



Cleaning
Chapter 6: General Procedures

Cleaning

A WARNING:
Follow the product manufacturer’s instructions. Failure to do so could
result in personal injury or equipment damage.

A WARNING:
Make sure that the oxygen supply to the incubator is turned off and that

the incubator is disconnected from the oxygen supply when performing
cleaning procedures. A fire and explosion hazard exists when cleaning
in an oxygen-enriched environment.

A SHOCK HAZARD:
Unplug the unit from its power source. Failure to do so could result in
personal injury or equipment damage.

SHOCK HAZARD:
Do not expose the unit to excessive moisture. Personal injury or
equipment damage could occur.

A CAUTION:

Do not use harsh cleansers, solvents, or detergents. Equipment
damage could occur.

At a minimum, thoroughly clean and disinfect the incubator upon discharge of
an infant. However, depending on individual facility policy, perform this as
often as daily, if desired. The most effective way to clean is to first
disassemble, and then group the parts and/or assemblies in categories
according to the method of cleaning required.

General Cleaning

We recommend that you clean the unit with detergent and warm water. Do not
use excessive liquid or harsh cleansers.

Isolette® Infant Incubator Service Manual (man223rf) Page6-3



Cleaning

Chapter 6: General Procedures

Steam Cleaning

Do not use any steam cleaning device on the unit. Excessive moisture can
damage mechanisms in this unit.

Cleaning Hard to Clean Spots

To remove difficult spots or stains, we recommend that you use standard
household cleansers and a soft bristle brush. To loosen heavy, dried-on soil,
you may first need to saturate the spot.

Disinfecting

When there is visible soilage and also between patient use, we recommend that
you disinfect the unit using an EPA registered (US only), tuberculocidal,
cleanser/disinfectant.

Dilute and use the disinfectant as specified on the manufacturer's label.
Using Cleaning Agents

Use an intermediate-level cleanser/disinfectant registered by the US
Environmental Protection Agency (EPA) (US only), but only after the
incubator is empty and disassembled. After removing all solid wastes and
contaminants from the disassembled parts, clean them as follows:

Skin Temperature Probe

Use an EPA-registered cleanser/disinfectant to thoroughly clean all surfaces,
and then dry with a clean cloth or paper towel.

Access Door Gaskets and Tubing Access Ports

Place the access door gaskets and tubing access ports into a snitable container
filled with a cleanser/disinfectant,

Allow them to soak as recommended by the cleaning solution’s manufacturer,
and then remove them and dry completely with a clean cloth or paper towel.

Page 6 - 4 Isolette® Infant Incubator Service Manual (man223rf)



Cleaning
Chapfter 6: General Procedures

A CAUTION:

Some chemical cleaning agents may be conductive and/or leave a
residue that may permit a build-up of dust or dirt, which may be
conductive. Do not permit cleaning agents to contact electrical
components. Do not spray cleaning solutions onto any of these
surfaces.

Humidity Tray Reservoir

The humidity tray reservoir can be sterilized via liquid sterilization or steam
under pressure. Make sure that the lid is not on the reservoir.

Controller, Shell, and Pedestal Stand

Use an EPA-registered cleanser/disinfectant to clean all surfaces thoroughly;
then dry with a clean cloth or paper towel.

In addition, check for fluids that may have dripped onto the bottom surface of
the humidity tray opening. If fluids are present, use a clean paper towel
dampened with a cleanser/disinfectant to wipe the surface dry.

A CAUTION:

When cleaning the interior of the incubator sheli, care must be taken to
prevent liquids from entering the motor shaft opening. Equipment
damage could occur. :

Hood, Sensor Module, and Inner Walls

The inner walls (A) are hinged on the access panels (B) or rear wall of the
incubator. Release the inner wall (A) by pressing on the catches (C) located at
the top of the inner wall (A) (see figure 6-1 on page 6-6).

Isolette® Infant Incubator Service Manual (man223rf} Page6-5



Cleaning
Chapter 6: General Procedures

Figure 6-1. Releasing the Inner Wall

N

-

. @ m223f074

Use an EPA-registered detergent/disinfectant to clean all surfaces of the hood
thoroughly, including the sensor module, inner walls (A), and access doors

(D). Make sure to clean all holes and indentations; then dry with a clean cloth
or paper towel.

A CAUTION:

Alcohol can cause crazing of the clear acrylic hood. Do not use alcohol
for cleaning.

A CAUTION:

Do not expose the hood assembly to direct radiation from germicidal
lamps. Ultraviolet radiation from these sources can cause cracking of
gaskets, fading of paint, and crazing of the clear acrylic hood.

Page 6-6 Isolette® Infant Incubator Service Manual (man223rf)



Cleaning
Chapter 6: General Procedures

Heater Radiator and Fan Impeller

A CAUTION:

Failure to clean the heater radiator and fan impelier could result in
sufficient lint build-up to reduce airflow, which will affect temperature
controf and cause high oxygen concentrations.

Remove any lint build-up on the heater radiator and fan impeller.

Mattress Tray, Main Deck, Heater/Impelier Cover, and Mattress Tilt
Bars

Use a detergent/disinfectant to clean all surfaces thoroughly; then dry with a
clean cloth or paper towel.

Air Intake Microfilter

Do not attempt to clean or reverse the microfilter. Replace it if visibly dirty or
older than 3 months. Before installing a new filter, clean the microfilter
chamber and its cover with a cleanser/disinfectant.

A WARNING:

A dirty inlet filter may affect oxygen concentration and/or cause carbon
dioxide build-up. Be sure the filter is checked on a routine basis
commensurate with local conditions. Particularly, if the incubator is
used in an unusually dusty environment, more frequent replacements
may be necessary.

Disassembly

NOTE:
For routine cleaning, there is no need to separate the hood/base assembly from

the pedestal stand. If separation is necessary, refer to “Installation and Set-up”
on page 6-20.

1. Disconnect the cables from the sensor module, and slowly raise the hood.

[Isolette® Infant Incubator Service Manual (man223rf) Page6-7



Cleaning

Chapier 6: General Procedures

A CAUTION:

Before lifting the incubator hood for cleaning, ensure that all mounted
accessories have been removed to prevent possible interference with
the raised hood.

2. Remove the x-ray tray (E) from the mattress tray (F) (see figure 6-2 on
page 6-9).

3. If the incubator is equipped with a weighing scale, remove the scale from
the unit before removing the mattress tray (F).

a. Disconnect the scale/sensor module cable (G) from the sensor module
(H).

b. Remove the cable (G) from the clamps (I) that hold it to the incubator
wall.

¢. Lift the scale out of the incubator.
4. Remove the mattress tray (F).
5. Remove the mattress tilt bars (J).
6. Remove the main deck (K).

7. Remove the heater/impeller cover (L).

WARNING:

The heater can be suificiently hot to cause burns; avoid removing or
touching the heater until the unit has been switched off for at least 45
minutes.

8. After the heater (M) has cooled for 45 minutes, remove it and the impeller
(N).
a. Remove the heater radiator (O).
b. Pull the impeller (N) off the motor shaft.

Page 6 -8

Isolefte® Infant Incubator Service Manual {man223rf)



Cleaning
Chapter 6: General Procedures

Figure 6-2. Hood/Shell Assembly

m223f040

~ Isolette® Infant Incubator Service Manual (man223rf) _ Page 6-9



Cleaning
Chapter 6: General Procedures

9. For “00” and “01” series humidity tray models, perform the following:

a. Remove the humidity tray (X) from the front of the incubator first by
withdrawing it to the fill position, then raising up, and withdrawing it
until it stops again (see figure 6-3 on page 6-10).

Figure 6-3. Removing the Humidity Tray Reservoir
(“00” and “01” Series Humidity Tray Models Only)

m2231090

b. Stand the plastic reservoir (P) upright on the.tray (X), and disconnect
the hose (Y) from the plastic reservoir (P).

c. Remove the plastic reservoir (P).

10. For the “02” series humidity tray model, perform the following:

a. Remove the humidity tray (X) from the front of the incubator by
pulling down on the handle (Z), and withdrawing it from the shell (see
figure 6-4 on page 6-11).

Page 6 - 10 ' Isolette® Infant Incubator Service Manual (man223rf)



Cleaning
Chapter 6: General Procedures

Figure 6-4. Removing the Humidity Tray Reservoir
(02” Series Humidity Tray Model Only)

m223f089

b. Remove the reservoir (P) from the tray (X).

11. Remove the reservoir valve (Q) by compressing the ends and lifting up on
the rear end (see figure 6-5 on page 6-12).

Isoletie® Infant Incubator Service Manual (man223rf) Page 6- 11



Cleaning
Chapter 6: General Procedures

Figure 6-5. Reservoir Valve

m223f097

12. Dismantle the reservoir valve (Q), and place the components in the
reservoir (P).

13. Remove the disposable access door (D) cuff from each access door (D)
gasket by pulling it off from the outside; discard the cuffs (see figure 6-1 on
page 6-6).

14. Remove the access door (D) gaskets from each side of the hood by pulling
them free.

15. Remove the tubing access grommets from each side of the hood by pulling
them free.

16. Remove the disposable iris entry port sleeves (S) by pulling each sleeve (S)
off the retainer rings (see figure 6-2 on page 6-9). Wipe clean.

17. Remove the air intake microfilter cover (T) by loosening the two
thumbscrews (U).

' Page6-12 ' Isolette® Infant Iincubator Service Manual (man223rf)



Cleaning
Chapter 6: General Procedures

Assembly

NOTE:

Inspect all cleaned components for any breakage or cracks before assembling
into the incubator. Harsh cleaning agents may harm some of the plastics used
in the patient compartment.

1. Install the heater radiator (O) and fan impeller (N).
2. Install the heater/impeller cover (L).

3. Install the main deck (K).

4. Install the mattress tilt bars (J) on the main deck (K).
5. Install the mattress tray (F) and x-ray tray (E).

6. If the incubator is equipped with a weighing scale, connect the scale/sensor
module cable (G) to the weight connector on the sensor module (H), and
secure the scale/sensor module cable (G) to the incubator end wall using
the cable clips (I) provided on the inside of the incubator wall.

7. Place a new disposable mattress cover over the mattress (V).
8. Place the mattress (V) onto the tray (F).
9. Install disposable iris entry port sleeves (S) (refer to procedure 4.8).

~10. For “02” series humidity reservoir models, replace the valve (Q) in the
humidity reservoir (P) (see figure 6-5 on page 6-12).
a. Make sure the spring (AA) is in place.

b. Put on the lid (AB), and place in the humidity tray (X) (see figure 6-4
on page 6-11).

¢. Replace the tray (X) and reservoir (P) in the shell.

11. Install the tubing access ports into the front and rear edges of each side of
the hood. Replace if distorted or torn.

12. Install an access door (D) gasket on each access door (D) (see figure 6-1 on
page 6-6).

NOTE:
If the incubator is to be gas sterilized, wait until after sterilization to install new
cuffs.

Isolette® Infant Incubator Service Manual (man223rf) ' Page 6- 13



| Cleaning
Chapler 6: General Procedures

13. Install a new access door (D) cuff onto each access door (D) gasket by
stretching the larger diameter elastic band into the groove in the gasket.

a. When installed correctly, the cuif has a small opening at its center.
b. The access door (D) should latch with slight pressure, and should open
when the latch lever (C) is depressed.
14. Install a new air intake microfilter (W) if it is discolored or dirty (see figure
6-2 on page 6-9).
a. Install the air intake microfilter cover (T).
b. Tighten the two thumbscrews (U).

15. Perform “Function Checks™ on page 2-4 before returning the unit to
service.

- Page 6- 14 Isolette® Infant Incubator Service Manual (man223rf)



Component Handling
Chapter 6: General Procedures

Component Handling

A CAUTION:

To prevent component damage, ensure that your hands are clean, and
only handle the P.C. board by its edges.

A CAUTION:

When handling electronic components, wear an antistatic strap. Failure
to do so could result in component damage.

A CAUTION:

For shipping and storage, place the removed P.C, board in an antistatic
protective bag. Equipment damage can occur.

P.C. Board

When servicing the P.C. board, follow good handling practices. Mishandling a
P.C. board can cause the following:

* P.C. board damage
» Shortened P.C. board life

s Unit malfunctions

Observe the following P.C. board handling rules:
* Ensure that hands are clean and free of moisture, oily liquids, etc.
¢ Only handle the P.C. board by its outer edges.

* Do not touch the P.C. board components. Finger contact with the board
surface and/or with its components can leave a deposit that will result in
board (and component) deterioration.

* When working with electronics, wear an appropriate antistatic strap, and
ensure that it is properly grounded.

* Service the removed P.C. board at a static-free workstation that is properly
grounded.

* For shipping and storage, place the removed P.C. board in an antistatic
protective bag.

Isolette® Infant Incubator Service Manual (man223rf) Page 6- 15



Lubrication Requirements

Chapter 6: General Procedures

Lubrication Requirements

A

A

WARNING:
Follow the product manufacturer’s instructions. Failure to do so couid

result in personal injury or equipment damage.

CAUTION:
Do not use silicone-based lubricants. Equipment damage could occur.

Oilite®" bearings and bushings are utilized in several places on the system. By
retaining oil, the pores give a self-lubricating quality to the bearings and
bushings. If any silicone-based lubricant is applied to the bearings and
bushings or anywhere else on the system, this self-lubricating quality is
neutralized.

It is safe to apply the following lubricants to the system (see table 6-1 on page
6-16): '

Tahle 6-1. Lubricants

Part Number Description
8252 (100) 2 oz m-1 oil (apply to Oilite® bearings and bushings)
SA3351 (100) 4 oz lithium grease

1. Oilite® is a registered trademark of Beemer Precision, Incorporated.

Page 6 - 16

Isolette® Infant Incubator Service Manual (man223rf)



Preventive Maintenance
Chapfter 6: General Procedures

Preventive Maintenance

A WARNING:
Only facility-authorized personne! should perform preventive
maintenance on the Isolette® Infant Incubator. Preventive maintenance
performed by unauthorized personnel could result in personal injury or
equipment damage.

A WARNING:
Make sure that the oxygen supply to the incubator is turned off and that
the incubator is disconnected from the oxygen supply when performing
maintenance procedures. A fire and explosion hazard exists when
performing maintenance procedures in an oxygen-enriched
environment.

The Isolette® Infant Incubator requires an effective maintenance program. We
recommend that you perform annual preventive maintenance (PM) and testing
for Joint Commission on Accreditation of Healthcare Organizations (JCAHO)
io help ensure a long, operative life for the Isolette® Infant Incubator. PM will
minimize downtime due to excessive wear.

The following PM process guides you through a normal PM procedure on the
Isolette® Iniant Incubator. During this PM process, check each item on the
schedule, and make the necessary adjustments.

Follow the PM schedule with the corresponding PM checklist. This checklist is
designed to keep a running maintenance history and subsequent repair costs for
one Isolette® Infant Incubator. However, your facility can modify this
checklist or design another to fit your needs. Two effective ways to reduce
downtime and ensure the patient remains comfortable are keeping close
records and maintaining the Isolette® Infant Incubator.

Isolette® Infant Incubator Service Manual (man223rf) Page 6 --17



Preventive Maintenance
Chapter 6: General Procedures

~ Preventive Maintenance Schedule

Table 6-2. Preventive Maintenance Schedule

Function Procedure

Overall performance| Verify that the unit is operating propetly.

Patient compartment | Inspect the patient compartment for signs of breakage. Replace
assemblies as necessary before placing the incubator into service.

Oxygen sensor cells | Replace both at the same time annually.

Page 6 - 18 : Isolette® Infant Incubator Service Manual (man223rf)



Preventive Maintenance
Chapter 6: General Procedures

Preventive Maintenance Checklist

Table 6-3. Preventive Maintenance Checklist

Date .
E Function
; = Overall performance
E g Patient compartment
E" Oxygen sensor cells
e
&
2]
e}
=
=9
3
Z
=
=)
z
o
-
w
1]
3
=
Z
c
8
g
s ]
g Labor Time:
o =
=]
;? (=1
L] Q Repair Cost:
® Z
-
o]
c
= Inspected by:
R ZO®H R O
EELifliNLe
Ba5az2882888
3 & = O g_ % g & 5
“ 2

Isoletie® Infant Incubator Service Manual (man223rf) Page 6- 19



6.1 Installation and Set-up

Chapter 6: General Procedures

6.1 Installation and Set-up

Tools required:  Phillips head screwdriver

Unpacking

Typically, the pedestal stand (or optional variable height adjustable pedestal

- stand) and the hood/shell assembly are shipped in separate cartons. When

removing the equipment from the cartons, take care not to scratch or otherwise
damage unprotected surfaces. Remove all packing materials from the shell
assembly.

~ Assembling

1. Mount the hood/shell assembly (A) on the pedestal (B) using the four 14"-
20 x 134" nylock bolts (C) provided (see figure 6-6 on page 6-21).

NOTE:
The hood/shell and the pedestal/stand are keyed such that the hood/shell can

only be mounted on the pedestal when the hood/shell power cord receptacle is
located on the same side as the line cord coming out of the pedestal/stand.

WARNING:

The incubator must be attached to the pedestal/stand using the bolts
provided. Failure to do so could result in the incubator separating from
the pedestal/stand if sufficiently tilted, particularly with the hood open.

2. Connect the pedestal/stand power cord (D) to the incubator power cord
receptacle.

3. Remove the wing nut next to the power cord connector.

4. Place the ring lug of the controller ground lead (E) on the stud.
5. Replace the wing nut.

6. Plug the unit into an appropriate power source.

WARNING:

To keep the incubator from sliding when parked on an incline, face the
pedestal stand front locking casters down the incline and locked.

Fage 6 - 20

Isolette® Infant Incubator Service Manual (man223rf)



6.1 Installation and Set-up
Chapter 6: General Procedures

Figure 6-6. Assembling the Hood/Shell on the Pedestal/Stand

m223f075

Isolefte® Infant Incubator Service Manual (man223rf) Page 6 -21



6.1 Installation and Set-up

Chapter 6: General Procedures

Setting Up

The installation/set-up menu provides a means to activate or deactivate the
humidity system, oxygen system, and Skin Mode. The Skin Temperature
alarm limit may be set to either +0.5°C or +1°C, and the oxygen calibration
level may be set to either 100% or 21%.

NOTE:

The controller has the capability to select the following languages: English,
French, German, Spanish, Italian, Flemish, Dutch, Norwegian, Danish,
Japanese, Polish, Finnish, Portuguese, Swedish and Greek.

In addition, you can select the desired language along with weight units of
kilograms or pounds.

To enter the Set-up menu, perform the following:
1. Turn the controller off.

2. Press and hold the Silence/Reset key while simultaneously turning on the
controller power switch.

3. Press the Display Selection key to highlight the desired option, parameter,
- or mode (see table 6-4 on page 6-23).

4. Press the Up Arrow to select “YES” (activate), “100%,”, “1.0°C,” or “Ib,”
to select the language, or to raise the air set temperature.

5. Press the Down Arrow to select “NO” (deactivate), “21%,” “0.5°C,” or
“kg,” to select the language, or to lower the air set temperature.

6. To exit, press the Silence/Reset key.

Page 6 - 22

Isolette® infant Incubator Service Manual (man223rf)



6.1 Installation and Set-up

Chapter 6: General Procedures

Table 6-4. Set-up Options, Parameters, and Modes

Display Selection key Up Arrow key Down Arrow key
selections selections selections
Humidity option Yes No
Oxygen option Yes No
Oxygen calibration level| 100% 21%
Skin temperature alarm | 1°C 0.5°C
limit
Skin Mode Yes No
Language English Italian
French Spanish
German German
Spanish French
Italian English
Air set temperature 30 to 37 37to 30
Weight unit Ib kg
Altitude < 10000" (3048 m) > 10000 (3048 m)

Isolette® Infant Incubator Service Manual (man223rf)

Page 6 - 23




6.2 Oxygen Sensor Calibration
Chapter 6: General Procedtres

6.2 Oxygen Sensor Calibration
Tools required: ~ None

If the message Cal Required appears, calibrate the oxygen control system as
described below. Daily calibrations are recommended. To maintain system
accuracy, a 7-day calibration cycle s required.

Room Air—21% Oxygen
1. On Display 1, press the Oxygen key.

2. Press the On key, and then the Cal softkey.

NOTE:
To prevent a Cal Fail message, withdraw the sensor module from the hood

within 5 seconds of pressing the Cal Softkey.

3. Pull down on the lock (C), and withdraw the sensor module (A) from the
incubator hood (B) (see figure 6-7 on page 6-24).

Figure 6-7. Withdrawing the Sensor Module

m223f032

Page 6 - 24 Isolette® Infant Incubator Service Manual (man223rf)



6.2 Oxygen Sensor Calibration
Chapter 6: General Procedures

4. When calibration is complete, the message Cal Pass appears in the
Oxygen display.

5. Return the sensor module (A), and push up on the lock (C).
6. Press the On softkey.
7. If the message Cal Fail appears, go to step 1.

8. If the calibration procedure is unsuccessful a second time, refer the unit to
qualified service personnel.

100% Oxygen

NOTE:
To perform the 100% oxygen calibration procedure, the incubator hood must
be equipped with the 100% calibration fixture.

1. Connect an oxygen hose to a 100% medical grade oxygen source at 3 to 5
Imp and to the barb fitting on the calibration fixture.

2. Turn on the oxygen.
3. OnDisplay 1, press the Oxygen key.
4. Press the On key and then the Cal softkey.

NOTE: -
To prevent a Cal Fail message, withdraw the sensor module from the hood
within 5 seconds of pressing the Cal softkey.

5. Pull down on the lock (C), and withdraw the sensor module (A) from the
incubator hood (B) (see figure 6-7 on page 6-24).

6. When calibration is complete, the message Cal Pass appears in the oxygen
display.

7. Return the sensor module (A).
8. Push up on the lock (C).

9. Press the On softkey.

10. If the message Cal Fail appears, go to step 1.

Isolette® Infant Incubator Service Manual (man223rf) _ Page 6 - 25



6.2 Oxygen Sensor Calibration

Chapter 6: General Procedures

11. If the calibration procedure is unsuccessful a second time, refer the unit to
qualified service personnel. '

Page6-26 _ Isolette® Infant Incubator Service Manual (man223rf)



6.3 Oxygen Concentration Test
Chapter 6: General Procedures

6.3 Oxygen Concentration Test
Tools required:  Oxygen analyzer
3/16" inner diameter surgical tubing

NOTE:
This test only applies to units that are not equipped with an oxygen control

system.

1. Connect the output of the oxygen flowmeter to the nipple of the oxygen
input valve using 3/16" inner diameter surgical tubing. An oxygen
concentration guide is provided below (see table 6-5 on page 6-27). This
guide also appears on the back of the incubator.

Table 6-5. Oxygen Concentration Guide

Oxygen Supply Approximate Oxygen %
3 lpm 30%-40%
6 lpm 45%-60%
9 lpm 50%-70%
12 Ipm 55%-75%
15 Imp 60%-80%

2. Allow oxygen concentrations to stabilize.

A WARNING:
Oxygen flow rates cannot be used as an accurate indication of oxygen

concentration in an incubator. Continuously monitor the oxygen
concentrations with a calibrated oxygen analyzer. Failure to do so could
result in personal injury or equipment damage.

3. Place a calibrated oxygen analyzer on the mattress in the incubator.

4. Apply oxygen at the flow rates described in table 6-5 on page 6-27.

Isolette® Infant Incubator Service Manual (man223ri) s Page 6-27



6.4 Weighing Scale Calibration
Chapter 6: General Procedures

6.4 Weighing Scale Calibration
Tools required: ~ Weight, 11 1b (5 kg) (P/N 03 310 16)

Upon installation and every 6 months thereafter, calibrate the scale using a
calibrated weight and the following procedure:

1. Ensure that the mattress is level and not in the Trendelenburg or Reverse
Trendelenburg position.

2. Select Display 2, and press the Weigh softkey.

3. If objects are on the mattress, remove them before pressing the Zero
softkey. '

4. Press the Zero softkey two times.

5. Press the Cal softkey.

6. Wait for a weight reading.

7. Place a calibrated 11 1b (5 kg) weight on the mattress,
8. Wait for a weight reading. |

9. Ensure a reading of “5.000 kg” appears.

10. Remove the weight.

11. Press the Home softkey.

Page 6 - 28 ' Isolette® Infant Incubator Service Manual {(man223rf)



6.5 Current Leakage Test
Chapter 6: General Procedures

6.5 Current Leakage Test
Tools required: ~ Leakage tester

Set-Up

1. Connect the controller to the primary power source through an ungrounded
adapter plug so that the unit is ungrounded.

2. Turn the power switch on.

NOTE:
The leakage current test standards, provided in the test procedures below,
assume leakage through a resistance of 1000 ohms.

3. If the leakage tester being used does not provide this resistance, adjust the
test set-up to provide it.

4. Turn the power switch off.

NOTE:
The leakage current test standards, provided in the test procedures below,
assume leakage through a resistance of 1000 ohms.

5. If the leakage tester being used does not provide this resistance, adjust the
test set-up to provide it.

Procedure

1. Use the leakage current tester to measure between the chassis of the unit
and a known ground such as the ground connection of a wall receptacle.

NOTE:
The leakage current must not exceed 300 uA for 100V AC/
120V AC units or 500 uA for 220V AC/240V AC units,

2. Reverse the plug, and repeat the previous step.

Isolette® Infant Incubator Service Manual (man223rf) Page 6 - 29



Tool and Supply Reguirements
Chapter 6: General Procedures

L
Tool and Supply Requirements

To service the Isolette® Infant Incubator, the following tools and supplies are
required:

* Phillips head screwdriver

* Oxygen analyzer

* Leakage tester

* 3/16" inner diameter surgical tubing

* Weight, 11 1b (5 kg) (P/N 03 310 16)

* 12" long wooden prop

* Pliers

* Access panel gauge (P/N 83 900 14)

Page 6 - 30 _ Isolette® Infant Incubator Service Manual (man223rf)



Chapter 7
Accessories

Chapter Contents

A O S OIS L . . .t e e 7-3
Weighing Scale. ... ... i e 7-4
Installation .. ... e B 7-4
Removal .. ... e 7-5
(00 4 = B+ S 7-6
Installation . ... ... ... i e e 7-6
100% Calibration Fixture Installation. ................ ... ......c..... 7- 9.
Removal ... . e 7-10
Humidity System (“00” and “01” Series Models Only). . .................. 7-11
Installation . ...... ... . i e, 7-11
Removal . ... . 7-14
Humidity System (“02” Series Model Only) . ............ ... ... ....... 7-15
Installation ........ ... .. e 7-15
Removal ... .. e 7-18

Isolette® Infant Incubator Service Manual (man223rf) ) Page7-1




Chapter 7: Accessories

NOTES:

Page 7-2 Isolette® Infant Incubator Service Manual {man223rf)



Accessories
Chapter 7: Accessoties

L T
Accessories

For Isolette® Infant Incubator accessories, see table 7-1 on page 7-3.

Table 7-1. Accessories List

Product Number Description

83 444 00 (2000) IV pole assembly

83 442 00 (2000) Monitor shelf assembly, high

83 441 00 (2000) Swivel drawer assembly, small

83 440 00 (2000) Swivel drawer assembly, large

83 443 00 (2000) Oxygen tank bracket assembly

83 001 05 (2000) Ventilator tube support

83 610 70 (2000) Humidity system assembly, 120V (120V model only)

83 610 80 (2000) Humidity system assembly, 240V, English/Span-
ish/French/German/Italian (240V model only)

83 610 90 (2000) Humidity system assembly, 100V (100V model only)

83 613 70 (2000) Humidity system, 120V (120V model only) (“02”
series model only)

83 613 80 (2000) Humidity system, 240V, English/Spanish/French/
German/Italian (240V model only) (“02” series model
only)

83 613 81 (2000) Humidity system, 240V, Swedish/Greek (240V model
only) (“02” series model only)

83 613 90 (2000) Humidity system, 100V (100V model only) (“02”
series model only)

83 670 50 (2000} Oxygen assembly green DISS
83 670 51 (2000} Oxygen assembly green

83 670 52 (2000) Oxygen assembly white

83 670 53 (2000) Oxygen assembly blue

Isolette® Infant Incubator Service Manual (man223rf) Page 7 - 3




7.1 Weighing Scale
Chapler 7: Accessories

7.1 Weighing Scale

Tools required:  None

Instaliation

1. Open the access door (A) of the incubator (refer to procedure 4.7) (see
figure 7-1 on page 7-4).

m223f033

2. Remove the mattress (B) from the incubator.

3. Place the scale (C) in the incubator. Make sure the scale/sensor module
cable (D) is located on the right side of the incubator.

4. Replace the mattress (B) in the scale (C) tray.

5. Connect the scale/sensor module cable (D) to the weight connector on the
sensor module (E). :

6. Make sure there is sufficient cable slack between the edge of the hood and
the scale to permit the hood to be raised to its full open position and the
mattress tray to be fully withdrawn from the hood.

Page 7 -4 Isolette® Infant Incubator Service Manual (man223rf)



7.1 Weighing Scale

Chapter 7: Accessories

A WARNING:
Ensure all sensor leads are properly routed. Use cable management
clips to avoid entanglement and possible injury.

7. Secure the scale/sensor module cable (D) to the incubator end wall using
the cable clips (F) provided on the inside of the incubator wall.

8. Calibrate the weighing scale (C) (refer to procedure 6.4).

Removal

Perform the installation procedure in reverse order.

Isolette® Infant Incubator Service Manual (man223rf) Page7-5




7.2 Oxygen System
Chapter 7: Accessories

7.2 Oxygen Sysiem
Tools required:  Phillips head screwdriver
Pliers .

Installation

1. Remove the sensor module (A) from the hood by withdrawing it until it
stops (see figure 7-2 on page 7-6).

|2231092
a. Pull out the clip located on the left side of the sensor module (A). -

b. Remove the sensor module (A) from the hood.

2. Using the phillips head screwdriver, remove the screws that secure the
oxygen sensor cover (B).
3. Remove the oxygen sensor cover (B). Retain the screws.

4. Withdraw the sensor cell connectors (C) from inside the sensor module (A)
housing.

5. Screw the sensor cells (D) into the oxygen cell mounting plate (E)
provided.

Page 7 -6 : " Isolette® Infant Incubator Service Manual (man223rf)



7.2 Oxygen System
Chapter 7: Accessories

6. Connect the sensor cells (D) to the sensor module (A).

7. Using the phillips head screwdriver, install the oxygen cell mounting plate
(E) on the sensor module (A).

8. Install the sensor module (A) in the hood.

9. Remove the panel (F) next to the filter cover (G) (see figure 7-3 on page
7-8).

10. Find the oxygen hose.

11. Find the solenoid leads, and release them from the clip attached to the shell
(N) wall.

12. Release the plug from the end of the oxygen hose by squeezing the
retaining clamp with pliers, and sliding it up the hose.

13. Remove the plug, and discard it.

14. Connect the leads to the control valve assembly solenoid (H).

15. Connect the oxygen hose to the barb fitting (I) on the filter assembly (J). -
16. Lock it in place with the retaining clip.

17. Mount the control valve assembly (K) and the hose hanger on the shell (N)
using the two #8-32 screws (L) provided.

18. Activate the oxygen system.

19. Calibrate the oxygen system at 21%.

Isolette® Infant Incubator Service Manual (man223rf) Page7-7




7.2 Oxygen System

Chapter 7: Accessories

Figure 7-3. Control Valve Assembly

m223f094

Page 7 - 8 Isolette® Infant Incubator Service Manual (man223rf)



7.2 Oxygen System

Chapter 7: Accessories

100% Calibration Fixture Installation

1. Remove the sensor module (A) from the hood by withdrawing it until it

stops (see figure 7-4 on page 7-9).

Figure 7-4. Installation of the 100% Oxygen Calibration Fixture

m223f095

2. Pull out on the clip located on the left side of the sensor module (A), and
remove the sensor module (A) from the hood.

NOTE:

The 21% fixture is located under the sensor module opening.

3. Remove the existing 21% calibration fixture from the hood.

4, Retain the screws (O).

3. Mount the 100% calibration fixture (M) directly under the sensor module
(A) opening using the screws (O) and the slide lock (P).

6. Replace the sensor module (A).

7. Select the 100% Calibration level.

Isolette® Infant Incubaitor Service Manual (man223rf) o " Page7-9




7.2 Oxygen Sysfem

Chapter 7: Accessories

8. Calibrate the oxygen sensor using the 100% calibration procedure.
Removal

Perform the installation procedure in reverse order.

Page 7 - 10 Isolette® Infant Incubator Service Manual (man223rf)



7.3 Humidity System (“00” and “01” Series Models Only)
Chapter 7: Accessories

7.3 Humidity System (“00” and “01” Series Models Only)

Tools required: ~ Small screwdriver

Installation

A CAUTION:

To prolong the useful life of the humidity module, use only distilled
water. Sterile water is not an acceptable substitute for distilied water.

1. Remove the mattress tray (A), mattress tilt bars (B), main deck (C), and
heater/impeller cover (D) (see figure 7-6 on page 7-12).

2. Remove the heater radiator (E) by unscrewing it.

3. Remove the humidity opening cover (F) by inserting a small screwdriver or
similar device in the slot at the bottom center of the cover (F).

4. Remove the hole plug (G) at the bottom of the heater/impeller cavity by
loosening the wing nut (H) and removing the flat washer (I) inside the shell
(see figure 7-5 on page 7-11).

Figure 7-5. Removing the Hole Plug

NOTE:
Upper shell shown rotated 180° for clarity. G m223085

Isolette® Infant Incubator Service Manual (man223rf) Page 7- 11




7.3 Humidity System (“00” and “01” Series Models Only)

Chapter 7. Accessories

Figure 7-6. Removing the Humidity Opening Cover

i
)

m223f084

Page 7-12 ' B Isolette® Infant Incubator Service Manual {man223r1)



7.3 Humidity System (“00” and “01” Series Models Only)
Chapter 7: Accessoties

5. Find the humidity cable, and connect it to the humidity control module (I)
(see figure 7-7 on page 7-13).

Figure 7-7. Humidity Control System

m223f086

6. Remove the humidity cap (K), metal washer (L), and o-ring (M) from the
top of the humidity module (J). Leave the polypropylene washer (N) in
place.

7. Thread the humidity hose (O) through the round hole in the humidity tray
(P), and connect it to the barb fitting on the side of the humidity module (J).

8. Imsert the humidity module (J) into the shell.

9. Place the humidity cap collar (Q) (see figure 7-7 on page 7-13) in the hole
vacated by the hole plug (G) (see figure 7-5 on page 7-11).

10. Secure the humidity module (J) to the shell using the humidity cap (K), the
metal washer (L), and the o-ring (M) (see figure 7-7 on page 7-13).

11. Place the humidity hose (O) in the retaining clip located on the bottom of
the humidity tray (P) opening.

12. Insert the humidity tray (P) into the shell.

Isolette® Infant Incubator Service Manual (man223rf) Page 7- 13




7.8 Humidily System (“00” and "01” Series Models Only)
Chapter 7: Accessories

13. Connect the humidity hose (O) to the reservoir (R), and install the reservoir
(O) in the humidity tray (P).

14. Reassemble the incubator.

15. Activate the humidity system.

Removal

Perform the installation procedure in reverse order.

Page 7 - 14 Isolette® Infant Incubator Service Manual (man223r)



7.4 Humidity System (“02” Series Model Only)
Chapfter 7: Accessories

7.4 Humidity System (“02” Series Model Only)

Tools required: ~ Small screwdriver

Installation

A CAUTION:

To prolong the useful life of the humidity module, use only distilled
water. Sterile water is not an acceptable substitute for distilled water.

1. Remove the mattress tray (A), mattress tilt bars (B), main deck (C), and
heater/impeller cover (D) (see figure 7-9 on page 7-16).

2. Remove the heater radiator (E) by unscrewing it.

3. Remove the humidity opening cover (F) by inserting a small screwdriver or
similar device in the slot at the bottom center of the cover (F).

4. Remove the hole plug (G) at the bottom of the heater/impeller cavity by
loosening the wing nut (H) and removing the flat washer (I) inside the shell
(see figure 7-8 on page 7-15).

Figure 7-8. Removing the Hole Plug

NOTE:
Upper shell shown rotated 180° for clarity. G m2231085

Isolette® Infant incubator Service Manual (man223r1) Page 7- 15




7.4 Humidity System (“02" Series Model Only)

Chapter 7: Accessories

Figure 7-9. Removing the Humidity Opening Cover

m223f084

Page 7 - 16 Isolette® Infant Incubator Service Manual {man223rf)



7.4 Humidity System (“02” Series Model Only)
Chapter 7: Accessories

5. Find the humidity cable, and connect it to the humidity control module (J)
(see figure 7-10 on page 7-17).

Figure 7-10. Humidity Control System

m223f087

6. Remove the evaporator cap (K), stainless steel flatwasher (L), and silicone
flatwasher (M) from the top of the humidity module (). Leave the
polypropylene flatwasher (N) in place.

7. Insert the humidity module (J) into the shell.

8. Place the humidity cap collar in the hole vacated by the hole plug (G) (see
figure 7-8 on page 7-15).

9. Secure the humidity module (J) to the shell by using the evaporator cap
(K), polypropylene flatwasher (N), stainless steel flatwasher (L), and
silicone flatwasher (M) (see figure 7-10 on page 7-17).

10. Slide the humidity manifold assembly (O) provided to the rear of the
humidity opening. Ensure that the mounting tabs (P) are placed in a
horizontal position.

Isolette® Infant Incubator Service Manual (man223rf) Page 7-17




7.4 Humidity System ("02” Series Model Only)
Chapter 7: Accessories

- 11. Reach into the humidity opening, turn the thumbscrews (Q) on the
humidity manifold assembly (O) two turns counterclockwise, and then
tighten. Ensure that the humidity manifold assembly (O) is secured.

A CAUTION:

To prevent damage to the humidity cap collar that secures the humidity
moddule to the shell, be careful not to twist the humidity module around
the horizontal axis when installing the tubing on the module,

12. Connect the tubing (R) from the humidity module (J) to the barb fitting (S)
on the humidity manifold assembly (O). Do not twist the humldlty module
{J) around the horizontal axis.

13. Mount the reservoir (T) and reservoir lid (U) provided on the humidity tray
(V) provided.

14. Insert the humidity tray (V) into the shell, and lock the handle (W).
15. Reassemble the incubator.
16. Activate the humidity system.

17. Go to “Function Checks” on page 2-4.

Removal

Perform the installation procedure in reverse order.

Page 7 - 18 : Isolette® Infant Incubator Service Manual (man223rf)



1€ Od

"QALIINNOD 38 0L $1 INININDI LE3L ANY dI 3NN OV JHL ANV
LNdNI 2NTJHID FHL NIIMLIIE GILIINNGD 39 LS HIWHOISNYHL NOLLYTIOS! NY 'Ly3day

YO0HS 2iELOTTA QIOAY OL
1INDHD 3HL 0L INIFWIND3I 1S31 SNILDENNOD NIHM NOILNYD3Hd SIHL IAYISA0

"IN GV SHL GNY LN1dNI SISO SHL NI3ML38 G3LDANNOD
HIWHOLSNYEEL NOLYTIOS! Ny H1IM 3NCQA 38 1SNIN LNSHID SiHL NQ O3WECYId DNILSIL TIV

INCLLYD 35N
ETYILNILO 29VATOA HBIH GALOANNOI-INI IV SNOYIONYA NIYLNGD SLINOWD ASIHL “Ly3d3d

"SUNDJHID AS3HL CE SNOULSANNOD SNV

NV HLIM DNDIHOM NI O3S0 38 LSAW NOLLNVD AWAHLXS "SUNDHEID 3SaHL NI

1N3S3td IV STYLNILOG OALIINNOD-ANN IV ‘FDYLTIOA HOIM LINDRD SIHL 40 DNISSL FHL Ni
Q38N A8 LSNW NOANYD LYHL OINGYA S H30vIH SHL 'HEHLEN ANY ONIISID0Hd 360438

LUNJWID STHL NI LNZSTHd SHY STYILNILOD TYHLIT ONY SNOHIONYA 'DNINLHYM

11

(-] Furn hid
o - o
s 7L Py
- w —_— &
Sy oy Ll
ol -
g [3
- E—
$
= il
2T
- 2
£V A #9000

S0TIEZZW
AT
e T —
=
£ s =
e -l St ne ST
J: %C T
-1 = LN ol a
n o4 - o] s
ECT = A Y- scowa N e
~n el Iﬂ.llzl El
— da af
—_— a a o
—r e
— ]
—_ e — Thar
T ) i,
it

[
SR

FOVLIOA SNOHIDNYA

ISR e ATET




g€ Od

EBUIETET
- £
vy
PLOTIT T SHAIONITOS TO
- zo
H%_.n w
=]
o Noxazxuwmm_
II9YLIGA DIONIIOE 20
AQDL/ 4000
o) T8Y-NYZOIE GEOOHSININ
AZL+
ONTUIM 31131081 = ¥EZ9aY
FLY - .
3wA 05°Z
w —[dIonaToE 26 |_| 172 ¥ o
T|_AI9RITOE 20 H
m F51_J3LVaH t T N+ 1noa > 31dNODONNIHL
-J1 ¥3IV¥EH
: FH0YI_LUONS W aoud suous 7| ™ o
z 380=d DHO1 5y 2y
I A0 T
TS IIRS §o0d ) SPY h
= = wzL'y
= 118 .
I ADS
N0 €18616SVASI 3]
. r—. ov2 20 .
Hivezzzienm SHAVII ALIAYVS MMILINS 800/ !
1y
zaiy .
$000-005€ HoOIAY Z0I6-0079 R/d ISD CASSY 118¥3
IDONS VLM zL HOLINS ¥3M04 40 L¥vd 3uv SHOISISIM
Iﬂ(((((.@lilvv HINBOASNYHL LNIHUND 1on
|_JE E'o-i LNO HOLIME HIMOD DA ———-Jpn0 HOLINS
LI ML W
¥ o N\ _o
e A va NI HOLIMS ¥IMO04 F)—— A A———IPI HOLINS
Ly [T
. YEQupLE
2
£40v2X2 - P.m SHLA0 HOLIMS ¥IMOJ
FF 9¥01 - Joulhsa — e ITATALANHS M3YOS ONLLNNON |_ | M
A A -
{1 aven  + tourwen |- a007 AcOE ©a+ | RILTAS HIMOJ
3 AlddNS ¥3IMOd ddogy T dAR0Ly - e ©
HITIIQIANKAYIL 93 — o 6 e fiid 1_\ YZ-pzl T
L—— g L
¥ FETErC T pr——————Sa07Z%3 9 s = oM o™ o— SNI HOLTMS H3INOd
M EE I FF a¥01 - J0uLNOD = IV IHY — m ﬂ et ADSZ Aoee P
< NUnlIE OV EU N ELIN M
: T NENi3d 07 TP O9veT  F Touimed = 7T z0 — 5 W 13T 2¥
T LB vZ-tig |
v T
: 24 ) AN z

[X] Sir



¢ct Od

ang_nva QN Kvd ang_wvs ang Ny aNg_nvd
[ Ectan] AHYL
ASE INYL
0L g a0y ABE/ 3001 Mo
510 F H 3 H HE 1% H
azls A+ adit AbzE AbTH
oo .
00 N¥P £l "SSHYAINIIH M
—— A 08T
agar .
18] 2y
TLAAALS w1l
+ £
AN W HOYL Wi
L] HoUot YELTA TdL
. Ly WOl aen
FETIETE ) =
e = ; DOHIVL HY4
noa't a_+
|ry ¥ELERT
——AA—INEA 08T orn o :
oo
81 vy
. = 2924 ONS NY4 ONS NYA  dHD v
\AANS 3 nooL H lj_H
3
.
AAAS 7 APTE L A== anzzeto
. 21 Hool T wegemn zzy [t 62 99
132 WOl arn o1
. By . L3y B
soror
o7y ang_ Nvi 1 e 90
g HYd ONO HYs  NE'6H saLy
woo'L
vy moceznan AHO 50 i
. iy T
)
DFIWA 05T ra NS [— wat I_l
#0°01 Sl dNZdNOLTS WOO'L
Al ny a SIS gy nHO 0 uulﬂ. Ty
[ AL a1~ 5] ™ SHL 3 T 311103
AAA a ¢ ] Lo ERUET ] 5 oy gL 100
001
! o vertm T 10 mononan o
43345 NV
Wt 9 e 394 141 adle
Hao'l @ AYZH
1n
HSI-1Z10992
AN .
1 .
o 008
NYd 31137050
Rpmran- ZXL ¥3IAVIH ANAS .
B P -
X2 mo v
uSI-LZL0 997
AN
£
QN9 Nvd
WiopacoR0ZR Rk

NS MY OND NY2
1YL
ASE
EL T ELIN ] .
ua W g .M;
394 304
aky_nvd
s
£54
S)THL DOQHILVM/
NN
NLIETH - QNS MY
o L T
aNg_Kvd ano't
»i8g Luisgaay £
g HE6H
68 & wser T as b o
+dny LNO NI+ B RV
r Ho+a ni- & %
sty . 2 v sl
an sauv
Il e 2aA :
NI oV v
99 g iy ELTR
n " N—D3uA 052
oLy Q gy
S¥Y a1y
AZLE




.
m Nlmw OH_ B} B . B QND _d¥ QNS dY  OND d¥Y  OND ZEZ-5H
Tougegu Il_llsrno.o Hg_co.o g H:;.a H&:d “_“ua_.c ||_“u=_.o . “_xi.ﬁ_.o
cv3 H 23 12 823 H 20 H 829 H 820 H [
ang I£z-54 N av a4 LT AST dv  AGT dv A% dv 20A ZfE-su
=N LEUANOH
G s idost  |adoss | adast
R nw UN9 ZLE-SH ITOREd T 2D T Td
: a T
0xy 2L7~SYY) 5 + 0ziLy
AN
mmm m o |_| iz 1gLiLl /& \%ME;_ oz
ans
ZinS2A 2{T-5u 1oy 2 T15 79Z-5H
o ar £8G ¥OLO3NNOD
aoA  2dA aNg ZE£Z-SY - 2
LELANIH
=0
7] 3w 5 +30 +2 TR
T e Lo
B zano Tl o
.u.w g rors 1 H ey T 410
BT s -t "
T A INE b A LLF] T2
N LTS -0
2 [ 0Lz 811 [1
04z > flaLw T | ocu [ 1 T L
sou 20A ZEZ-sH 3Ly uiy aga Z¥Z-sy 4F
20A 2E-s
234
aHo gv
aNg _dv HOL¥
EEES
= ELAND EIES _
T T o €0 N om
[ ¥ |
<+ : ‘
wivd 1 oS e
NI ¥ivd IWOCH HOSHAS)) = < sz »aiva sou
»a
0Lz L E4
oty 3 ik i 464 ._. |—.
N ATF gy A av
ELYSEE LY NG _av
LEIMNDH H_u
S EL
1010 ¥1¥Q INQOH HOSNISHyr——— T s
- .
- g
N £
8 IINA0N HOSNIS
0:2 olaLy T ano _dy §60 HGLDINNOD
zey ASY gy
anNT _av aHNDYD WS -
20 LTIMNIH ..._u a1 ©
@
NIDTD RN HOSNIS v|.|||n1w1 o s I °
7 A ¥I¥G NS | 00
- DOAZL+ WS
> LT Y ek o
. ]
o 7 Nz B e 13530 ns v
5!
B [ o
[:724 5ILY¥ Zn
ary ASF av
AS¥ dv
ano_dv st al
a0A ZEIMNDH
13338 3INQ0N dosH3Es i
R
z € ATLE Y AZL-"dv
-+
i
. T N
ry 54

0L v




¥'¢€ Od

0TLEE™

aMN9  d¥

1

Ano

aNd dY

T

4ne

@M gen
994

aNS dv
LCLMNIM 4. AS+ dvY
—fo/n
13538 Z0dS/D ’ 5
Y L
- Nﬂl 5 7359 20ds7
Z ] L 0Lz
1 12/N m vy
oLz czaLy gin L
coy AST dv
ASTF av
204
aNg dv
LELMNIH lﬁ
—J asN
axL z0ds) * g
> L
-+ Nﬂl 9 JA1303d gods
2z . £ OLT
T g Zty _ anNg dv aNg av
oLz ZzZ3LV N i
L ASTF av
CASH gy
394 sz vzl
3INGON  Z0dS
Y¥INGD
= £SLMNDH noE
S /N ol 8
3 TIASNYHL 2045 g L
« 9 g —
bl » ¢ —
1Z3LY b 2 )
u\znm s
ein
0s2Z £z zz1
224 QDA Bey
1z1
ASF gy ASL- AV ASLF dv

1. 1

ElN

H ) H z¢o H 1£2 H )

AGL+ dV  ASL-



g'¢€ Od

£0ULZTE

. 1L

40L00°0 000

SuH 9c0

S3T0H ONILNNOW

o—

ayvos xnv
/N
ERECTERET z
100 ¥iva Igs "
NI viva IdS ol
#0127 IdS &
— 3
LRALNG XY = . ¥3d338
NN T3 $0Z-1dS
< ¥
z <
L Z "
j t
(18
%A
T _owveg ngy T
—— o5 ar 384 05°Z
ASL— dYAZ= oY ONS d¥ & i 38044 LUOHS
A1ddnS ¥Iod o Sv 3808a 9N0T
T F1JRODOMEIHL
Yol N I}
e av NM MM T M" m—m HINYOISH AN3IYYN3
aft dv sz &z ALY dY 8¢ g S29v1IcA CIONZI0S go 3IVL0A ¥
W vz ez AGLE dv |_| s5  &f
= —zz oz 4181 DOAHOLYA/ ve  ef 100 HOLIMS ¥IMOd
aNg Nnuu_:lmz JE B ASUE dY ATV dY  AST gV TavNa eSS s ‘o I HOLIMS ¥iMOd | aNe ¥4
o 1IN0 v1vQ Ids, or ez XL ZFZ-5Y
WD EEITRE g g - ORAEEESE mnnhﬂmz NI ¥1vd LdESS 8z .2 Xy 2eZ-5u Py
- i Ao 0010 1ds S sz sz HILIMS 00/ 1 IV
- — zt 10 ~ 1353y 3NCOH BOSN3IS/ ¥Z €2 z
aNe NYd ol L] 1S I ¥30T72 INAOH HOSNIS zz 1z MAYL NYd HOVL NYJd ¥3T704LNOD |
g L VLWL DY NG ¥1va 3INJOW ¥OSNIS 0z 8 Kmd NV 3
9 s ~ NI ¥LIVO 300N YOSNIS a o ION310S 20 A e
.. 1 < Az 13530 Z0ds/ a < 3T4TAIANH/
z : Apes o axl zoas noooq AYTIN A133VS
AW AZl+ 994 a*y 70dS M__. _M HALYAH/
A¥EH g L
s s
¥ 1
AvE- ¢ _ AP+
AZl+ Ti AT+

oA J2A



I'e€ 04

“Hiom ‘a 0
JR— H 8/i JUDJB|O)] ZE§ IO SIDISISEL D 'PIJOM SSIMISYIO SSINN L = = = = = =
A INYL _ T
= . AOZ FLIE FU amp a0 e _
h._ou_ €2 80 L9 83 ! nw
:1}
IVESARD
R e : " eay _
i ZHHRBL 2T melhl znw"n— Lary FEL-LECHSON H H .H H H.
Y S2A 23A
n m = wix EH = adA o%4 J2A ooA
e g .
93Lv L @
t no saan i =
Sy olE R il
aND Q34
? ahg i
o LIS iy EEIE—
0z1
PR . ana HOH43A Av
l WD ZHA L aa—grLhoT0 ano LSt HS/D90¢6 =
1 an9 ]
% = 59 ans
{9133Hs) FMd OIONIIDS Z0% e ompa bl i 2 19 280
(3133ns} PPV ST W el D TRl viva T 0a ON S H
(3133Hs) HOvL Nvy CTH ) g 00 T D108 294
(8133H5) 13538 20457 Somm e ECh oy T Pee e ¢
(9133m5) WATALATANH/ Borroe NS Fee "
(g1320s) HILYIHS . 7650 oNa I ol I
$O3HPL {(g133H8) L35I IINGON HOSHIS/ 27230 ano 5% 54
(p13344) 42073 ITNAGN HOSNIS ora0 ane 1
(Zi3ms) oury (4133WS)LN0 ¥L¥Q IINCOA UOSNTS 07601 o 7
- o (2133H5) N1 ¥1¥0 31N00A HOSN3S 1 f1rz01 oA
™ Mm._.muxmv HIVL HYd ¥3TI0ULHOD 2% lons1aT 10n0 /323384
Z133HS! i
asy ) AQY3d HSY L] a10d 951/INELS: |2
(£'213305) mrud> Tooruoiaar mu
ISQ/HILIIT (25
T ks aso/2atan (52 1
(213348) T7 OLuY) (2133HS) 31EVNT u»m\vv.ll.ol.\oﬁu.\nn,.
T 2/99
ERLACTE Soren Byl SHAEYNE XNy (213318) nai oL ETh
LLETTYS {Z133HS)  318YHI DHASY/ 59/99 < [og D) & R
i (s13308) SO0RD LYy ikt gesi32e 2 IMBYNI LSYHINOD  (£L33ns)
(Z133HS)  378¥N3 nghI/ pry oty o594 158 M 318¥NI 0/ {r133ns
(£123M8) 2I8VNI AvIdSI0r S5 59700 ISON Fog 2 N0 ¥ive igs (87 CLIIHS
Oy (Z123HS) ALTEM ST HYH/ 2/%0v08 R NI vivd [dS (8'#13345) GeA VA DA
(513318 21Tam Gont vvay m 508 $5 %3070 148 (@'w'eLImMe)
Q31 w3eny 152/08 @
ozz N Mmkwwxmw IIEYNT MY/ > Xl /8 axL €1 2045 (BLIIME) A
133HS)  31GVYN3 HSY14/ 1l g HS
B e PO rjooasy axa [H——SH0ed z0ds (9133HS) €Ly z3LV 13834/ -
oy e [s] 1L z
29 sHa L3534
g L1vH mm 138347 T ? 4 538 A
§£tg PTET:] LIVH «
“ C zta ¥E FEEC] =quc§mn 294
a
FEA) HOL Hol AL'T
ota 1041/,
m.n_ MM" o quM\ﬂ MM w.n woam.w Mmﬁwnmw Y £y 2u -¥» 13534/ (5'€'2133KS)
S ea izt mu SOUI/Sd [Fmmmnudy HOLIMS HIMOA {5133HS)
L FOUT/ ¥ ] kS 0uT ONLSHS {zL33H8)
80 BE
g FETE SOUL/TA o) DUL LA/ {z133H5) kRl Bl 204
T mu zowlszd (2o INIOA MEYIY moT {SLI3HS) M0 (#'9'243308)
\:'lww, 1 ol e INNTOA Muvly dan (SLITIHS) —Spars1 soamorvms
L
To mm 200 T oyanntoa Ravw HoIH  (SL33HS) Oy 12
Bcl
oa
. TR 1218403 L -
(8°¢° 203348} [510]03) 0775r0a | ommw“ (£133Hg} LT
SR tasga |50k (213308} 68y
3/6 9oL sos (C133H5}
Vg ] 5 1Y SY/F3 sy/
v T3] B smuses -0k %2 (£133u8)
Lav ey TR A e o faLas) 228
1 e e 37 IV PILSAS/HEYIY (9L33HS)
09 B iA2vsa/ (£133HS)
% 3 SiY 0HdvSa/03 £
3 i
3 E13 £lY
v za] 2 394 d37 d3snv
v uy anA Rt
[ v oty 224 |EEL
— & a9 pigk
v av RNy LI
[—i—itl v 2on B8
T av 204 ww b
= sy aon 24
T Y son 2
[ T o 298 (L&
FTANTE M 25 HE p
. o ] ey LT D |
2] gy 3op =il




¢'e€ 0Od

[Nl LNYL LHY L
Ao a0z Ao ane ana Mo AOT
ang 249 19 s1a b12 ral
" H H H H H ” M
niEA 25 354 35 354 a4
HEIN HEE paLw =
mu LI mm AQ0SS919d =
1nox ay
& z
= 1 . s [
hL I_I|D ZHA EEvEL .
o W78 {S'1LIIRS)
3t Th uh r.w. > {9'€1133HE)
i
13334/
DOIEYNI LAGNT/ (LL33HS) |_| ] N ocs [ E »
L k3
@ v ¥R
YrPEIHYL o3yt aawuwn 7R B Pl 291 A
— B aquna [ —
1
[ an Z1aLy
(BLIIHSE OIINDI WILSAS, vrz »az 3 @ (113318)
{8132HE)L SINGD WILSAS £ ovz Az m St WIND DOUE ONASY/
{2123HS)0 DIINOD WILSA zvg 282 n £t s 9
{a133u5) dETIVASHT 2043 2 vz [ AT
; .“Euu:mw HILIAS ¥000/05 o vaL w, N_" caoisa {1132Hs) éoumm
2'8'13345) Tl aoa:u._..\;\m v AL - b
(£133HS) A3d Tuwds/ H car O = DS 52 Po—)JEIEYNI OMisw/ 3D .
(2:33R8) A3 AT/ = LM — 1 aNs 133/ %Hw. TBYNI WYH/  (1233uS)
7 13/ X VNI DLu/ (1L33HE} H uw|‘i|IVV /e (€'1LFINS)
TIX0YeA s OI—memy MY {C'1L33ns} ? 29n
aus pE—55 au/ (1L3ZHS} zv o
—{2mar 3w [L2 W 9L vv:._.m”:ﬂ ‘ , w |52 3
¥EYZOHEL oI/ D¥I 314/ (1LI3HS,
d ]
5 i1 L% T — LDt Z1NC
sav S1IFACET ILvd YIMOL
(£433M5)A2% JONTTIS RUYT9/9> vve AT Lhon Soe [ I ¢ 5 D—g| e . )
Mn_.uwwa A3%_NM00/ 05 £vE taz L sz £av 10
£L33MS, AIA o/ v -
M..._.um:mw 234 taz.\m IM w,»w m WFEA _m m_._mww\ wmn am_ 23 (8133HSKxy «n«.. SU g oxy
LLIIHS) ¥ AN LIOSS Ladl FAL 208 oav (BLIIHSHIAL ZEZ-EHID——n] OHL
{£L33HS) €AY L40S/ gvh cal &L 9z ] o
(L33HE)T AT Eom\M zvl za [ o
{LL33HS) L ATN 1408/ ¥l AL w" 238
sh
. > aw/  (1LI3MS) .
HSYd EBME/BHY .
G008 WimGd/ & 318¥N3 AVES7 [COSTEE Ty 2008 /8S00F IEZAY P2 M (LLATHS)
Gmuz..vV|n:_ 1353 wo o > 319N wEvla/ (L133uS)
"
- . . ¥ (1330S}
= (B5H) nYH N3LSAS = = (851) AYH WILSAS = »
nvds @_x wec I_| (1L33HE) I_H MYHS 8 X WIf T (1533H8) &Iﬂﬂ 3uaa agson pE T SHAO¥IH HEYT
' ans an SELI¥M ASH WY/ . oho n iTam 951 nva/s 77 e ———— S U
o = i o ] B B g v 2 o
. 594 a3
Q3 [ 57] 2 = oz b b
oy "y £ wa o =
" .
"o " s £Ly v ov = £y 1 cia oy [BE
v E2E iy 21y |22 viy [ za oy L 294
uy Lo £y uv [ 2 R H ua wy [EL Ly
ot -0 oy e 2V . oy |EZ ZiY 1 68 LY
oy 43Lv v o_w m_“ gy [HE MY oLg mh_a cm“ ar 1LY
av ¢ o X2 o (it aa o [ oLy
La Ly (52 (XN a v [EE \L 0 o o L2 .
20 o 8 £0 sq oy [-£ £ O8] gq av - Y
i AT £ T e U A 50 6z] o4 ov 1€ A3
re oy R Y =4 va vy £ L] \Lcl 821 v oy 2 8Y
<0 & £ d <a oy [ s £ 2] 2a £Y Sy
26 zv ¥, R 70 v & ¥ [4 L za P Xl
1o W £y 24 \a w e £y z 1a Iy 5v
z1 0g oy ZY L o9 ay [ P4 L Ak, 90 ov L 43
W 0 ] oa o (] o s v 1]
zm i1 -
. {9"C" LA3HS)
S1e]a
Taela > [aval
{€°1133HS)

.~

T




£'e-t Od

a1npzEr 2AYI-
oaA¥z- T T T S i T
. ol el el o oo
Z L-E] kD 9o SF2 2
- T
: castm sanrd 29n o3 o34 LTS
aaln 294
PLOTIYI
b ZriLy .
AV1dSIQ_¥0105 h
¢ | 2Ly =
e AVUSID AvE-
v — T EIEITS staLy
of ] Az ALy
5z - agsgm 11w 206ZLEH 1 i et ne
or AT ¥iin ) g TR
bt AT 2] T
5z [—] ~a4a oA, ek asseny esaLy
- , 20482 1z8 aein JrES
4 H_ 254
= oy
i WYIvag: 234 = Pe£1035
1z By Ividy I
or LY1¥Gdd azy el
P 9¥1¥add AVTESIO AbZ- [ Muw #dd37 ==
o wa_ 221 ang
£ p——t . - 9%
o - = = HHA0OEGAY ay | 32 A198
i Divividd HO'0L T___| ]
. s v Ivasi - Z] 8 oas | —palavha ._.m.__Enzou A_._.um_\_um_ L2 ane .
BY 17 0d3 INGA  H1DS 2010 1d§  {(a'¥'1L33nS 12 A1 THR om
g T¥IvaSd T T R 2 . I a3ma do'gy—Ld5an NI 2 0 vilvQ Ids (8'vl133nS) " > f13343)
W — < ERETRS (r133K5) 5 LsIL 13338 | 13538/ (5T L3IHS)
. o H_ . sev oBsEnY o s LA3¥EQ/ (LLIIHS)
: ) 8 = SY/ {+133n3)
° 5Y170dd B [T it a7 1215/ {1133HS)
z Z¥LY0dd ar ..w.._uu o oZIS/ {L13318)
M \YLvadd . 234 9 X Anoeo 7y FaNT 13m 2 s/ (11331s)
H 0¥1vada SE] LMD UR/GY [Ty M7Y {'}133HS)
3 a0 L 378YN2 A¥I4SI0/ {IL3IHS)
b T [
aNITdS cto-eza = 294
H TATHSd4 AYTISIO ATZ- ) s18q
4 - . £ S
i = T I I I o Pl I i e Bt “
= 08 20y z180 £ .
ang izo T T T T TTT T TTTTTT IWWM 30z 301 ..m uga E
AVI4SIO #®A 925 . aiga 4
0Z-244 WML : I oA tn £ 7OTd9/L 1Y a2 540 g
A na 143/011%0d 280
5 |—] LEVULNGD AEREE ¥ vz [ 22 mm zaldn/ELvodd cgo L2
a A¥IdSIE 027 ¥ z4T vz o S mivads 380 alm_l/
ALE Zi-024 WWGZ v 7 e LAl F73 e (eavaed sag
i EEl = o L1 iy e [EE 22 feivaas veq £
i TVivedd ! — Ly L — Tve 22 {1avaes <ad X
b 9¥1%0d z Y1vadd 2 o4 iy 1vdad zaq 3
r Sv1vid £ Y ivods (224 wvz Rl L Livaa g |-& F
£ e ¥ [re e L 95 larvnas ogq [ L0 y
B ¥ivadi s v [ e i M a3 L] (#2L033H8)
u IRTET 3 S¥ails £AS ove (5L ZErivaas /I'ﬂIHJI.Vv 510K
Taradd . L= ¥ad [ vl 51 acua siav simoid
1 Lixadd 2 £AZ [ T 3 U vy i
. : L1454 zal Ty 88 RSN nay (% v
N L1iIHSdd o | 3NTidd : [13 3 [17 ¥
g FLPTEN] THYHIGE 13 R AL sz c Privdddd nay o i
H e aom 2on PE-IE 'ZZT - GLILY i v
3 )
: EIYEEE] =5 994 aon |7 say [EE Y
s T ase 24y T ¥
z 210001 cav £ ¥
0 Ziadaar gy
e . %1000t sav 1L Y
a1y ray | ¥
- tos 2400 cav
T
ar ot 234 13 aan Jupa zav (£ o
A A¥IdSIS 13 1¥{aga 3W0> tav 12 £
= ¥OINOD .
9zHO AT o0 3ues oY Feeov (z'1133H8)

= wn o s (ol

= o
LHN¥L O-LSEZILAT
ADZ ”
anal Ao

AHETHIYE
ZNOD

I

GNC

LL3LY zZ2 1Z3

noa HIA
aar O oiaLv | B : :

BLEFAES AdAZL+ A7+ LT Y T P

o




¥'e-€ Od

0 T T INVL
any ano ani-g 0%
L10¥egewW . g9 L8O 959 4not
H H H - M
20AZ+ 20AZL+ 234 394
HZOL .
ELIN (8-
52 |_| AEE
S539¥1I0A QIONIT0S ZO(SLI3HS)
5 o O
rsaLy . feaLy
INVE = e T .
AT
andL ASE¥ ¥S1lvE zov
[ 6y ecu
!
1 T S) HINMOJSNYHL LNINEND (g13IHS)
Z531Y £d LSaLy
w86y
FLIM:) LfY T 3UNIVYIAAIL LNIIANY
Nnul_l HOISIN4IHL 262 e %oZ
n_u ~~ FEFTIECE
z1y
0531y _ =
HEEP
098681917 ) o scy { FYNLYHIdRIL LNITARY
_nul_n HOLSIANIHL 257 * %02
NT3QY X
noxan o] .
A il . T - 3368 00E
= = 114
SPILY ==
IW ans nos | -~
£ awe
R 357104 OIONII0E HT0
d aavsas sH3 .
0133M8) T8YNI /vl B xnwsar  ena £ _LN3ND Jv e sed
ios THo 7_oN3L (NITARY amul_l wWzz
{'€'1L33HS) 52010 Tds((——~ TS a8 oo L |, W3l LNITANY T
{@'S'ILIIMSINT VIV Tds 1n00 zd £ LNdNI_JA0NS LHOHS 4 5 > 360U £80NS (43315
{§1133HSin0 vive Ids TH . ) e K L0dNL_3HOES_SNDY ey
3 o E TISNOIOAHINL ayaLy LeaLy -
— oo oz I9¥LI0A OV : 108
ooy
s 2% skl BT T T .
&N =N
294 = S0AZI+
. HE'o
e 4nrg 26y
{81338)  s38A 05E(S P m.ulﬁ ey
. — Ny 3804 9HOT {2133HS)
1386 05T+ G oty 266 ) o )
Sdi 9PILY LR S
T zee
2810 BZY BZY
2aALL+
o
0'S-CNIADKOFNT
(C133HS)  J3uA 00'S{L ot P £ —— 214N000KHIHL (8L33HS)
. - 20AZM+ =g
JP— S L JEOVII0A ¥ (BL23HS)
rdL 335 oS z +
T
wain s
FEIALY




m.m.mOn_

VOB — .
mHEWNNﬂ. =
[ ivd =
ST - a1 ¥ELve O
= =N = IPYLVE P93 2t
T I @en

S0 5 e TS g :
omu|_| mnol_l nwulml T T T

¥ ©
1 oY agq

208
3da z (t133ms)
7T T 5 5 5> ININUS AEYTY II¥4 IM0d/
508
avaaomse 01 Q¥S90PIMEL
T oY arzn
P
! Av990LINYL
3dA ot aezn
e | SD sax (Lu33s}
h... 620 T T > ZH 00%L
ovnim =
v§ (033Hs}
owx + MNIOA WEVIY HOTH L338)
. GL33Rs) Wy oTdl DOOHILYMS
~

T = o > dIl OOAHILYMS
2 avrogur: i o (23348)
(LL33HS) = . 2H 0057
5> N0 muvly 03N uuooumH Qv9SD¥IHFL HEddA & » € >
£90 |_| aczn oL avos0ToHFL
(L33HS) - T avesoramre acen
T VIO FRIVIY #07 (ZHO000/ZHDOSZ/ THODSL/ZHO0S) vezn
oo = 23
za0 lﬁ 2955n '
oHa 4L i
w3 3L
F——hd usu s1a
< 3 4] tno 204 [
T2
3 QYPO0HEL ot
. m.m:m anzn EZ -
7_..
NX_ LmOND EEL =
n 1=
— R Pladdh .

A0
n 4awu .. QYPOIHPL MY HINOd £5 (z433m3)
39:: u&wuvu:{ QvS50FTHYL 31 a3y
:_ qu: m.na vz - P O Mvd dmes
O]
&_., Ual” SHOZS/SAZOL AR
H (] Y E} T
N3 ooss ey 50
we« syl S0z OVOODKNL
‘ QvO0HsL vzzn i
E_.mu:mvnmmnmmmv aezn
ha
nmzmﬁvﬁmnuum :
oL 13
Gu Ivd wamod s T
Q¥rOQHYL ) : . A
3070 oldl Q¥ FODHKL 2
80zn
2 = = UL S
B 2955H1 093
un_mmu T HOLIRS Eam0d/ L-gNS  aMI000 680
no Sl ddA 169 T 2 e UL
EE__& s o s
xu:smuuzua [
v > 10 HOLIMS ¥IMOd NI KOLIMG HIMOd SAZGL7SADEE 1o A T
Smuac VI
[
v_u_ woun ot

A wmx




9'c-€ Od

eriszEm
FUY g ang ane
592 1.,_.\ 893 H 490 H 950 H
334 294 294 934
RAOHEL
TP =
IIvE AALSAS/HavY DODHY L Mm i
= 009K+
= @ o ozz Sl 5> 37 TIv4 NALSASAMVIY  (1L33HE) an [8
1 o [ mm 7 le
e [ L -F 0
cin 54 5 o[£ 294
[TETC 304 S
- @ =
FOOHPL 000MPL M“ i G
% AYIIY O {L133HS) o 2 $1G
S T g
RIFIHS) AV ALI4VS
(a3 ) V () £l 9 n—.“ 1 M Zlg
v za [ B 10
E) o e oL
ved 04 Z 0
Hve ED z B0
YOIHPL OOTHFL vz
5 Sy e QIONII0S 20 (1133HS)
(B133HS) QIONZT0S 2O
or 18 B - Xy 00aHdLvM/  (HATHS)
360 8850HPL
SPT =
“ 0
oA @ N - i m”
= ) pt *
s5aLy =,
= 53k @ - 0 "
- 1= by Q — o - Pz £0
L+ 1+ z0
ZL o 10 L
< EEI
Y 4nt Sl 00 =
-—= ¢
T w
p— £ Si0
(B'2'1LIIHS)  dINL DOCHOLYM/Y mv w1 0 o =5 51 ° ol M“ & P
TEFOAFL - T RGEIHFL L Tl
gLy g9ZN 24l vazn o= 5a
. e g
4 2 [T
WoO'L ¥ el
a5y = R 50
R

%, . |Hﬂuo|vv fstola  (gg'1Lazns)



L'e€ 04

0B0IETET

YT
3
{S133HS)  IINITIS MAYIY TI¥3 HIMOd/D) y - 1z annw 54 mEM_M EDW EW a mﬁw )
¥oLYE =
Ao
8L H "
Z133HS) AIM IONINUS WAYTYS N :
e >3 B ) T = (h
292LY +id 201y anio
nﬂ_.w [Tl H R
{ZLIMS)  A3IH Jvas/
¢ = 924
2o $93LY ano H W
)
{ZLIINS)  AZN LXIND)
5 = vy
5831y Mo
72 H A
(Z133K8) © ADH 14054 0
m, = 4
531 4010
-
(zi3zs) A3N dnS| )
' 5 = 2eu
€931V anrg ..I.m
+2) n
(ZLaE) Z A3 L4068/
s = 7]
zouv¥ a0
€L H B
(ZLIIMS)  ADA HMOO/ )
% = o4y
1a31¥ o
245 il
{ZL3S) € A Ld0S/, 1 I
= &5y
ogaLy o = nm.ﬂww
@o P ¥ai
(ZL3HS) A X0V + — @ " BEEFHLIATS
& = BsH T 1308 3 H 3d¥as
4631y EL HROT M A %3N
[Y5) s T 1308 11408
01 v H
{2033K8) v AN L40S/) - ..w ¥ 1i05 z !
L9y
EEETL
0L N0 NOL> MOL> NOLY NOL) NOLY ol ol

Bt S5d> youy fod) Ts 134> 09Uy 65y BSY

200 DDA



8'¢-€ Od

ToOreze™

{ZL32HS)

{Z1330s)

{ZL33H5)

{ZL33HS)

T 914NOD WILSAS))

! DIJNOT WILSAS)

0 OLJNOGD HILSAS))

O3TIVASNL QS

o

2£3ly

C O

2 OO MILSAS
Sdft

o

SL3LY

—0 ©

b DI4N0D WIALSAS
Fd

o

¥LILY

O O

0 914N WILSAS
£dr

9

Le3Lv

HoL
o8y

»aL
64H

AL
L)

O O

Q3TYLENI Zods
Zar

M3da -

N3do -

N33

QITIFLSNI 33NOF HLIM SNId

Y3ghne Y3gIes

yignar ¥30005

= Y3dNAr Y3ICS

ol o s o e mrol mool meol e .
.BuH mnu.H Suﬁ »83 €20 720 139 08 CLEBLEEVINS!
req
0L+ SOAZLE 204 204
$310H SNLAKNOM 204
‘OHv0A Mdd ¥YAN AITIVISNI oMY 3UTH¥34 3AvH O) 318¥0 NOGSIY :ILON
6LALY
Qs 32V INILNI
YOSHOD
gm-—nri 0% & A3A 05T (PL33HS)
— BF 4 3g0ud LHOHS  (rL33HS)
—oF or s¥ 3B0¥d SNOT  (#LIHS)
—] P v ITINCIOMATHL {ri3aus)
. o] T i UINUOISHYUL INIWUNT  (¥L33MS)
$——ro» OF & 3LVLI0A OF (¥1330S)
—{ BT iy 30v1il0A dAIOW310S 20 (vi33Hs)
(SLIIHS) ZTu34338 oL 5T w4338 {01335
(9'2' 1 33HS) dI¥L SCUHDLYM/ + o ANO HIATMS HAMQd {5L33H5) LealY SLALY
{t13315) TIBYNT XY ze i HE HOLIMS ¥3M0d {s133ns}
{v'123303) 1IN0 ¥iva Id$ 4 62 Q) ZLT-SY (213308}
(¥'e'1L33HS) NI wivQ IdS az i 0 76T-5Y (213308}
('1133HS) A2070 IdS 9t 5z + v
{1L33H5) 13534 3INQOA YOSNIS/ vz T
{1L33K8} ¥I01D IINCOM HOSNIS! 2z 2 HOYL NY4 (1133u5)
(1L33HS) LND ¥ivd 3INAQM HOSNIS oz sl Mid NYd (1L33H5)
(1133HS) NI ¥ivg 3INCOM YOSNIS 2 @ QION310S 20 (9133HS) o & ne'w
(ILF3HS) 13534 2005/ 9 S BILALAIANHS (1L33HS) coy oy
{IL3HS) Q%1 Z0dS " € AR ALASYS  (9LI3HS)
{1133HS) %y T0dS 2 u HILVIHS {£133H8)
3 & s p a2
(720 mu M H 13ty )
ocdiy
3 1
20n¥Z- . o 30APTH
0AZL+ soALY D0AZIH+
394 304

HILIMG OGO/

{ZL33HS)

HOYL NYJd HITIOHLNOD {1L33HS)




(
Je[joLjund &_

WNFAG aa“

jrp ——— - - --""-"-""-""""-""-"-"\-"-"-"-"-"-"-" """ """ """ =—"="—"—-"—"—-"——-
018 ZE 714 X
_ I Le aNnv e Tt R (= n " (feuonydo)
£l aNba aosues uorysod | | | waopyerd
Pl ——p—t T uoygelqmes | | I ¢ 21608 Pag-ul
i . ampow zosuag | | | ¢
L wogemBer | T 7] 2 (89 ! |
i1 hﬁ@ﬂ% o Josuas worsod | | |
i Tamol e 4 {emeIouw) poey | | |
“ _ @20 JHIA o 5 aynpow Josuag | | |
i 0a AZT- t sanea _ Fo-z—T—o-—mm o
(@) uoKyRIqIE m "PR[EIST !
“ ” L (pumoad & qmaary I | dosuas Ayprum @y | |
' | e Emw el “ | e R parEagies ||
O AT+ 81 paeoq 0'd oYL | !
i gwopEry 1 DAL,
| Ow ([PUOTI0aIPIO) Sunonipuosy 11 usBsxQ h | !
i VLONWS Eudig | o !
1 | (reondo) )
I ¥TOWS L - 1 190 g " _ 1010999p | |
tl UeBAX() i \ WSTESAOUL | |
% XOW 91 | | fouoperd ved "_
W " QNENYI L ] h
¥ Buruenpuod _ ! MM%M y 1
il [pudig sovnd J0j0m uey | T a 5 | “
| Q L ﬁ_
| “ | WAN TVD , _
0l (PUNoad ‘gy) : | JOSUIS | |
1 _ Ly Apremi |
11 Suraoypucd I098{[1950 ! u W |
1 STl TYIE Teudig Ayprorngy t “ J05UBE |
“ “ L | I Appromyy | |
I 1 " ! 2 ﬁ_
1l ®) Cen {EX) 5105UIS [y
Il T | ! amjeradmag | [,
Ll (2% uownmm | | g are pooRy }
Ll . — I..UHmMO -~ 5 amjersdua) | !
||t AR W [TNGNVA TSR ® egmy |11 g %00
b Sy (oo AEEmme— Suruonpuoed Z1 | preOq "D JIosueg |
62 L Hme_.m._m I L e e a i
H 00 Agt+ KO | DV ) saossar | Tt TTTTT :
P A ! e '
i\ 7% dETA 1YBaqIEd ! "
" " oav © | D09 puw _ W Homnﬂwon
_ JuS1 pue ooy pue I qs ‘moy || i .mmnm.
| I o | ) aareradu)
n JISALED WVH TTINVYE| £L09T0Id | i unE Aqeg
H oz Tajorpue) ()] | L (@ £
__ XNW ® ) | @ 1 sqoad
| E o o e SNPO A05U=8 (005 —AqWesse preoq ) d WIBK] | ] JA0BUE [ENpP
LT T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T et 0o aTpom a | axngeradus)
I0TRqNOTT (O0Z)—ONPOT JoSUSg | 1 Urs Aqeg




1'S-€ Od

ezareggur

Ny aNoa
anov
ONOY
auso anpa l_l ha:mn.n ==wm9
an oot
¥ 0oL
¥agans y @2 QTLELOL [
]
[EEX T NITPIC-NON vin
zzn 00 n 14 3
QNG PUB ONSY usemiaq &Y INdNYI N 4 =
uopssubes juied PBunie B 3juaiasdas ppy OISR (2 4 ¥WOLIILIn ¥ 40153130 ¥ oat
NOTLIS04 NOTLIS0d LLIPLE0ANA - 2
8/ CmI-/+ e1 simspsal B q00H NGLLVAEL YD 1a qHO¥ B
‘POIOMRUL IE[MISNIS aERmUA { $¥a - ansa
. )
*S3LON Rl aea o o
€ gy H
gy NONY A o
YHOdNS 2c1-588
ZNIYANS AHO¥ » zee ~
- [E[ARCET AIZ¥LL ~NaN 4 "™ 4
anga 6n sin
v 3 ool Ao TdL oTdL
szd g ¥0123130 osy v 85123130
aNSY NOLLISOd HOILISOd 2aa Qnog o
anna NOILYHAIIYD a00K
-
ELEILLOR SRITROR ¥ L
BOL-584 3 YT
930415 @ PR 2, +D i . L
SHOAS 4 SR A 0os NSV dNSY S|
PN WIA TNERYT & S9d 8TV 5|
vo0ens = Ay DLBTY
¥30ans NIA M NIAZE DLste
YHOJHS - uxA ¥ oo S
* YHOAAS s na [-E £Zd1 . 5+ od |_. DSI08L I
EECLER SIRE g HSTA0H AL
m ] e [ A o2 ISIAYL z) |
ILUIY EIVE M_ TIVEGIGLON "o dnainan g
anov anoa sin = r
DLUIY 4 ZZdl, E) 3
Ly e d10MoL  DTHM 824
NLYEY 4 TR ; = HOSNIS
RGNV 3 4 T A + NIanD 10501 AZHH
HONY 3 4 by B L
HONYd * stus 1 dI0NOL  WwZNY
NndNY 4 4 Thavd o S+ ;
N L ana LE Qiod : sLzA o
TINY
ENVELE] 850 s - anea
LNoas3 4 T 7 . - neesi ¢ E:E la] a
#1398 e M ILIINE g | EX Mg gl 1 ansa
U _b._ [ TSR r%% oy
2S1G6: ata sin “ AL ¥1¥023
257001 K Br1-s58 N A W05 37N00N
3SId0H " Y, 5+a
— 1 — 24y
Istav. 55T e oNg sotg~ann % |_| | e i —] 37VOS
. 652 ans a3y i o=
ZsH ang —— A oz 1sa Tda-1015508Z o
ono —2—f oo Ty N1
VYIVaoS —
¥ivaos i 4n0A HIA o 082 " 1 cauns
Aaws % AO¥E0IELOH » G20 mwxzw T r>+>.\(+( m_ 1 wiows
S+ tZn 86+ NIgn NIONS
YLYQHS IVORE 9zaL it NIAZI®
eo NIAZI+ AT —
MLyl ana KIAZI+
Ead ¥ £ L vivans
o . VLvaAs T ATy i R Y
43h FERT R z ) NIAELF [ RIAZI= Z [ MNATT T e
s+a Y S-BSAAIZALLT ERETH AT T
LA oin LaR-L0ISS0E2 = HIATIOYLINDD
(T3] FHE —_
sty ] £2d1 —] WILSAS
v
[EIEETTEL SYOLOINNOD GNY NOTLIYIND23IY d3ImOd
¥ 90d NIVW




¢'5€ Od

MOA THE ~/F W0 BAGLRSRS pb pAIOIPU BSmMsayie TERU (|

it
‘S3LON
YZIZZLGAN
s 0
anad
W 0ot s
ord
sy
¥ oot REETTE]
L) angv
LYY
Vivaos
dTa¥oL == 8z
any
anay
1935 3wty
" 3 ] o
() T H0dss N3y RN T
000H
e dIosot una |_| £ -
M |_| WLHTY < :
{3dvas)
g n oo \ | 133 hOWd
5
dIaseL o IEE
YIZZLLANK +a3uA o
so W 5 gy
3
‘ v FNIVRRSH
vLvaNS< > THiA mnw S ohoa Aﬁ‘
<
Nzg cHa
FIvons TNONGD o v {3avas)
AELANH ELETGT 4o HIQAY. 51, m_nwm N_nw T +y
SN - 210958 8L sy oy [ -
S3URS NIY 5 0 i WOOL
Wk s+a 2 e
TGS anwa g CL FDdss 8 —
gnoa (LR . ansa Ziaen “y2en
IS un 335N
anana 75 R 3 DTIEN o
oo
HONY 3L ’
oRw 2 owe @2 » oo TR0 ooLsso
W TISTHL by T3SINL o e
= v 3 — Ty
¥, L
00ams acn &a F A s+a
5a v T (F FS) NaBAR0
ot X * o1 BidL =
— : {02L;IPCS LS, quad [T
BHOdME] FrTT s anoa gey
L S T
MO YHONS 1_\ DEIGYL 81 “wm wwn [ @io¥ SRIVRSN
31T s FERET < 8 L anoa Sy
AT 9 ] ¥y ddALHION ahsY
25— — 5z HIQNOS o8 B oHge
ZE o [S5% 31385 o
v . LTI
inoas3| Thoa53 i E NET aHANY 4 1] 2o S-TETZI5G Ooinoas .
s> e 973540 I5100H T SFa oln IWoas3
osioal 507 |— T 8u 2080 | T 2Ty
LEL__ BHOJWS | PR YT ¢ N
=1 SETG0H Wows 5| Nrww ZL ¥I0dHS Mmm 380 g o] aHoe D191Y UHW
381001 avz |tk SIS SSTGHL 5z bon RLETY thvr)
st i THoens . e “M e v WOHYS g E FEG 24RoH
a1 284 YY" 3sTNL
z NIG30¥ 1350 <z RECTTY 35 2t TaszAL
I T [t vy 2 == el TENL
v WIGHoT £ e 03540 52 ] oon v TISIAL i
< VIvG58 Y1vans 12 EREET) Z138n.
angy Ef R oy 1135A 1I35H A1asn
s AESZHELIN ansa [ ov O3SH CUELRT] N.__ww.._
ahov| anoa n J7-70-CLoB0Id Uty
STORE an o rT t S
994 EED ] 2 Q' Y e

anso . v o 14 A
zry L |_H ovd 3 0oL EE] Ead {€ WS} dv/an3

S+ oy Sfa
43A| aFv W oo [
s - b , B "o oz aav / d3TICHLNGON
54 £¥a

an4 NTYIN



£'6€ Od

GTOIETTH QILVOIGNT ISIMUIHLO SSITWN M &M %1 —/+ SHOLSISIY W (O
e T3sZNL
NILNNH S
Tasinl RESTTE . oY ANV
f— Ao (9K) 3ylv
ZTEEN . aL4Iv
. -y T
11ash ECH K_I iw! l_t HHEY
01388 Qv o= = = WinTY
o e b & e e 7 LIS Mo¥s
2 3G nom PR TR Y R P L = =
n o FAECTIE 3 P . 129
LS pewind [NECTI T - |
[ o 1 THLID anov
&x FITT
< \ﬂ_ H 7] 1 ) uwwuﬂ
HOOL + | P_ .m.m n DLINNS
9 QHov ) STLID,
T L3 Ol Fdl 1 oILWD
ot wrezeo [ e N wo -+ o ~/+ o
an TN 3 oo u e "3
i re dW3dl
£z u o5 n g FATH]
<1 03 011D
anaw THLTYS
4n 10 (9%}
§ 1M0aS3
A wev s+ anay o
ud |_||
15— 5 = _| '
LN0gs3 11 A oo | [AMASTS
l; < anod us e sza S A * 23904d
e - s — = HELNAS AT
i "» EEETTRY [ e [Z T T ws . TN AT T dN3L
Z133n E a [} zr J0FE-R ZHV._m
-] N FELLY [RF 1 [+ ¥ x Wl o
CAF T o L (TR
Qo] wiod ox |2 LS, g
. ._u 7" 4 m_ :m.wzwm H&c
V
— n 2 e : 138044
FEC x L5 JHILANH LIS EN g v
H atn o |2 QL T¥D LIRS LA damn3i
) . moa (3 o THLTYD TLNHS 7 [T
— A o —s- [EISrET] E NIMS
Sev] * goe on w1t )
&+d Ty
2| ES an v
e LINIWIAINSYIW UNLYYIIWGL
1 LIIMS HOMS
I+
£Fa

HO0d NIVW




¥'6-€ O

ST0ETEU
anov
A ool
sgu
Wz WO M /4 BT HI0WESS [0 BOIDIPU FIMIMGO SEIN [t il
J1I0N ¥ ool
o
RvdsS
SY570 h«
anov awav
14l
anon
- " oo : SHOSNIS
. - 1y £
L [RE] anoY v NIDAXO
[ == 1 Iz angy -
. [RET TR 5] w we = T Jsio
— . — T
GREE] 0ozLzz0nL v o
vzin a13sH 3 ax | Zid1
o (2
srsxe< T T = o2 w2
£
ghioy 7 } o L2 Toow
T L33HS 0L waL s 51520
® aaA ox P OISIO
awog o o GNDXO guov
an o EmnﬂDO*—US bl .
sea £ iy M i
an o
st &0 .
A Lgg 3 8L %
. Ly 3 F4 ] Gy .
i||_TvJ - oz
4 oo XS b
0z
61dL wo -+
. [
Y
TIXC
o -+
A 7T
o
s~y : -
anog ' ' =T
5]
Qe Qo
anoy ”H_lL
L
AAVA| H
] 3
gty
3348 ININIANSYIN NIDAXO -

E0d NIVA



9-€ Od

twjans
- () ta)ans
Lot .
S60JeTEN tu
£=n
¢ =3 an an
EE = 3 M & AN ant n it
T ond W whas it &
Ah-
{wlace
AL
BOZ "MILIMSAI0L
{¥jons ET5L50 TASd
001 “HIATMERI0H
" VI s g— buy 13 aoy b
o y oFags tdlnse 2x5d ¢ e
trlas~ awn
w0 (eyams
f -
1aBEtLLIN A e .
x ™ oot
—F—Fn
r
i
oz 4 i T TR
- —iF] snd
asorucm £ IR
[ajann -
RN . nmazu n.mnzu RWEG
a0 + "
INEN L3
CHOLIATAT
0 (xjany :.mnn DLIRSA
n%nzu . (viaug
i TR R ET IS T- AR AT
125
tdiace an an . a2
{alage oo BZy == g9 == T m
x m sie
- (52 Ol BEL L] o e
(G ——y L I A
- Qz0IY T
WOoyd33 COIKE TV- S+ AElmE K04 § SRV
£ Wk
¥5y
o .Mlaxu
7
IR
fasoy AjqusEay sag pUBITL W ¥GH SO Y AmO IO
{w)as- tyjans
[v)as~ {¥)ans w
A *
it niem
1 Alle oy Nn 8§
m ane |m| L Haoey,
@ner anOYESBIBIT Ha == 2 LR LNENE] £
ooy oo Al - o2 z1
1o .
{ajans 24 W PR IR J|_| dm
a2 LELET
*
T me- S T ]
— h_.-—m— " FLENL
1 o o tuz
. N {djans = z_o_.zn“ %
uoapy abua
a
. L ok §+ won pebuoys miew
T
g

{Qyams

WL




€ 0d

S1ugEEw
M 0e JV
SSA
@ s4 B Ty
L e G e aNo
AN : S .
8559 w; z | 9 @ ] o .
w WD | ooA
o a0 x_u FTioreey
¥8080z101d o028 D0OAS+ en
DAAGH zn £
% ee 10
4
£S6
2d O0AG+
vla
380Hd LHOHS
g N
ped Japiog :
(NyD}  ¥avd
anNe
] = ao =
b 390Hd BNOT dn 1o e |2 4oy 002
ped Jopjog [te) £ Lo i
(@3w) eqvd ane 2
L010A NIA =
t g FT0Hd DNOT
QOVE0T18Z0W
L aans+ i
DEd J8pI0s
6rnal  zavd )
] L 3904d LHOHS
Ded 48p|og
(M) 1avd

SUORDBULOD

lHIa1e Ao

anNgD
Savdd

via
via
+0vdd

A1
ppe]
£avdd

ddA

ddh
2avdd

AS+

00As+ 13Ydd

sped
Buiwweiboig
HNQAD-UY



